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gg 1.0 GENERAL PROGRAM [NFORMATION
98
99 1.1 PROGRAM PURPOSE
I
102 “‘COKDA’* IS A DIAGNOSTIC PROGRAM DESIGNED TO DETECT, REPORT,
103 AND IDENTIFY LOGIC FAULTS IN THE KD11-K CENTRAL PROCESSING UNIT
104 OF THE PDP11/6X SYSTEM., IT CONSISTS OF 504(10) INDIVIDUAL TESTS
105 CAREFULLY DESIGNED AND SEQUENCED TO DETECT AND ATTEMPT TO
106 JIDENTIFY LOGIC FAULTS AT A MINIMUM HARDWARE/SOF TWARE LEVEL.
107 THESE TESTS ARE PARTITIONED INTO FOUR MAJOR SECTIONS AS
}88 DESCRIBED BELOW:
110 A. BASIC CPU TESTS (BCPT)

| 112
13 THIS IS THE BASIC CPU TEST TO VERIFY THE 'HARDCORE''. ANY FAULT
114 DETECTED IN THIS SECTION CAUSES THE PROGRAM TO HALT WITH THE
};2 PC+2 OF THE HALT INSTRUCTION DISPLAYED ON THE CONSOLE.
:}g B. BASIC INSTRUCTION TESTS (BIT)
119
120 THIS SECTION CONSISTS OF A LOGICALLY SEQUENCED SET OF BASIC
121 INSTRUCTION TESTS DESIGNED TO VERIFY THE INTEGRITY OF THOSE
122 INSTRUCTIONS AND LOGIC OPERATIONS USED BY THE UTILITY ROUTINES
123 THAT PROVIDE ERROR LOGGING AND SCOPE LOOPING FACILITIES FOR THE
124 SUBSEQUENT TWO MAJOR SECTIONS. NO UTILITY IS CALLED UNTIL ITS
125 INSTRUCTION COMPLEMENT HAS BEEN VERIFIED. THIS SCHEME ACCOMP-
126 LISHES TWO IMPORTANT MAINTENANCE OBJECTIVES: 1)IT MINIMIZES
127 THE POSSIBILITY OF THE ERROR REPORTING ROUTINES CONVEYING
128 AMBIGUOUS ERROR INFORMATION TO THE USER, AND 2)IT MAXIMIZES
129 THE POSSIBILITY THAT THE ERROR WILL BE DETECTED BY A ROUTINE
130 DESIGNED TO IDENTIFY FAILING OPERATIONS RATHER THAN HAVE THE
131 ERROR MANIFEST ITSELF IN A MORE CUMPLEX UTILITY ROUTINE
}%g THAT IS NOT STRUCTURED TO DIAGNOSE FAULTS.
134 ANY FAULT DETECTED IN THIS SECTION CAUSES THE PROGRAM TO
135 HALT WITH THE CONSOLE ADDRESS IND!CATING THE PC+2 OF THE HALT
136 INSTRUCTION IN THE FAILIMG TEST. ADDITIONAL FAULT IDENTIFICATION
137 INFORMATION IS AVAILABLE IN THE PROCESSOR'S GENERAL REGISTERS,
138 PSW, STACK, AND PROGRAM ANNOTATION FOR THE FAILING TEST. A LOCK
139 ON HARD ERROR FEATURE IS EMPLOYED TO PREVENT THE PROGRAM FROM
140 CONTINUING ON ONCE A SOLID ERROR IS DETECTED. DEPRESSING CONTINUE
141 AFTER THE ERROR HALT CAUSES A RETRY OF THE FAILING TEST.

C. COMPREHENSIVE INSTRUCTION TESTS (CIT)

THIS SECTION, COMPRISED OF THE BULK OF THE TESTS, CONSISTS

OF A LOGICALLY SEQUENCED AND PARTITIONED SET OF INSTRUCTION
TESTS DESIGNED TO TEST AND VERIFY ALL THE BASIC INSTRUCTIONS
OF THE KD11-K PROCESSOR. THIS EXCLUDES TESTING THOSE LOGIC
FUNCTIONS THAT SUPPORT THE CONSOLE FUNCTIONS (LOAD ADDRESS,
DEPOSIT, ETC.). EACH TEST IN THIS SECTION CALLS A "'SCOPE LOOP''
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UTILITY THAT FACILITATES USER CONTROL OF TEST SELECTION AND
EXECJUTION VIA THE CONSOLE SWITCH REGISTER.

UPON DETECTION OF A LOGIC FAULT, EACH TEST IN THIS SECTION
CALLS AN "ERROR SERVICE'' ROUTINE THAT LOGS THE ERROR AND REP-
ORTS IT AS HARD COPY ON THE CONSOLE TERMINAL DEVICE. THE ERROR
SERVICE ROUTINE ALSO FACILITATES USER CONTROL OF THE PROGRAM
SEQUENCE VIA CONSOLE SWITCH REGISTER OPTIONS. AFTER REPORTING
THE ERROR THE PROGRAM CONTINUES ON IN ITS NORMAL SEQUENCE UN-
%Eﬁcm;}g BY THE USER ACTIVATING THE "LOCK ON HARD ERROR'’

D. COMBINED INSTRUCTION EXERCISER (IEX)

THIS SECTION CONSISTS OF A MORE COMPLEX SET OF INSTRUCTION
TESTS DESIGNED TO TEST THE INSTRUCTIONS WHEN USED IN VARIOUS
COMBINATIONS MANIPULATING VARIABLE DATA PATTERNS. IT ALSO
TESTS THE MED AND ERROR LOGGING FEATURES OF THE CPU. LIKE THE
PREVIOUS SECTION, IT CALLS THE 'ERROR SERVICE'' AND '‘SCOPE LOOP''
UHI(_,!‘TIES TO PFPORT ERRORS AND ALLOW USER CONTROL OF TEST EXEC-
u .

SYSTEM REQUIREMENTS

A. HARDWARE REQUIREMENTS

1. PDP11/6X (PU WITH OPERATOR'S CONSOLE

2. 16K OF CORE STORAGE - MF11/U OP EQUIVALENT

3. DL11-w ASYNCHRONOUS LINE INTERFACE WITH LINE CLOCK
B. SOFTWARE REQUIREMENTS

1. PDP11 ABSOLUTE LOADER PROGRAM FOR PAPER TAPE SYSTEMS

2. XXDP MONITOR FOR DECTAPE ,MAGTAPE ,CASSETTE, OR DISK SYSTEMS.

RELATED DOCUMENTS AND STANDARDS

"'CQKDA"’' USES THE STANDARD APT SOF TWARE INTERFACES FOUND IN
THE MACY11 SYSMAC PACKAGES.

DIAGNOSTIC HIERARCHY REQUIREMENTS

"'COKDA’* WILL NORMALLY BE THE FIRST DIAGNOSTIC TO BE RUN AS
PART Of PDP 11/6X (PU CHECKOUT.

FAILURE ASSUMPTIONS

‘'COKDA’" ASSUMES THAT THE STORAGE MEDIUM USED TG STORE THE
PROGRAM IS INTACT AND THAT IT CAN BE LOADED INTO CORE.

OPERATING INSTRUCTIONS

SEQ (004
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2.1

2.2

2.3

LOADING AND STARTING PROCEDURES

A. LOADING PROCEDURES

1) STANDARD PDP11 ABSOLUTE LOADER PROCEDURES FOR PAPER TAPE.

2) STANDARD XXDP MONITOR LOADING PROCEDURES.
3) STANDARD APT OR A(T LOADING
B. MANUAL STARTING PROCEDURES
}; %g?DD?gglgc $ssogé£gooooooo (NO SWITCH OPTIONS)

3) DEPRESS LOAD ADDRESS
&) PRESS CNTRL AND START BUTTONS SIMULTANEOUSLY

SPECIAL ENVIRONMENTS

16K PDP11/6X SERIES SYSTEMS

FOR 16K SYSTEMS USING THE 'XXDP'' PACKAGE YOU WILL BE UNABLE
TO USE T+E "UPDATE'' PROGRAMS TO LOAD,SAVE, UPDATE ETC.
SINCE THE SIZE OF ''CQKDA'’ WILL NOT PERMIT SIMULTANEOUS
RESIDENCY OF THE UPDATE PROGRAMS. SUFFICIENT FREE CORE IS
AVAILABLE FOR THE ''XXDP'' MONITOR SO THAT '‘CQKDA'‘ CAN BE
LOADED BY THE MONITOR.

PROGRAM OPT JONS

A. SWITCH REGISTER OPTIONS

THE FOLLOWING CONSOLE SWITCH REGISTER OQPTIONS ARE ACT]VE
UPON ENTERING THE COMPREHENSIVE INSTRUCTION TESTS (CIT)
SECTION: (SWITCH OPTION IS ACTIVE WHEN SW IS SET TO A ‘19

Sw15 HALT ON ERROR. IF ERROR PRINTING IS ENABLED THE HALT
OCCURS AFTER THE PRINTOUT. DEPRESSING ''CONTINUE'® CAUSES
THE PROGRAM TO PROCEED ON IN NORMAL SEQUENCE FROM THE
PGINT OF ERROR.

SW14 CONTINUOUSLY LOOP ON THE CURRENT TEST

Sw13 INH]BIT NORMAL ERROR PRINTOUTS - THIS DOES NCT INCLUDE
POWER FAIL, BUS ERROR, OR RSVD INSTR TRAPS.

Swig INHIBIT ALL PRINTOUTS NOT COVERED UNDER SW13, THIS
INCLUDES 1.D., BUS ERROR, AND RSVD INSTR TRAPS.
NCTE THAT IT IS NOT POSSIBLE TO INHIBIT END PASS OR
POWER FAIL PRINTOUTS.

SEQ 0005
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5.0

3.7

S/B DST
XXXXXX

SW11 INHIBIT SUB-TEST ITERATIONS. TEST ITERATIONS ARE
AUTOMATICALLY INHIBITED ON THE FIRST PASS.

Sw10 SEARCH FOR AND CONTINUOUSLY LOOP ON THE TEST NUMBER
SELECTED BY THE CONTENTS OF SW<08:00>. ONLY USE THIS
OPTION FOR TESTS TST176 THRU TST767 SINCE THE ''SCOPE''
UTILITY IS NOT ACTIVE UNTIL TEST TST176. LOOPING ON
TST176 WILL CAUSE A LOOP ON THE ENTIRE 'BIT'' SECTION
(TESTS 0-176).

Sw09 LOCK ON HARD ERROR

oW<8:0> USED TO SELECT A PARTICULAR TEST FOR_LOOPING IF SW10-1.
TEST NUMBER MUST BE BETWEEN 176 AND 767.

B. MEMORY LOCATIONS

4. BPTLOC: THERE IS A LOCATION TAGGED 'BPTLOC'® THAT PROVIDFS THE
USER THE MECHANISM FOR SETTING SIXTEEN 'BREAKPOINT
HALTS'" THROUGHOUT THE PROGRAM. THIS ENABLES RAPIDLY
"HOMING IN'' ON THE FAILING TEST IN THOSE CASES WHERE
THE FAULT CAUSES A RUNAWAY OR HUNG PROGRAM. REFER TO
PARA. 4.2 FOR A DETAILED DESCRIPTION OF THE USE OF
THIS FEATURE.

EXECUTION TIMES

ONE COMPLETE ERROR FREE PASS OF ''CQKDA'' WITH NQ TEST ITERATIONS
SHOULD TAKE LESS THAN 7 SECONDS. A SUCCESSFUL PASS WILL BE IN-
DICATED BY THE FOLLOWING PRINTOUT ON THE CONSOLE DEVICE:

END PASS # 000001 ERROR COUNT = 000000
THIS ERROR COUNT IS NOT CLEARED AT THE BEGINNING OF A NEW PASS.
WITH ITERATIONS ENABLED A COMPLETE ERROR FREE PASS SHOULD TAKE
LESS THAN 2.5 MINUTES.

ERROR INFORMATION

ERROR REPORTING PROCEDURES

A. ERROR MESSAGE FORMATS

THERE ARE SEVERAL DIFFERENT ERROR FORMATS. EA(CH ]S DESCRIBED BELOW.

1.) ERROR 1 IS QOF THE FORM

WAS DST DEST {IR) TEST (PC) (SP) (PSW)
XXXXXXK XXXXXX XXXXY XN XXXXXR XXX XXX XXX

WHERE :

SEQ 0006
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S/B DST
XXXXXX

S/B DST FOR SINGLE AND DOUBLE OPERAND INSTRUCTIONS THIS
COLUMN CONTAINS WHAT THE FESULT (DEST. OPERAND)
SHOULD HAVE BEEN (S/B).

WAS DS7 FOR SINGLE AND DOUBLE OPERAND INSTRUCTIONS THIS
COLUMN CONTAINS WHAT THE RESULT (DEST. OPERAND)
ACTUALLY WAS AFTER THE TEST.

DEST FOR SINGLE AND DOUBLE OPERAND INSTRUCTIONS THIS
COLUMN CONTAINS THE DESTINATION ADDRESS.

(IR) THIS IS A COPY OF THE TEST INSTRUCTION.
THIS WILL BE THE FIRST WORD IN THE CASE OF TWO
OR THREE WORD INSTRUCTIONS.

TEST INDICATES THE TEST NO. (IN OCTAL) THAT FAILED

(PO INDICATES THE CONTENTS OF THE PROGRAM COUNTER AT THE
TIME OF THE ERROR CALL. THIS IS AN ADDRESS NORMALLY
USED TO LOCATE THE ERROR CALL STATEMENT N
THE FAILING TEST.

(SP) INDICATES THE CONTENTS OF THE STACK POINTER (R6) AT
THE TIME OF THE ERROR. NOTE THAT THE ERROR CALL
WILL PUSH THE STACK TWICE. IN SP TESTS WHERE THE
SP MUST BE RESTORED PRIOR TO CALLING THE ERROR ROUTINE,
THEN THE ORIGINAL (UNRESTORED) SP IS TYPED, WITHOUT
ADDITIONAL PUSHES FROM THE ERROR CALL.

(PSW) INDJCATES THE CONTENTS OF THE PROCESSOR STATUS WORD
AT THE TIME OF THE ERROR CALL

XXXXXX 1S AN OCTAL NUMBER.

2.) ERROR 2 AND ERROR 4 ARE THE SAME AS FOR ERROR 1 ABOVE
EXCEPT THAT IN THIS CASE THE DCSTINATION IS A GENERAL
REGISTER (WHICH DOES NOT HAVE A UNIBUS ADDRESS). THE OCTAL
NUMBER TYPED OUT IN THE 'DEST'' COLUMN SHOULD BE IGNORED.
THE TYPOUT WOULD LOOK AS FOLLOWS:

WAS DST ?ES;} (IR) TEST (PC) (SP) (PSW)
XXXXXX XXX XXX XXX XK XX XXXXXX

3.) ERROR 5, ERROR 6, AND ERROR 7 ARE IDENTICAL TO ERROR 1
EXCEPT THAT ONLY THE LAST 5,6, OR 7 COLUMNS (RESPECTIVELY)
ARE PRINTED.

4.) ERROR 3 IS USED IN CASES WHERE THE STACK POINTER IS
SPECIFICALLY IN ERROR. THE COLUMNS HAVE THE SAME MEANING AS
DESCRIBED FOR ERROR 1 EXCEPT:

S/B SP 1S WHAT THE STACK POINTER SHOULD HAVE BEEN (S/B)

WAS SP 1. WHAT THE STACK POINTER ACTUALLY WAS

SEQ 0007




(OKDACO, KD11-K BLT MACY11 30A(1052)

CQKDAC.P11
376

377
378

431

07-NOV=-78 14:09

I
15-NOV-78 15:26 PAGE 9
DOCUMENT LISTING

5.) OTHER EPRORS TYPE OUT THEIR SPECIFIC FRROR MESSAGE, FOLLOWED
BY SELF EXPLANATORY DATA HEADERS, DEPENDING ON THE ERROR.
AN EXAMPLE FOLLOWS:

BADCDATA READ BY A MED

XXXXXX

MEDCODE EXPECTD RECEIVD
JOOXXX  XXXXXX  XXXXXX

6.) WHEN THE SCOPE ROUTINE BECOMES ACTIVE, IT CHECKS THAT
THE TEST NUMBER (IN RO) IS EXACTLY ONE GREATER THAN THE
TEST NUMBER ON THE PREVIOUS SCOPE CALL. IF A MACHINE
ERROR CAUSES TESTS TO BE SKIPPED, OR THE PROGRAM TO JUMP
BACKWARDS, ERROR 11 WILL REPORT THIS AS FOLLOWS:

TESTS SKIPPED

P(
YUX XXX

EXPCTD ACTUAL (TEST #'S)
JOOXXX  XXAXXX

EXPCTD  THIS IS THE TEST NUMBER THE SCOPE WAS EXPECTING TO BE
CALLED FROM,

ACTUAL THIS IS THE TEST NUMBER THAT IT FOUND IN RO
7.) RESERVED INSTRUCTION TRAP ERROR MESSAGE

ANY RESERVED INSTRUCTION TRAP DETECTED AFTER THE
BASIC TESTS RESULTS IN THE FOLLOWING PRINTOUT:

TRAPPED TO 10 PC = XXXXXX

WHERE:  XXXXXX 1S THE VALUE OF THE PROGRAM (OUNTER
PUSHED ON THE STACKk WHEN THE TRAP WAS SPRUNG.

AFTER REPORTING THE ERROR, THE PROGRAM IS RESTARTED
FROM THE BEGINNING.

IF A RSVD INSTRUCTION TRAP OCCURS WHILE IN THE PROCESS
OF TRYING TO SERVICE A PREVIOUS RSVD INSTRUCTION TRAP
OR A BUS ERROR TRAP THE PROGRAM HALTS. A DESCRIPTION
OF THIS HALT IS CONTAINED IN PARA. 3.2.3 BELOW.

IF A RSVD INSTRUCTION TRAP OCCURS PRIOR TO COMPLETION
OF THE BASIC INSTRUCTION TEST SECTION THE PROGRAM WILL
HALT VIA A TRAPCATCHER IN THE VECTOR. A DESCRIPTION OF
THIS HALT IS DESCRIBED IN PARA. 3.2.2 BELOW.

4. BUS ERRGR TRAP ERROR MESSAGE

ANY UNEXPECTED BUS ERROR TRAPS (BUS TIMEQUT, ODD
ADDRESS ERROR, ILLEGAL INSTRUCTION, OR STACK OVERFLOW)
RESULTS IN THE FOLLOWING PRINTOUT:

TRAPPED TO &4 PC - XXXXXX

SEQ 0008
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WHERE: XXXXXX IS THE VALUE OF THE P( PUSHED ONTO
THE STACK WHEN THE TRAP WAS SPRUNG.

AFTER REPORTING THE ERROR THE PROGRAM IS RESTARTED
FROM THt BEGINNING.

IF A BUS ERROR TRAP OCCURS WHILE A PREVIOUS BUS ERROR
OR RSVD INSTRUCTION IS STILL PENDING THE PROGRAM WILL
HALT. A DESCRIPTION OF THE HALT INTERPRETATION IS GIVEN
IN PARA. 3.2.3 BELOW.

IFf A BUS ERROR OCCURS PRIOR TO THE COMPLETION OF THE

BASIC INSTRUCTION TESTS, THE PROGRAM WILL HALT VIA A

TRAPCATCHER IN THE VECTOR. A DESCRIPTION OF THIS HALT
1S INCLUDED IN PARA. 3.2.2 BELOwW.

5. POWER FA]JL

IF A POWER FAIL CONDITION IS DETECTED, THE FOLLOWING
MESSAGE IS PRINTED:

POWER

AFTER PRINTING AN ATTEMPT S MADE TO RESTART THE PROGRAM AT
THE BEGINNING.

ERROR HALTS

1. BASIC INSTRUCTION TESTS (BIT)

ANY ERROR DETECTED IN THE BASIC TESTS CAUSES THE
PROGRAM TO HALT WITH THE PC+2 OF THE LOCATION CONTAINING
THE HALT INSTRUCTION DISPLAYED.

EXAMINING THE CONTENTS OF THE CPU'S GENERAL REGISTERS,
THE PSW, AND THE STACK WILL PROVIDE ADDITIONAL FAULT
IDENTIFICATION IMFORMATION.

DEPRESSING ''CONTINUE'" AFTER THE HALT WILL CAUSE AN
AUTOMATIC RETRY OF THE FAILING TEST. IF THE ERROR IS
SOLID THE PROGRAM WILL LOCK ON THIS TEST, BUT [IF IT

IS INTERMITTENT THE PROGRAM WILL CONTINUE ON IN NORMAL
SEQUENCE ONCE THE TEST IS SUCCESSFULLY EXECUTED.

TO ESTABLISH A TIGHT SCOPE LOOP ON THE FAILING TEST,
REPLACE THE "HALT'® WITYH A 400(8). AND DEPRESS ''CONTINUE''
THE “%600"" IS A "BR .+2"' WHICH FUNCTIONS AS A NOP. THIS

IS NECESSARY TO PRESERVE THE INTEGRITY OF THE CONDITION
(ODE OPERATE INSTRUCTION THAT IS USED AS A SCOPE SYNC. THIS
BUILT IN SYNC FEATURE IS DESCRIBED IN PARA. 5.0.

#. TRAPCATCHER HALTS

SEQ 0009
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488
487 THE VECTOR AREA (LOC 000 - 776) IS PROGRAM LOADED WITH
23? A STANDARD TRAPCATCHER AS SHOWN BELOW:
692 V /vl
232 v+2/ HALT
695 AFTER TwE BASIC INSTRUCTION TESTS THE FOLLOWING VECTORS
28? ARE StT UP TO POINT TO APPROPRIATE SERVICE ROUTINES:
498 4/6 BUS ERROR SERVICE
499 10/1¢  RSVD INSTRUCTION TRAP SERVICE
500 20722  SCOPE LOOP SERVICE
501 24726  POWER FAIL SERVICE
502 30/32 ERROR SERVICE
282 34/36  PRINT SERVICE
505 AT THE APPROPRIATE POINTS IN THE COMPREHENSIVE INSTR-
506 UCTION TESTS THE LINE CLOCK VECTOR (100/102) AND THE DL11
597 VECTORS (60/62 - 64/66) ARE SET UP TO CHECK INTERRUPTS
508 FROM THESE DEVICES. ALL OTHER VECTORS REMAIN SET UP TO
g?g "'CATCH'® UNEXPECTED TRAPS OR INTERRUPTS BY HALTING.

WHEN AN UNEXPECTED TRAP OR INTERRUPT NOT SUPPORTED BY
AN APPROPRIATE SERVICE ROUTINE OCCURS THE CPU HALTS.

WITH THE PC+4 OF THE VECTOR DISPLAYED IN THE CONSOLE.
THIS IS USED TO IDENTIFY THE CAUSE OF THE UNEXPECTED

TRAP OR INTERRUPT.

THE LAST ENTRY PUSHED ON THE STACK CAN BE EXAMINED
TO DETERMINE WHERE THE PROGRAM WAS WHEN THE TRAP OR
INTERRUPT WAS SPRUNG. REMEMBER THAT THE 'OLD PC'' GETS

VHAVIIINIUTAL
B el I = Y Y )
D00 NN SN =

ggg SAVED ON THE STACK WHEN A TRAP OR INTERRUPT OCCURS.
522 3. CATASTROPHIC ERROR HALTS

25, N T

525 THERE ARE TWO HALTS, ONE IN THE BUS ERROR SERVICE ROU-
526 TINE AND THE OTHER IN THE RSVD INSTRUCTION TRAP SERVICE
527 ROUTINE THAT HALT THE PROGRAM IF ONE OF THESE ERRORS
528 OCCURS WHILE STILL SERVICING A PREVIOUS BUS ERROR

529 OR RSVD INSTRUCTION TRAP. AFTER THE HALT THE CONSOLE
530 DISPLAYS THE PC+2 OF THE ERROR HALT. THIS IS USED

531 TO IDENTIFY WHICH OF THE TWO TYPES OF ERRORS = RSVD
ggg OR BUS ERROR - OCCURRED LAST.

534 THERE IS A SOFTWARE FLAG TAGGED ''CATERR’® THAT MAY BF
ggg EXAMINED TO OBTAIN THE FOLLOWING INFORMATION:

%37 [CATERR] = 000002 TWO SUCCESSIVE RUS ERRORS

538 [CATERR] = 001000 TWO SUCCESSIVE RSVD INSTR. TRAPS

539 CCATERR] = 000407 A COMBINATION OF THE TWO. THE

540 CONTENTS OF THE ADDRESS DISPLAY

gz; IDENTIFIES WHICH TYPE OCCURRED LAST.

543 THE STACK PROVIDES THE FOLLOWING ADDITIONAL INFORMATION:
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4.0

4.1

6.2

4.3

[SP ] / PC OF THE 2ND TRAP
[SP+2] / PSW OF THE 2ND TRAP
[SP+4] / PC OF THE 1ST TRAP
(SP+6] / PSW OF THE 1ST TRAP

PERFORMANCE AND PROGRESS REPORTS

PERFORMANCE REPORTS

+HERE IS ONLY ONE PERFORMANCE REPORT SUPPLIED BY THE PROGRAM
AND CONSISTS OF A SIMPLE END OF PASS MESSAGE OF THE FORMAT
SHOWN BELOW:

PASCNT = XXXXXX ERRJCNT = YYYYYY

WHERE:  XXXXXX 1S THE TOTAL NUMBER OF COMPLETE PASSES
OF THE ENTIRE PROGRAM (OCTAL)

YYYYYY IS THE TOTAL ERROR COUNT IN CCTAL
PROGRESS REPORTS

THERE ARE TWO PROGRESS REPORTS PRINTED THAT REPORT NORMAL
ERROR FREE EXECUTION OF THE PROGRAM.

A. END OF PASS PRINTOUT AS DESCRIBED IN 4.1 ABOVE.
B. PROGRAM IDENTIFICATION MESSAGE AS DESCRIBED BELOW:
COKDAC KL11-K BASIC LOGIC TESTS
THIS MESSAGE GETS PRINTED THE FIRST TIME THE PROGRAM ENTERS

THE COMPREHENSIVE INSTRUCTION TEST SECTION UNLESS
INHIBITED By SW12=1. AFTER THE FIRST PASS THIS PRINTOUT

IS AUTOMATICALLY INHIBITED UNLESS THE PROGRAM IS RESTARTED AT 200(8).

MAINTENANCE BREAKPOINT FEATURE

THERE 1S A MANUAL PROGRESS REPORT FEATURE THAT ALLOWS THE USER
TO STEP THROUGH THE PROGRAM, HALTING AFTER EVERY N'TH TEST WITH
PROGRESS INFORMATION DISPLAYED IN THE CONSOLE ADDRESS DISPLAYS.
TO ACTIVATE THIS FEATURE THE USER MUST SET THE DESIRED
"BREAKPOINT HALT'' BITS IN THE MEMORY LOCATION TAGGED 'BPTLOC'.
THIS LOCATION PROVIDES SIXTEEN POSSIBLE HALTS DISPERSED EVENLY
THROUGHOUT THE PROGRAM (APPROX. EVERY 20 TESTS). AT EACH CHECK-
PCINT THE PROGRAM EXAMINES A PARTICULAR BIT IN "BPTLOC'' AND
HALTS IF THE BIT IS SET TO A *“1'" OTHERWISE IT CONTINUES IN
NORMAL SEQUENCE. AFTER THE HALT DEPRESSING ‘‘CONTINUE'' WILL CAUSE
RESUMPTION OF NORMAL PROGRAM EXECUTION. SETTING LOCATION "BPTLOC'
TO ALL 1'2 (177777) WILL RESULT IN THE FOLLOWING SIXTEEN HALTS
WITH THE INFORMATION SHOWN DISPLAYED IN THE CONSOLE:

SEQ 0011
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5.0

5.1

[(BPTLOC] ADDRESS DJSPLAY

HALT P(C+2

BIT0O0=1 4326

BIT01=1 6312

BIT02=1 10632
BIT03=1 11762
BIT04=1 16356
BIT0S=1 17116
BIT06=1 21542
BIT07=1 24350
BIT08=1 27162
BIT09=1 32156
RIT10=1 34642
8IT11=1 37452
BIT12=1 42142
Bli113=1 46142
BIT14=1 52602
BIT15=1 55426

NOTE: ]1F THE USER DEPOSITED A 0004CO(8) IN LOCATION 'BPTLOC'
ONLY ONE HALT WOULD OCCUR AND AT THAT TIME THE
DISPLAY SHOULD CONTAIN 27162.

THIS FEATURE IS USEFUL FOR TRACKING DOWN THE TEST THAT CAUSES
A "RUNAWAY'' OR 'HUNG'' PROGRAM.

LOCATION "BPTLOC'' IS PROGRAM LOADED AS 000000 TO INHIBIT ANY HALTS.

MAINTENANCE PROCEDURES

THE KD11-K PROCESSOR

THE PROCEDURES OUTLINED IN THIS SECTION ASSUME THAT ‘‘COKDA"’
CAN BE LOADED INTO CORE AND STARTED. IF THE FAILURE MODE
PREVENTS PROGRAM LOADING OR AFFECTS NORMAL POWER UP AND
CONSOLE OPERATIONS, THE TECHNICIAN MUST REVERT TO THE MANUAL
DEBUG AND CHECKOUT PROCEDURES.

THE KD11-K CENTRAL PROCESSING UNIT CAN BE VIEWED AS
CONSISTING OF TWO MAJOR LOGIC AREAS AS DEPICTED BELOW:

DATA [N x#x«

*
x

Frhhhthnw bk *ttttt**!t*‘g***.
* ® * .
+ CONTROL ADDDDDDIIDIDIID>x DATA .
* SECTION  #<<<<CCCLKLLLn PATHS .
® * * «

SEQ 0012
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COKDAC.P11  07-NOV-78 14:09 DOCUMENT LISTING SEQ 0013
656 4833222822223 ARRNANRA AN NN kR
657 *
658 : .
659 »~x>DATA OUT

THE DATA PATHS CONSIST OF A LOGICALLY INTERCONNECTED GROUP
OF STATIC DATA FACILITIES (REGISTERS, MULTIPLEXORS, ALU'S
ETC.) REQUIRED TO TEMPORARILY STORE, MODIFY, AND TRANSFER
DATA ITEMS (16 BIT WORDS OR 8 BIT BYTES) ACCORDING TO THE
DESIGN SPECIFICATIONS FOR THE PDP11.

THE CONTROL SECTION SUPPLIES PREDEFINED SEQUENCES OF CONTROL
SIGNAL SETS TO ACTIVATE THE REQUIRED DATA FACILITIES WITHIN
THE DATA PATHS. IN THE KD11-K THESE CONTROL SIGNAL SETS ARE
STORED IN A READ ONLY MEMORY (ROM) AND GENERATED BY READING
gg;FSRgggOUE SEQUENCE OF ROM WORDS FOR EACH OPERATION TO BE

THE SEQUENCE GENERATED BY THE CONTROL SECTION IS VARIABLE
AND DEPENDENT UPON THE INSTRUCTION OR LOGIC OPERATION
BEING EXECUTED. THERE ARE HUNDREDS OF THESE SEQUENCES POSS-
IBLE DEPENDENT UPON OF THE PROGRAM CODING.

"'COKDA'' IS DESIGNED TO GENERATE ALL POSSIBLE MICROINSTRUCTION
SEQUENCES AND COMBINATIONS OF DATA AND CONTROL SIGNALS. THE
INDIVIDUAL TESTS ARE LOGICALLY SEQUENCED AND STRUCTURED TO
EELE%; AND 1SOLATE PARTICULAR M]CROPROGRAM SEQUENCES THAT ARE

5.2 CONDITION CODE SCOPE SYNC FEATURE

FROM THE BIT SECTION TO THE MED TESTS IN THE CIT SECTION, ALL
TEST INSTRUCTIONS ARE PRECEEDED BY A CONDITION CODE OPERATE
INSTRUCTION. THE UBREAK REGISTER IS PROGRAM LOADED TQ GENERATE
A SYNC PULSE NEAR THE END OF THIS INSTRUCTION. DURING THE MED
TESTS, THE PULSE 1S GENERATED NEAR THE BEGINNING OF THE MED
EXECUTION. THIS PULSE IS GENERATED ON BACKPLANE PIN BO3M2 AND
MAY BE USED IN CONJUNTION WITH THE PROGRAM LOOPING FEATURES TO
PROBE THE KD11-K DURING THE FAILING TEST.

4

.TITLE CQKDA-C KD11-K BASIC LOGIC TESTS
;*COPYRIGHT (C) 1977,1978

;*DIGITAL EQUIPMENT_(ORP.

;*MAYNARD, MASS. 01754

* W

*THIS PROGRAM WA5 ASSEMBLED JUSING THE PDP-11 MAINDEC SYSMAC
tPACKAGE (MAINDEC-11-D2QAC-(C3), JAN 19, 1977,

.SBTTL OPERATIONAL SWITCH SETTINGS
. &
z;g ‘ i SWIT(H USE

F R D OR R ERRRRe O ERRE00U333300RR800RRREE
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712
713
714
715
216
717
718
719
720
721
722
723
726
725
726
727
728
729
730
731
732
733

<

07-NOV-

001000

000011
000012
000015
000200
177776

177774
177772
177570
177570

900000
000001
000002
000003
000004
000005
000006
000007
00000¢
000007

000000
000040
000100
000140
000200
000240
000300
000340

100000
049000
020000
010000
004000
002000

Vs
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OPERAT]IONAL SWITCH SETTINGS SEQ 0014

HALT ON ERROR
LOOP ON TEST
INHIBIT ERROR TYPEOUTS
INHIBIT ID MESSAGE & UNEXPECTED TRAP MESSAGES
INHIBIT ]JTERATIONS
LOOP ON TEST IN SWR<8:0>
o LOOP ON ERROR
.ENABLE ABS

.SBTTL BASIC DEFINITIONS
;*INITIAL ADDRESS OF THE STACK POINTER exx 1000 wa«

L .
> % B » B 8
— ek b e ) b
VO =AW WD

L4

STACK= 1000

.EQUIV EMT,ERROR ;:BASIC DI FINITION OF ERROR (ALL
.EQUIV 10T.SCOPE ;:BASIC DCFINITION OF SCOPE CALL
-MISCELLANEOUS DEF INITIONS

HT 11 ;CODE FOR “JRIZONTAL TAB

LF = 12 ::CODE FOR LINE FEED

(R= 15 ;:CODE FOR CARRIAGE RETURN

CRLF= 200 ;;CODE FOR CARRIAGE RETURN-LINE FEED

PS= 177776 : ;PROCESSOR STATUS WORD

.EQUIV PS,PSW

STKLMT= 177774 ;;STACK LIMIT REGISTER

PIRQ= 177772 ; :PROGRAM INTERRUPT REQUEST REGISTER

DSWR= 177570 ,,HARDHARE SWITCH REGISTER

DDISP= 177570 :HARDWARE DISPLAY REGISTER
: *GENERAL PURPOSE REGISTER DEF INITIONS

RO %0 ;GENERA_L REGISTER

R1- 21 ..GENERAL REGISTER

R2= 12 : :GENERAL REGISTER

k3= 3 ; :GENERAL REGISTER

R4 - 24 ; GENERAL REGISTER

RS= 5 ; ;GENERAL REGISTER

Ré 26 : ;GENERAL REGISTER

R7- %7 : :GENERAL REGISTER

SP %6 ; :STACK POINTER

PC- ¥4 ; :PROGRAM COUNTER

;*PRIORITY LEVEL DEFINITIONS

PRO= 0 ::PRIORITY LEVEL 0

PR1- 40 ::PRIORITY LEVEL 1

PR2= 100 :;PRIORITY LEVEL 2

PP3= 140 ::PRIORITY LEVEL 3

PR4= 200 ;:PRIORITY LEVEL 4

PRS 240 ::PRIORITY LEVEL S

PR6- 300 ::PRIORJTY LEVEL 6

PR7- 340 ::PRIORITY LEVEL 7

;%" 'SWITCH REGISTER'® SWITCH DEF INITIONS
SW15- 100000

SW14- 40000
Swi3= 20000
swi2- 10000
Swil= 4000

SWi10- 2000
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CQKDAC.P11

768
767
770
7

772
773
774
775
776
777
778
779
780
781

782
783
784
785
786
787

813

00 0o 00 00 Co 0o
— mad ) d — —
Yole cJaNTe NV, W8

R
WA= O

001000

000002
000001

100000
040000
020000
010000
004000
002000
001000
000407
000200
000100
000040
000020
000010
000004
000002
000001

000004
002010
000014
000014
000014
000020

14:09

MACY11 30A(1052)
BASIC DEFINITIONS

SWQ9=
Sw08-=
SwQ/7=
Sw06=
SwQ5=
SW04=
SwO3=
SWO2=
SwO1=
Sw00=
.EQUIV
.EQUIV
.EQUlvV
EQUIV
.EQUIV
.EQUIV
.EQUlvV
EQUlV
LEQUIV
.EQUIV

¢
15-NOv-78

P4
15:26

PAGE 16

;*DATA BIT DEFINITIONS (8IT00 TO BIT15)

BIT1S=
BIr4=
BIT13=
BiT12=
BIiT11=
BIT10=
BIT09=
BIT08=
BITO7=
BIT06-
BITOS=
BIT04=
BIT03=
BIT02=
BITO1=
BIT00=
.EQUIV
.EQUIV
.EQUIV
.EQUIV
.EQUIV
.EQUIV
.EQUIV
.EQUIV
.EQUIV
.EQUIV

;*BASIC ''CPU'' TRAP VECTOR ADDRESSES

;. TIME OUT AND OTHER ERRORS
::R%ﬁﬁgY%D AND TLLEGAL [NSTRUCTIONS
;. TRACE TRAP

; ;BREAKPOINT TRAP (BPT)
JoINPUT/0UTPUT TRAP (I2T7) »«S(QPE=«

ERRVEC=

100000
40000
20000
10000
4000

BITJ9.BITY
BIT08.8178

oo

et by By

——y =4
OO0
NN
L} - - L}
LT OD
[ 3 el S
— g =t — —{
POW &N

BIT01.8IT1
81700.81T0

4

’r

SEQ 0015
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824 000024
825 000030
826 000034
827 000060
828 000064
829 000240
830
831
832 000000
833
834
835
836 000174
837 00017& 000000
g%g 000176 000000
840 000200 000137
841 000700
842
843
844
845
846
847 000700
848 000024
849 000024 000200
850 000044
851 000044 000700
852 000700
853
854
855
856
857 000700
858 000700 000000
859 000702 001120
860 000704 000000
861 (C00706 000000
862 000710 000000
863 000712 000014
864
865
866
867
868 000714
869 000046
870 000046 060644
871 000052
87¢ 000052 000000
873 000714

TESTS

IC
14:09

001630
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BASIC DEFINITIONS SEQ 0016
PWRVEC= 24 :;POWER FAIL
EMTVEC= 30 ..EHULATOR TRAP (EMT) x=ERROR==*

TRAPVE (=34 ""TRAP'' TRAP

TKVE(C= 60 ..TTY KEYBOARD VECTOR

TPVE(= ;:TTY PRINTER VECTOR
PIRQVEC(C= 240 ; PROGRAM INTERRUPT REQUEST VECTOR

.SBTTL TRAP CATCHER

.=0

s*ALL UNUSED LOCATIONS FROM & - 776 CONTAIN A ''.+2 HALT"
; *SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
:'LOCATION194C0NTAINS 0 TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD 0 . :SOF TWARE DISPLAY REGISTER
SWREG: .WORD 0 ;s SOF TWARE SWITCH REGISTER
.SBTTL STARTING ADDRESS(ES)

JMP Q#START ;;JUMP TO STARTING ADDRESS OF PROGRAM
.=700 sPUT APT HEADER IN STACK AREA
.SBTTL APT PARAMETER BLOCK

LA R ALl dRaddtii izt ssidlililsse i st

:SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
R A AT AR A AT R AN R R AN RARRRNERRNNRRE R AN R RN RRNNR AN
LBX=, 2 SAVE CURRENT LOCATION
.=24 ;:SLT POWER FAIL TO POINT TO START OF PROGRAM
200 ;.FOR APT START UP
.=44 ;;POINT TO APT INDIRECT ADDRESS PNTR.
$APTHDR ;;POINT TO APT HEADER BLOCK
=.8X  ;,RESET LOCATION COUNTER
IR AR AR AR R R AR R R R AR AR AR AR AR AR RN R AN R RN N NN AR F R R RN R RN NN NANNRY
;SETUP APT PARAMETER BLOCK AS DEFINED [N THE APT-PDP11 DIAGNOSTIC
S INTERFACE SPEC.

$APTHD :

$HIBTS: .WORD O ;:;TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

$MBADR: .WORD $MAIL ;;ADDRESS OF APT MAILBOX (BITS 0-15)

$£7STM:  .WORD JoRUN TIM OF LONGEST TEST

$PASTM: _WORD JJRUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
SUN]TM: _WORD ;oADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT

.WORD  SETEND-$MAIL/2 ;.LENGTH MAILBOX-ETABLE (WORDS)
.SBTTL ACT11 HOOKS

. tttttt't‘lt!ttt*itl!ﬁttittiﬁt**ﬂﬁ'ttttﬁtttttiitttttﬁt*ttt*ttttt

HOOKS REQUIRED BY ACT11

sszzc- :SAVE PC
iErgng ;:1)SET LOC.46 TO ADDRESS OF $ENDAD IN .SEOP
WORD 0 ;:2)SET LOC.52 TO ZERO

. $SVP(C ;. RESTORE PC
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(OxDA-C KD11-K BASIC LOGIC TE
CQKDAC.P11 07-NQV-78 14:09 COMMON TAGS SEQ 0017
g;é .SBTTL COMMON TAGS
876 ":ﬁ"ﬁ.tttﬁﬁtttﬁt*iﬁit'tt'i*tit*ttt!l‘ttﬁ*t*ttttttt*tltttt*Qtttttt
877 s*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
g;g s*USED IN THE PROGRAM.
880 001000 .=1000
881 001000 SCMTAG: JsSTART OF COMMON TAGS
882 001000 000000 .WORD O
883 001002 000 $TSTNM: .BYTE 0 o CONTAINS THE TEST NUMBER
884 001003 000 $ERFLG: .BYTE 0 ;s CONTAINS ERROR FLAG
885 001004 000000 $ICNT: .WORD 0 ;o CONTAINS SUBTEST ITERATION COUNT
886 001006 000000 $LPADR: .WORD 0 ;;CONTAINS SCOPE LOOP ADDRESS
887 001010 000000 $LPERR: .WORD ( 2 ;CONTAINS SCOPE RETURN FOR ERRORS
888 001012 000000 $ERTTL: .WORD O ;s CONTAINS TOTAL ERRORS DETECTED
889 001014 000 $ITEMB: .BYTE O ;;CONTAINS ITEM CONTROL BYTE
890 001015 001 $ERMAX: .BYTE 1 ;o CONTAINS MAX. ERRORS PER TEST
891 001016 000000 $ERRPC: .WORD O 2 sCONTAINS PC OF LAST ERROR INSTRUCTION
892 001020 000000 $GDADR: .WORD 0 ;+CONTAINS ADDRESS OF *'GOOD' DATA
893 001022 000000 $8DADR: .WORD 0 .. CONTAINS ADDRESS OF °'BAD' DATA
894 001024 000000 $GDDAT: .WORD O :;CONTAINS 'GOOD' DATA
895 001026 000000 $8DDAT: .WORD 0 ;. CONTAINS °'BAD' DATA
896 001030 000000 LMWORD O . sRESERVED--NOT TO BE USED
897 001032 000000 .MWORD O
898 001034 000 $AUTOB: .BYTE 0 ;;AUTOMATIC MODE INDICATOR
899 (001035 000 $INTAG: .BYTE 0 . INTERRUPT MODE INDICATOR
900 001036 000000 .WORD O
901 001040 177570 SWR: .WORD DSWR . cADDRESS OF SWITCH REGISTER
902 001042 177570 DISPLAY: .WORD DDISP . cADDRESS OF DISPLAY REGISTER
903 001044 177560 $TKS: 177560 ;:TTY KBD STATUS
904 001046 177562 $TKB: 177562 ;:TTY KBD BUFFER
905 001050 177564 $TPS: 177564 ;:TTY PRINTER STATUS REG. ADDRESS
906 001052 177566 $TPR: 177566 ;2 TTY PRINTER BUFFER REG. ADDRESS
907 001054 ovo $NULL: .BYTE 0 . CONTAINS NULL CHARACTER FOR FILLS
908 001055 002 $FILLS: .BYTE 2 ;. CONTAINS # OF FILLER CHARACTERS REQUIRED
09 001056 012 $FILLC: BYTE 12 ;o INSERT FILL CHARS. AFTER A "LINE FEED''
910 001057 000 $TPFLG: .BYTE 0 2 TERMINAL AVAILABLE'' FLAG (BIT<07>=0-YES)
911 CO1060 000000 $REGAD: .WORD 0 s sCONTAINS THE ADDRESS FROM
912 JsWHICH  (SREGO) WAS OBTAINED
913 001062 000000 $REGO: .WORD 0 ;s CONTAINS ((SREGAD)+0)
914 001064 000000 $REG]1: .WORD O 2 ;CONTAINS ((SREGAD)+2)
915 001066 000000 $REGZ2: .WORD O ;s CONTAINS ((SREGAD)+4)
916 001070 000000 $REG3: .WORD O ; sCONTAINS ((SREGAD)+6)
917 001072 000000 $REG4: .WORD O ;sCUNTAINS ((SREGAD)+10)
918 001074 000000 $REGS: .WORD 0 s sCONTAINS ((SREGAD)+12)
919 001076 000000 $TMPO0: ,WORD O 2 JUSER DEFINED
920 001100 000000 $TMP1: _WORD O ; JUSER DEFINED
921 001102 000000 $TMP2: .WORD O ;:USER DEF INED
922 001104 000000 $TMP3: _WORD O ;USER DEF INED
923 001106 000000 $TMP4: _WORD O ..USER DEF INED
924 001110 000000 STIMES: { : NUMBER OF ITERATIONS
925 001112 009000 $ESCAPE : 0 ..ESCAPE ON ERROR ADDRESS
926 001114 077 $QUES: .ASCII /2/ JJQUESTION MARK
927 001115 015 $CRLF: LASCII «<15> ;. CARRIAGE RETURN
928 001116 000012 $LF: JASCIZ < 2> ;. 'NE FEED

929 DT R R R A N R AR A AN A R AN A I R A R AR AN R AR AN N R AN AR R R RN IR AR AN NP A RNy
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930
931
932
933
934

P11

001150

|
07-NOV-7
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APT MAILBOX=-ETABLE

.SBTTL APT MAILBOX-ETABLE

.‘.'tttttttt'tttﬁtiﬁtt'titt'ttt.!ﬁtti'tﬁttt'tt.ﬁﬁtittt*ttttiittittt

.EVEN

SMAIL: ;cAPT MA]ILBOX

$MSGTY: .WORD  AMSGTY ::MESSAGE TYPE CODE
$FATAL: .WORD  AFATAL ;;FATAL ERROR NUMBER
$TESTN: .WORD ATESIN ;;TEST NUMBER

$PASS: .WwORD  APASS ; ;PASS COUNT

$DEVCT: .WORD  ADEVCT :;DEVICE COUNT

SUNIT: .WORD  AUNIT ;170 UNIT NUMBER
SMSGAD: .WORD  AMSGAD ;;MESSAGE ADDRESS
MSGLG: .WORD  AMSGLG ; :MESSAGE LENGTH
SETABLE : ;sAPT ENVIRONMENT TABLE
$SENV: .BYTE  AENV ; ;ENVIRONMENT BYTE
$ENVM:  _BYTE  AENVM  ;.ENVIRONMENT MODE BITS
SSWREG: .WORD  ASWREG ;;APT SWITCH REGISTER
$USWR: _WORD  AUSWR ;sUSER SWITCHES

$CPUOP: .WORD  A(CPUOP ;;CPU TYPE,OPTIONS

;. BITS 15-11=CPU TYPE

11/70=06.PD0=07,0=10
BIT T0=REAL TIME CLOCK
BIT 9=FLOATING POINT PROCESSOR
BIT 8=MEMORY MANAGEMENT

¢ o .

ZM e o s » »
[

} "Saa!

»nz

-

11/04=01,11/05=02,11/20-03,11/40=04,11/45 05

SEQ 0018
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CQKDAC,

957
953
959

1000

SRS

23

— e ) d el ad ) D b ) —d
=0V~

elele)
— b

P

368 8888 8

001176

001220
001222
001224
001226

001230
001232
001234
001236

001240
001242
001244
001246

07-NOv-78

064640
000000
067764
000000

064640
065061
067764
000000

065013
000000
070G06
000000

064640
065072
067764
000000

064666
000000
067772
000000

064660
000000
067770
000000

064650
000000
067766
000000

064724
000000
067764
000000

6 2
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 20

ERROR POINTER TABLE
.SBTTL ERROR POINTER TABLE
;*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

;*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
;*LOCATION SITEMB, THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.

:*NOTE1: IF $ITEMB IS O THE ONLY PERTINENT DATA [S ($ERRPC).
;*NOTEZ: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:
Jx EM :;POINTS TO THE ERROR MESSAGE
o DH ;;POINTS TO THE DATA HEADER
o™ DT ;;POINTS TO THE DATA
o - DF ;;POINTS TO THE DATA FORMAT
$ERRTR:
JITEM 1
5M1 .S/B DST WAS DST DEST (IR) TEST (PC) (SP) (PSW)
8T1 JOREG4, SREG3, SREGZ2., SREGT,$REGO,SERRP(,$REGS,$REGS
JITEM 2
gzs :S/B DST WAS DST ?55;3 (IR) TEST (PC) (SP) (PSW)
8T2 E$RE64, $REG3, SREGZ, SREG1, SREGO,S$ERRPC,$REGS,$REGE
JITEM 3
8M3 :S/B SP WAS SP (]JR) TEST (PC) (PSW)
8T3 JPREG4, SREG3, SREGT,$REGO,$SERRPC,$REGH
JITEM 4
Ezz ;S/B DST WAS DST ?ES;S (IR) TEST (PC) (SP) (PSW)
8T4 ESREGA. $REG3, $REGZ2, SREG1, SREGO, SERRP(C. $REGS., $REG6E
JITEM S
SMS JCIR)Y TEST (PC) (SP)  (PSW)
8T5 JSREGT, SREGO, $ERRP(, $REGS, $REGE
JITEM 6
5M6 DEST (IR) TEST (PC) (SP) (PSW)
876 ;BREGZ, SREG1, SREGO, SERRP(., $REGS., SREGE
JITEM 7
5M7 JWAS DST DEST (IR) TEST (PC) (SP) (PSw)
817 JSREG3, SRER2, SREG1, SREGO, $ERRP(, SREGS, SREGE
JITEM 10
5"10 ;S/B RES WAS RES DST OP STC OP TEST (P() (SP) (PSW)

8710 ;$PEGL, BREG3, SREGZ, BREGY, SREGO, SERRP(, SREGS, SREGS

SEQ 0019
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CQxDA-C kD11-k BASIC LOGIC TE
CQkKDAC.PI1 07-NOV-~78 14:09 ERROR POINTER TABLE SEQ 0020
1013 :ITEM 11
1014 001250 065260 EM11 ;TESTS SKIPPED
101S 001252 065276 DH11 ;. PC EXPCTD ACTUAL (TEST #'S)
1016 001254 070024 DT J$ERRPC, $STESTN,SREGO
1017 001256 000000 0
1018
1019 C1TEM 12
1020 001260 065334 EM1?2 ;MED DID NOT ABORT [N USER MODE
1021 001262 067372 DH23 ;PC
1022 001264 067664 DT23 :$ERRPC
1023 001266 000000 0
1024
1025 ;1TEM 13 )
1026 001270 065373 EM13 ;MED EXECUTED [N USER MODE
1027 001272 067372 DH23 :PC
1028 001274 067664 pT23 :$ERRPC
1029 001276 0000C0 )
1030
1031 JITEM 14
1032 001300 065425 EM14 :MED CHANGED PSW
1033 001302 067372 DH23 :PC
1034 001304 067664 D123 :$ERRPC
1035 001306 000000 0
1036
1037 JITEM 15
1038 001310 065445 EM15 MICROBREAK TRAP-TO-4 DID NOT OCCUK
1039 001312 067303 DH15 ;ERRPC MEDCODE MICROBK REG.
1040 001314 067630 DT15 JOERRP( ,$TMPO,$TMPT, 0
1041 001316 067756 DF 15 :0,
1042
}822 JITEM 16
1045 001320 067034 EM16 ;CACHE DATA LOGGED INCORRECTLY
1046 001322 067606 DH44 ;PC EXPCT RFCVD
1047 001324 067670 DT24 ;$ERRPC ,$REGT,$REGO,0
1048 001326 000000 0
1049
}82? JITEM 17
1052 001330 067005 EM4LS ;CACHE TAG LOGGED WRONG
1053 001332 067606 DH44 :PC EXPCT RECVD
1054 001334 067670 DT24 ;$ERRPC ,$REGO,$REGT,0
1055 001336 000000 0
1056
}82; ;ITEM 20
1059 001340 065704 EM26 ;PHYS., BA LOGGED WRONG
1060 001342 067606 DH&4 JPC EXPCT RECVD
1061 001344 067670 DT24 s$ERRPC,$RLG1,$REGD,O
1062 001346 000000 0
1063
1064 JITEM 21
1065 001350 065534 EM21 :CSP CONSTANT WRONG
1066 001352 067335 DH17 JPC MEDCODE EXPECTD RECEIVD
1067 001354 067640 D121 JSERRPC,$™™P1,$TMP?2 ,8REGD, O
1068 001356 067760 DF17 ;0,0,0
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1069
1077
1071
1072
1073
1074
1075
1076
1077
1078
1079

%

383

— d comd d ) e ed e el e — ) b d ) b ) ) d e ——d D b ) ) ) b D b
el el —d el el —d ed e e b ) nd e D e ) ) —ad e d e e )

PO R L DD leolelels)
PWNNMJCD‘MN‘dOﬂﬂJ\UUU-JChoggsﬁ;\hghﬂﬂJSng

001360
001362
001364
001366

001370
001372
001374
001376

001400
001402
001404
001406

001430
001432
001434
001436

001440
001442
001444
001446

001450
001452
001454
001456

07-NOV~78 14:09

065557
067335
067652
067760

065606
067372
067664
000000

065625
067377
067670
000000

065510
067606
067670
000000

065704
067436
067706
000000

065731
067520
067722
000000

066001
067372
067664
000000

066604
067372
067664
000000
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ERROR POINTER TABLE

; ITEM 22
EM22 ;BAD DATA READ BY A MED

DH17 ;PC MEDCODE EXPECTD RECEIVD
DT22 ;SERRP(C,$TMP1,8TMP2 ,$TMP3,0

DF17 :0.0,0

CITEM 23

FM23 :NO ODD PC TRAP
DHZ3 :PC

8723 ; SERRPC

JITEM 24

EM24 :0DD ADR. BIT NOT SET IN (PU ERROR REGISTER OR LOG JAM
DH24 ;PC LPUERR LOGJAM
D124 ;$SERRP(C ,$REG" ,SREGO

0]

JITEM 25

EM17 ;LOG CUA LOGGED INCORRECT U~ADDR
DHG4 .PC EXPCTD RECVD

8724 J$SERRPC $REGT $REGO

JITEM 26

EM25 JPHYS. BA LOGGED WRONG
DH26 ;PC PACI7:16>~EXPCT=PA<1IS:0> PA<C17:16>=-RECVD=-PA<IS: 0>
8T26 ;$ERRP( ,$REG1 ,$REGZ . $RFGO,$REG3,0

JITEM 27

EM27 .CACHE PARITY ERROR LOGGED IN BACK UP MODE
DHZ7 ;PC LOGPBA LOGDATA LOGTAG

8T27 ;SERRP( ,$REG3,$REGT, SREG?

JITEM 30

EM30 JCACHE PARITY TRAPPED WHEN DISABLED
DHZ23 PC

D723 I SERRFC

0

JITEM 31

EM31 ;N? CACHE PAR]TY TRAP

DH23 :P
D123 r$ERRP(
0

JITEM 32

SEQ 0021
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CQKDA-C K 0 E
CQKDAC.P11 07-NOV-78 14:09 ERROR POINTER TABLE SEQ 0022

1125

1126 001460 066113 EM32 ;MEMORY ERROR REGISTERS INCORRECT

1127 001462 067553 DH32 :PC MEMERR

1128 001464 067700 D125 :$ERRPC, SREGO

1129 0014666 000000 0

1130

}}%} ITEM 33

1133 001470 066144 EM33 ;TIMEQUT BIT NOT SET IN CPU ERROR REGISTER OR LOG JAM

1134 001472 067377 DH24 :PC CPUERR LOGJAM

1135 001474 067670 D124 2 $ERRPC ,$REG1, SREGO

1136 001476 000000 0

1137

}}gg JITEM 34

1140 001500 066222 EM34 :NO I_LEGAL INTERNAL ADDRESS TRAP

1141 001502 067372 OH23 :PC

1142 0015046 067664 D123 :$ERRP(

;}22 001506 000000 0

}}22 :1TEM 35

1147 001510 066257 EM35 ; INTERNAL ADDRESS ERROR BIT NOT SET IN CPU ERROR REGISTER OR LOG JAM

1148 001512 067377 DH24 :PC CPUERR LOGJAM

1149 0015146 067670 DT24 :$ERRP(C,$REGT, SREGO

;}g? 001516 000000 0

1}%% :ITEM 36

1154 001520 066345 EM36 ;LAST INTERRUPT/TRAP VECTOR NOT LOGGED IN FLAG REGISTER

1155 001522 067422 DH25 :PC FLGREG

1156 001524 067700 D125 :$ERRPC, $REGO

1157 001526 000000 0

1158

}}gg JITEM 37

1161 001530 066422 EM37 ;LOG FIRST MODE DID NOT INHIBIT ERROR LOG AFTER FIRST ERROR

1162 (001532 067377 DH24 ;PC CPUERR LOGJAM

1163 001534 067670 DT24 ;$ERRPC,$REGT, SREGO

1164 001536 000000 0

1165

}}29 ;ITEM 40

1168 001540 066515 EM4O ;ERROR LCG WAS NOT RE-ENARLED, ODD ADR BIT (LR IN CPUERR

1169 001542 067377 DH24 :PC CPUERR LOGJAM

1170 001544 067670 DT24 ;$ERRPC ,$REGT , SREGO

1171 001546 000000 0

1172

}};Z JITEM 41

1175 001550 066044 EM4 1 ;INSTRUCTION NOT ABORTED IN CACHE ABORT MODE

1176 001552 067372 DH23 :PC

1177 001554 067664 D123 :$ERRPC

1178 001556 000000 0

1179

1180 JITEM 42
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-
—
oo
iy

001560 066631
001562 067567
001564 067700
001566 000000

001570 066717
001572 062553
001574 067700
001576 000000

001600 067064
001602 067221
001604 067734
001606 000000

SELIRRROC LS BEIRRRSI

NNV D et D Db e D D b ed d b i ol

CcoOOo
N —

001610 067115
001612 067221
001614 067734

b d o ok md e d d e d e ) ) ad e e b d b D e b oed b d nd nd ) e cd b md b h
U\§

206 001616 000000
207

208

209

210 001620 067143
211 001622 067262
212 001624 067746
S}Z 001626 000000
215 076600
216 140000
217 177770
218 177744
219 177766
1220 177746
1221 000100
1222 000001
1223 000200
1224 000100
1225 000200
1226 000040
1227

1228

1229
1230
1231

1232
1233 000226
1234 000022
1235 000222
1236 000144

K 2
MACY11 30A(i052) 15-NOV-78 15:26 PAGE 24
ERROR POINTER TABLE

EM42 ;L0 BYTE & TAG PARITY BITS NOT SET IN LOG SERVICE
DH42 :PC LOGSERVCE
BTZS ;$ERRP(,$REGO, 0

;ITEM 43

EM43 ;LO BYTE & TAG PARITY BITS NOT SET IN MEM ERR REGISTER
DH3?2 ;PC MEMERR

8T25 ;$ERRPC,$REGO

JiTEM 44

EMEIST EIS SET COND CODES WRONG

DHEIST . PSW  REG-WAS-REG+1  REG-S/B-REG+1 PC TEST (IR)
8TFIS1 ;SREGAD $REGZ SREG3 SREG!  $SREG4  $ERRPC SREGO $TMPO

J1TEM 45
EMEISZ :EIS GAVE WRONG RESULT
DHEIST1 ; PSW  REG-WAS-REG+] REG-S/B-REG+1 PC TEST (IR)

8TEIST ;SREGAD SREGZ SREG3 $REGT  SREG4  $ERRPC S$REGO $TMPO

JITEM 46

EM4LE sAUTO-INCREMENT (DECREMENT) DID NOT OCCUR
DH46 ;. PC (IR) TEST
8T46 J$ERRPC $TMPO  $REGO

MED = 076600
UM= 140000
UBREAK= 177770
MEMERR=177744
CPUERR=177766
CCR=177746
WWP=B]T6
DPTRP=BITO
PABORT=BIT/
LO=BIT6
HI=RIT7
TAG=BITS

.EQUIV SP,KSP

. ¥ MED OPERATION CODE DEF INITIONS

WCNSSW=226
RDWHAM] =022
WRWHAM] =20
RDFLAG=144

SEQ 0023
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COKDAC.P11

1237
1238
1239
1240
1241
1242
1243
1244
1245
1246
1247
1248
1249
1250
1251
1252
1253
1254
1255
1256
1257
1258
1259
1260
1261
1262
1263
1264
1265

000344
000100
000300
000101
000301
000102
000302
000103
000303
000104
000304
000105
000305
000106
000306
000107
0003C7
000071

177560
177562
177564
177566
177546

WRF LAG=344
RDLJAM=100
WRLJAM=300
RDLSERVICE=101
WRLSERVICE=301
RDLPBA=102
WRLPBA=302
RDLCUA=103

WRL CUA=303
RDLFGINT=104
WRLFGINT=304
RDI WHAMI =105
WRLWHAMI =305
RDLDATA=106
WRLDATA=306
RDLTAG=107

WRL TAG=307
SwB01=71

2
MACY11 30A(1052) 15-NOV-$8 15:26 PAGE 25
ERROR POINTER TABLE

;MICRO ADDR. [N SWAB [NST.

;ADDRESS ASSIGNMENTS FOR DL1T CONSCLE TERMINAL INTERFACE

RCSR=177560

RDBR = 177562
XCSR = 177564
XDBR = 177566
LKCSR= 177546

RCVR. CONTROL / STATUS REG. ADDRESS
-RECEIVER DATA BUFFER REG. ADDR.

. TRANSMITTER CONTROL / STATUS REG. ADDR
; TRANSMIT DATA BUFFER REG. ADDR.

;L INE CLOCK ADDRESS

SEQ 0024
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CQKDAC.P11 07-NOV-78 14:09 ERROR POINTER TABLE SEQ 0025
1266 /111717777777 77/77777
1267 ; "BCPT' TESTS /
1%63 11117777777 170777777
1290 D RN R AR A NN N AN R A AR AR AN AR RRANRRAANRAARARNR AN RN AN AR AR AP AR kA h bk
1271 .SBTTL BT001 "BR'' TEST -POSITIVE OFFSET
1272 R R e e T Y T T T T e P
1273
1274 001630 START:
}%;g 001630 000401 87001: BR BT002 ;TEST THE BR FORWARD
}%;g 001632 000000 EO01: HALT ¢BR FAILED TO LOAD PC PROPERLY
1279 D RRAR R AT AR R AR RN AN RRARRAT AARRRARRRA AR RN AR N AN R AR AT AR A AR A AR
1280 .SBTTL BT002 'BR'' TEST - NEGATIVE OFFSET
1281 D AR AR AR AR AR R AN R AR AR AR AR R A AR AR A A AN R AR R RANNAAR AR RN RAAAA RN R AR A
1282
}ggz 001634 000402 BT002: BR 1002 GO TO TEST INSTRUCTION
1%%2 001636 000403 AQ02: BR BT003 ;60 TO NEXT TEST
%%gg 001640 000000 EX002: HALT s JUST IN CASE
1%%8 001642 000775 I1002: B8R A002 sTEST THE BR - NEG. OFFSET

001644 000000 £2002: HALT ;BR FAILED WITH NEG. OFFSET

MR AL EL LSSt dd el sttt sttt i ssi il sisdassasdldyny

g WERA A AR R AR AN AN AN AN AR AR RAR ARSI A RN R AR AR R AR A AN RN R R R A AR AR R AR RN NN AR

.SBTTL BTO04 "'SCC AND COND. BR'S'* TEST - FLAGS SET

g KR AR AR AR A AN R AN A AR R T TR R AR AR AR RN AR NN AR R AR R R AR ANANRANNRNST RN RN

296 .SBTTL BT003 "BASIC COND. BR'' TEST -~ FLAGS CLEARED

295 D N AR R R AR AR AN R AT AR R AT R AR R R AR RN ARANANRANN NS AAARNRANNRRA AR RN RNk
296

297 001646 100403 BT003: B8M] EQ03 ;BR IF 'N'' SET

298 001650 001402 BEQ EQ03 ;BR IF "7°° SET

299 001652 102401 BvS E0O3 JBR IF 'V'*' SET

%8? 001654 103002 BCC B8T004 JBR IF 'C'" CLEAR

302 001656 000000 EV03: HALT ;EFROR -~ ONE OF THE ABOVE BR'S FAILED
303 sOR THE FLAGS FAILED TO CLEAR ON "'START"
%8? 001660 000772 BR 87003 ;LGCK ON HARD ERROR

306

307

308

309

— d e nd e e e el e D d b b e ) D D b e ) b ) ) ) o e ) =

%}? 001662 000277 BT004: SCC ;MAKE N:C=1111

312 001664 100003 1004:  BPL E004 ;BR IF 'N'' FAILED TO SET

313 001666 001002 BNE £004 ;B8R IF '7°" FAILED TO SET

314 001670 102001 Bv( EQC4 :BR IF 'V'' FAILED TO SET

g;g 001672 103402 B(S 81005 ;BR IF "°C"* SET OK

317 001674 000000 E004:  HALT ;ERROR - ONE OF THE ABOVE BR'S FAILED
318 :OR THA SCC FAILED TO SET ALL THE FLAGS
g}g 001676 000771 BR BT004 :LOCK ON HARD ERROR

221 D AR R A AR A A AN AR AR AR A A AR AR AR AR R R A AR AR A R AN AR N R AN R R A RARN NN AR RN
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1322
1323
1324

N 2
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 27
87005 "'CCC AND COND. BR'S'' TEST - FLAGS CLEARED

.SBTTL BTOOS "'CCC AND COND. BR'S'' TEST = FLAGS CLEARED

N AP A AR AR AR AR AR R AR A AR AN AR AR AR AR AN ARA N ANARNRAREA RN AENAR

SEQ 0026
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CQKDAC

'000wonnbwnmracroarvanwakhaC£S&#d8&ﬁ¥&ﬁKﬁﬁ CB

D A S S S T U ot I e e

ERELSLEE

L Bt R R e R I e s Rt e Y JUFSF W S  SP JT S W J  \ N S T WD Y S S U W Y S S Y
JILER
N= OV~

1373

P11
001700
001702
001704
001706
001710
001712

001714

001716
001720
001722

001724
001726

001730
001732

001734
001736
001740
C01742

001744
001746

001750

001752
001754

001756
001760

07-NOV=7
000257
100403
001402
102401
103002
000000

000771

000257
005000
001402

0000G0
000773

005000
000257

005700
001402
000000
0007/2

005000
000257

005100

100001
103402

002000
000771

TESTS
:09

3
MACY11 30A(1052) 1S-NOV-98 15:26 PAGE 28
BT005 *'CCC AND COND. BR'S'' TEST - FLAGS CLEARED

BT00S: (CC sMAKE N:(=0000
1005: 8mM] EQ05 ;BR IF 'N'' STILL SET
8tQ EQ05 JBRIF "7 STILL SET
8vS E005 ;BRIF 'V'' STILL SET
8(C( BT006 ;BR IF ''C'* GOT CLEARED
EC0S:  HALT JERROR - ONE OF THE ABOVE BR'S FAILED
JOR THE CCC FAILED TO CLEAR ALL FLAGS
BR BT005 ;LOCK ON HARD ERROR

NERAARALLASL LA AL AR sttt it ittt it idadsstssidlssssslls])

.SBTTL BT006 ''CLR XR'' TEST - SETS THE '7Z7'' BIT

AL AAARA AL AR RARAR AR AR RNl etttz 22202222222}

BT006: (CC JMAKE N:(=0000
1006: (LR RO ;TEST THE CLR - IT SHOULD SET """

BEQ 87007 ;BR IF CLR SET "7
E006:  HALT ;ERROR - (LR FAILED TO SET '7'
B8R BT006 LOCK ON HARD ERROR

MR AAAAAASEASAAL AR d Rl arldd it idt il ittt e T sR TR

.SBTTL BT007 *'TST 2ZR'' TEST -~ USING THE (LR

: AANA A AR AN R AN AR RANRAN S AN AR R ARARANANRNAN AN RN AR NRA AN RN AR AR R

BT007: (LR RO ;MAKE [RO] = 000000

ccc ;MAKE N:C=0000
1007:  TST RO JTEST THE TST - T SHOULD SE 7"
BEQ B70°0 ;BR IF "7 SET OK
EN07:  HALT JERROR - (LR FAILED TO LOAD RO WITH
;ALL ZEROES OR TST FAILED
8R BT007 ;LOCK ON HARD ERROR

AL ELEARRE ARl RAl Rttt 2222232222222 2SR RS R LR ¢

' .SBTTL BTO010 *'COM %R'' TEST - SHOULD SET 'N'' AND *C*'

MERAAARALASESR ARl st ist it T T 22 L T2

B7010: (LR RO ;MAKE [RO] = 000000
ccc JMAKE N:(=0000

1010: (O™ RO ;TEST THE COM - [RO] S/B - 177777

BPL £E0°0 :BR IF 'N'' FAILED TO SET
8(S 87011 :BR IF "'C"" SET Ok

E010:  HALT ;ERROR =~ COM FAJLED
BR BT010 ;LOCK ON HARD ERROR

. LA AR RSl EAd s R e R 2 2 2322222222222 ]

.SBTTL BT011 "'COM %R AND ADC XR'' TEST

SEQ 0027
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CQKDAC

R e

1393

L1

001762
001764

001766
001770

001772
001774

001776
002000

202002
002004

002006

002012
002014

002016
002020

002022
002024
002026

002030
002034
002036
002040

002042
002044

002046
002052
002056

002060

07-NOV-

005000
000257

005100
005500

00107
102402

000000
000770

005000
000257

012700

005100
001402

000000
000770

005000
005100
000257

012700
005100
005500
001402

000000
000766

012706
012700
000277

005010

LOGI
78 1

C TESTS
64:09

177777

000000

001000
177776

3
MACY11 30A(1052) 15-NOV-$8 15:26 PAGE 29

87011 "'COM XR AND ADC XR'' TEST SEQ 0028
R I L s Lt T
87011: (LR RO ;MAKE [RO] = 000000
ccc ;MAKE N:(=0000
1011: COM RO ;TEST THE COM - [RO] S/B = 177777
ADC RO ;TEST THE ADC - [ROJ S/B = 000000
BNE EO1 ;BR IF *2°° DID NOT SET
8CS BT012 ;BR IF "'C"" SET OK
EO11:  HALT ERROR ~ COM OR ADC FAILED
BR 81011 cLOCK ON HARD ERROR

MR ALAALL AL LASE ALttt ot it sdtidlsds it s s izlzessssssasals)

.SBTTL BTO12 "MOV  WN,R'' TEST WITH N=177777,[R1=000000

R AR R AR AN AR AR AR AR RN AN R A AR RN R AR R TR AR NN AN AN AN AN ANk

BT012: (LR RO ;MAKE [RO] = 000000
ccc ;MAKE N:C=0000
1012: MOV #-1.R0 ;TEST THE MOV - [RO] S/B = 177777
COM RO ;MAKE [RO] = 000000
BEQ 8T013 ;BR IF *7°' SET
EO12: HALT ;ERROR ~ MOV FAILED TO LOAD RO WITH ALL 1°'S
BR BT012 .LOCK ON HARD ERROR

e NHARA A AR AR A AN A AR AR AR R RN A A AR AR AN A AR AR R AR A AR AN NN ARARAARRN

.SBTTL BT013 "MOV #N,R'' TEST WITH N=000000 (R1=177777

s AR AR A A AR R R AR AN AN RN RN ARRRRRRANANNNR AR AAANNAR A AN RN

B7013: (LR RO ;MAKE [RO] = 000000
coM RO ;MAKE [RO] = 177777
Ccc . SCOPE SYNC

1013: MOV #0.RO ;TEST THE MOV - [ROJ] $/B = 000000
CoM RO sMAKE [KQ] = 177777, SET '*C**
AD( RO ;MAKE [RO] = 000000
BEQ BT014 ;BR IF "7'" GOT SET

EC13:  HALT ;ERROR = MOV FAILED TO CLEAR RO
BR BT013 ;LOCK ON HARD ERROR

g N A AR A A A A AR A AR AR T AR A AR AR AR AT AR AR AR AR AN AN AR AN NP RN RS

.SBTTL BT014 "'CLR (R)'' TEST - [R] = 177776

. AR AR AR A AR RN A AR A NN N AR AT A AR R AN A AN N AR RN AN RN AN ANNRARRARNANNNNNS

BT014: MOV #STACK , SP :SET UP STACK POINTER
MOV #PSw RO *RO POINTS TO PSW
SCC ‘MAKE (PSW] = 017
1C14: (LR (A0) :TEST THE CLR - IT SHOULD CLEAR PSW




COKDA~C KD11-k BASIC LOGIC TE
78 14:09

CQKDAC.PIN

1437
1438
1439
1440
14417
1442
1443
1444
1445
1646
1447
1448
1449
1450
1451
1452
1453
1454
1455
1456
1457
1458
1459
1460
1461
1462
1463
1464
1465
1466
1467
1468
1469
1470
1471
1472
1473
1474
1475
1476
1477
1478
1479
1480
1481
1482
1483
1484
1485
1486
1487
1488
1489
1490
1497
1492

002062

022064
002066

002070
002074

002076
002100

002102
002104

002106
002110

002112
002114

002116
002122

002124

002126
002130
002132
002134

002136
002140
002142

002144
002150
002152

002154

002156
002160

07-NOvV~
001002

000C00
000767

012700
000277

005020
001002

000000
000771

005700
001402

000000
000765

012700
000257

005110

100003
001002
102001
103403

005010
000000
000765

012700
005010
000257

005120

100003
001002

STS

177776

177776

177776

D 3
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BT014 "'CLR (R)'' TEST - [R] = 177776

BNE BT015 ;BR IF CLR MADE '7°' = 0 - IT SHOULD
EO14:  HALT :ERROR~ CLR FAILED TO CLEAR PSW
B8R BT014 ;LOCK ON HARD ERROR

. tt'ﬁttttﬁt*tilﬁttztttttﬁ*itttttttttttt*tttt**ttttitttttﬁtttttttt'ttﬂ

.SBTTL BTO1S "'CLR (R)+'' TEST = [R] = 177776

M WA R RAd ARl atRslidl sl sl il ISR R R YRS R TR T2

BT015: MOV #PSW.RO ;RO POINTS TO PSW
SCC ;MAKE [PSW] = 017
1015: (LR (RO) + sTEST THE CLR = IT SHOULD CLEAR PSW
BNE AO15 ;BR If CLR MADE '2'' = 0 - IT SHOULD
E10715A: HALT ;ERROR- CLR FAILED TO CLEAR PSW
BR B7015 ;LOCK ON HARD ERROR
A015:  TST RO ;AUTO INC SHOULD ZERO KO
BEQ BT016 ;BR IF IT DID
E2015: HALTY JERROR - AUTOINC. FAILED
BR BT015 ;LOCK ON HARD ERROR

. RRRA AR R AR AR A A A R AT AR AR RN R AR AN AN AR NN AN RAR RN AR NN AR AR RN

.SBTTL 87016 ''COM (R)'* TEST = [R] = 177776

. NN AR A AR AR AR AR A RN A A AN R AR R AR R AR R AR R AR AR AR R AN AN RN RN RANRNNRENR

BT016: MOV #PSW,R0O ;RO POINTS TO PSW
ccc ;MAKE (PSW] = 000
1016: COM (RO} ;TEST THE COM - [PSW] S/B = 357
8PL E016 SN:C=1111 2
BNE EO016
8v( EO16
8CS BT017
EO16: (LR (RD) :GO TO KERNEL MODE
HALT ;ERROR = COM FAILED TO MAKE [PSW] = 357
8R BT016 ;LOCK ON HARD ERROR

s WA AR AR A R AN AN AR AN AR AR AR AR RANR AR AR N RARN R ANN IR RN AR N AR

.SBTTL BTG17 *'COM (RO)+'* TEST = [RO] = 177776

MERAASLALASALESASd sttt iRt dRil it sttt sl 22 R L TR

BT017: MOV #P5W, RO ;RO POINTS TO PSW
CLR (RO) ;MAKE TPSW] = 000
ccc :SCOPE SYNC
1017: (OM (RO + ;TEST THE COM - [PSW] S/B = 357

BPL EAMN7 GN:C = 1111 2
BNE FAQ17

SEQ 0029




COKDA-C KD11-k BASIC
CQKDAC.P11

1493
1494
1495
1496
1497

v

07

VI NNV

NN WNAAIRO PO RUAI RO RN PO RO RO MY = b o —3 —ad d b b ol =D

LERR

DWW

— b D e e e D e e ed D e D e e e e D e ) ) e e ) ) ) d e e d D ) e b ) b
(9 IV TV RO W LW, RV, TV, LW LW, LU, R W IV LV, [V IV, RV TV TV, [V, IV, LV 1V, |
W= OV~

VUM AN LA

'S
F o

002162
002164

002166
002172
002174
002176

002200
002202
002204
002206
002212

002214
002216

002220
002224

002234
002236
002240

002242
002244

002246
002250

002252
002254

002256
002260
002262
002264

002266
002270

002272
002274

L
07-NCV~7

102001
103405

012700
005010
005000
005001
005101
000257

010100
100402

000000
000765

005100
001402

000000
000761

005000
005100
005001
000257

010100
001402

000000
000770

0G
8
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177776

177776

177776

MACY11 30A(1052)

E 3
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BTO17 *'COM  (RO)+'" TEST - [RO] = 177776

8v(
8CS

EAQ17: MOV
CLR
HALT
B8R

AD17: 0]
ADC
BEQ

E2017: MOV
CLR
HALT
BR

EAQ17
A017
#PSW.R1
(R1)

;COM FAILED TO SET ALL FLAGS
BT017 ;LOCK ON HARD ERROR
RO :SHOULD MAKE [RO] = 177777
RO ;SHOULD MAKE [RO] = 000000
81020
#PSW,R1
(R1)

;ERROR =~ COM FAILED TO AUTO INC. RO
81017 :LOCK ON HARD ERROR

;S AR R AR AR A A AN AN A A A N A AN AR AR AR R AR R AR A AN AR A AR AR AR AN RN AR RN TR R AR EN

.SBTTL BT020 "MOV RA,RB'' TEST ~ WITH [RA)=177777,[RBI=000000

. A AARA AR AR dRt sl i il i sdll T2 22T TS ER LR L 2R

BT020: MOV
CLR
CLR
(LR
oM
ccc

1C20: MOV
BM]

EAQ20: HALT
BR

AD20: (0
BEQ

F2020: HALT
B8R

#PSW,RO
(RO)
RO :MAKE [R0J=000000
R1 :MAKE [R1]=000000
R1 :MAKE [R11=0207777
:SCOPE SYNC
R1,RO :TEST THE MOV,
a020 ;BR IF "N'' GOT SET
:ERROR-MOV FAILED TO SET 'N''
BT020 :LOCK ON HARD ERROR
RO :[ROJ SHOULD GO TO 00000V
BT02? :BR IF IT DID
;ERROR-MOV FAILED TO LOAD RO WITH 1°S
87020 ;LOCK ON HARD ERROR

3 WA ASE LSRR RS20l TR AT e R R R TR R R R R

.SBTTL S5T021 'MOV  RA,RB'' TEST WITH [RA]=000000,[RB1-177777

M LASAARAR AR RRddRRdlRd Rl s Ltz ez RS RS R S R R R R R R R

BT021: (LR
oM
(LR
CC(

1021: MmOV
BFQ

EAQ21: HALT
B8R

RO ;MAKE [R01=000000

RO :MAKE [R0]=177777

R1 *MAKE [R13=000000
:SCOPE SYNC

R1,R0 STEST THE MOV

AQ21 :BR IF *'7'* GOT SET
:MOV FAJLED TO SET ''7'*

B7027 ;LOCK ON HA/D ERROR

SEQ 0030




F 3
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CQKDAC.P11 07-NOV-78 14:09 BT021 "MOV RA,RB'' TEST WITH [RA1=000000,(RBI=177777 SEQ 0031
1549
1553 002276 005100 ACG21:  (OM RO ;SHOULD MAKE [ROJ=177777 AND SET '°C'*
1551 002300 005500 AD( RO s SHOULD MAKE [R0J=000000
}gg% 002302 001402 BEQ BT022 ;BR IF "7°" SET
1554 002304 000000 £2021: HALT MOV FAILED TO ZERO RO
1%22 002306 000763 BR BT021 ;LOCK ON HARD ERROR
1557 D RN A A A AR AN A R A AN A A A AR AR AN AR A R AN RN AR R R AR AN AR AN AR RN AR AR AR R AN
1558 .SBTTL BT022 'MOV  #N,a#A"" TEST WITH N=17,A=177776
1559 D AR AR A A AR RN AN AR AT AR R AR A AR R R AR AN AR RN AN AN NN NN RN R AR R AR AN RN R AR
1560
}gg; 002310 000257 BT022: ((LC ;MAKE [PSW]=000
}ggz 002312 012737 000017 177776 1022: MOv #17,34PSW JTEST THE MOV
1565 002320 100003 BPL F022 JN:C=1111
1566 002322 001002 BNE E022
1567 002324 102001 Bv( EC22
}ggg 002326 103402 BCS BT023
1570 002330 000000 E022: HALT ;MOV FAILED TO LOAD PSW
}g;; 002332 000766 BR BT022 ;LOCK ON HARD ERROR
1573 D R A A AR R R A A A A A A T R AR N AR A N AR RN R A AR AR AR R AR AR A A AR R R AR R AR AR A
1574 .SBTTL BT023 'MOV RA,(RB)+'' TEST WITH [RAJ=17,[RB]=17777¢
1575 S AN A AR A A AR NN AR AN AN A N AR A RN AR AR AR AN R A AR N R AR R R AR AR RN RN AR AN
1576
1577 002334 012700 177776 B870¢3: MoV #PSW,RO ;RO POINTS TO PSW
1578 002340 012701 000017 MOV #17,R1 ;[SOURCE]=017
}ggg 002344 000257 ccc ;SCOPE SYNC = MAKE <N:(> = 0000
}gg} 002346 010120 1023: MOV R1,(RO)+ JTEST THE MOV
1583 002350 100003 BPL EAQ23 N:C = 1711 2
1584 002352 001002 BNE EAQ23
1585 002354 102001 Bv( EAQ23
}ggg 002356 103402 B(CS AQ23
1588 002360 000000 EAQ23: HALT MOV FAILED TO LOAD PSW
}ggg 002362 000764 ~ B8R BT023 ;LOCK ON HARD ERROR
1591 002364 005700 A023: TST RO ;DID AUTO INC MAKE RO GO TO 0?
;ggg 002366 001402 BEQ BT024 JBRIF IT DID
1594 002370 000000 E2023: HALT MGV FAILED TO AUTO INC. RO
}ggg 002372 000760 BR 81023 ;JLOCK ON HARD ERROR
1567 D NN R AR AR P R R A R AN R A AN AN A AR AA NN AR AN AR AR R AR AN R AR RN AR RN TRD
1598 LSBTTL BT024 ''(MP 4N, Q#A'" TEST WITH N=(A)
1599 .' AR AR AR R AR A A A A R R R A R AR AR NN A AN AR RN NN AN R AR AN NSRRI ANANIRS
1600
1601 002374 (012700 177776 BT024: MOV #PSW,RO RO POINTS TO PSw
1602 002400 005010 CLR (RO) ;MAKE [PSW]=000
1603 002402 000273 273 ;MAKE N:(=1011
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BT024 "'CMP  #N,a#A"" TEST WITH N=(A)

1024: (MP #13, 34PSW JTEST THE (MP
BEQ B7025 JBR IF "7"" GOT SET
E024:  HALT ;CMP FAILED TO SET "7°°
BR 87024 ;LOCK ON HARD ERROR

MR A ARl ARttt it ddiissdiliii il 0222 R RT3

.SBTTL BTO2S5 ''(MP N, a#A’" WITH N > (A)

. L A3 ASRRRR AR R0l Rl i llsdliss il 222222 Y

BT025: (CC ;MAKE (PSW]=000

1025: (™P #17 ,a4PSW JTEST THE (MP
BEQ E0ZS ;BRIF "7°' GOT SET
BR 37026 ;GO TO NEXT TEST

E025: HALT ;C(MP FAILED TO CLEAR 72"
BR BT025 ;LOCK ON HARD ERROR

g LA 2RSSRl Rt dd st AdRRRdRRiit il ittt assns ]

.SBTTL BT026 "(MP AN, a¥A"' WITH N < (A)

e LAA AL ARl as ittt d Rl lddiisdis s it iz s 22

BT026: SCC JMAKE [PSW1=017

1026: (MP #0,a#PSW JTEST THE (MP
BEQ £026 ;BRIF "7"' GOT SET
B8R B1027 ;GO TO NEXT TEST

EC26:  HALT ;CMP FAILED TO CLEAR '7°°
BR BT026 ;LOCK ON HARD ERROR

MR AL ALl Rl izl 222222 222322322222 22

’ .SBTTL BT027 ''CMP R.AN'' TEST WiTH [RI-N

. LA AL ARl il iRt il il i i sl i a2 RS YR R

BT027: MOV #-1,R0 ;MAKE [RQ]=177777
€cc :N:(=0000
1027: (MP RO, #-1 ;TEST THE (MNP
BEQ BT030 ;BR IF (MP SET 77"
EQ27: HALT J(MP FAILED
BR BT027 .LOCK ON HARD ERROR

. PR AR AN AN NN RN A R RN AR R AR AR AR AT IR RN AN NN RN RA AN RR AN R A RARANE RS

.SBTTL BT030 "'CMP R,#N'' TEST JTTH [R] > N

. tAAA SRRl s Rttt eR sl 222222 222X RS R R YR

B7030: MOV #1,RO ;MAKE [R0OJ=000001
SE2 ;SET THE '77'' BIT

1030: CMP RO #=" DTEST THE (MP

SEQ 0032
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COKDA-C KD11-K BASIC LOGIC TE
CQKDAC.P11 07-NOV-78 14:09 BTO30 "'(MP R, #N'' TEST WITH [R] > N SEQ 0033
1661
}gg% 002512 001002 BNE 87031 :BR IF (MP (CLEARED '7"
1664 002514 000000 E030:  KALT ;CMP FAILED
1665 002516 000770 BR BT030 ;LOCK ON HARD ERROR
166¢ N A g R e T T Y PR T T P
1667 .SBTTL BT031 "‘CMP R, AN'' TEST WITH [R] < N
1668 D NN AN RN R N AN AR N R R R T R R RN AN AR NN AN NN A NN T NN VAN NN AN R AN AN N TR RN TN
1669
1670 002520 012700 200001 BT031: MOV #1.RO ;MAKE [RC) = 000001
}2;; 002524 000264 SEZ JSET THE '7'' BIT
}2;2 002526 020027 000017 1031: (™ RO, #17 JTEST THE (MP
}g;g 002532 001002 BNE 81032 ;BR IF CMP CLEARED '7"'
1677 002534 000000 £E031:  HALT ;C(M° FAILED TO SET "7
}g;g 002536 000770 BR BT1031 ;LOCK ON HARD ERROR
1680 R R L L R L e S e X R R L L
1681 .SBTTL BT032 "'(MP (RA)+,RB'' TEST WITH [SOURCEI=[RB]
1682 D N R R A AN R A NN R R R R R AT AN RN AN N AN AN AN RN AR R AN NN AR AR RN AR AR AR
1683
1684 002540 012700 177776 BT032: MOV #PSW,RO ;RO POINTS TQ PSW
1685 002544 012737 000340 177776 MOV #3460, 34PSW ;MAKE [PSw]=340
1686 002552 012701 000340 MOV #340,R1 ;MAKE [DEST]=340
}ggg 002556 000257 cCC ;N:(=0000
1238 002560 022001 1C32: (™P (RO} +,R1 ;TEST THE (MP
}23} 002562 001402 BEQ a032 ;BRIF *7°" GOT SET
1693 002564 000000 EA032: HALT ;CMP FAILED TO ACCESS PSW
}@gé 002566 000764 BR BTC32 ;LOCK ON HARD ERROR
o)
1696 002570 005700 AD32:  TST RO ;77" SHOULD SET
}ggg 002572 001402 BEQ BT033 ;BRIF "7 SET
1699 002574 000000 E2032: HALT :CMP FAILED TO AUTO INC. RO
};8? 002576 000760 BR B1032 cLOCK ON HARD ERROR
1702 D AT AN AR A R AR N R A AN AN AN A A AR AR A AN R R RN AR AN A RN AN R RN R AR RRRNREA R
1703 .SBTTL BT033 "'(MP (RA)+ ,RB'' TEST WITH [SOURCE]>[RR]
1704 . AR R AN AR A TR AN AN A R R T IR AR NN AT N AR N AN RN RN NN NAR A AR RN NN AR
1705
1706 002600 012700 177776 BT033: MoV #PSW,RO :RG POINTS TO PSW
1707 002604 012737 000340 177776 MOV #360,34PSW ;MAKE [PSW]=340
1708 002612 012701 000330 MOV #330,R1 :MAKE [DESTI=330
;;?g 002616 000264 SEZ ;SET THE "7'' BIT
1717 002620 022001 1033: (WP (RO)+,R! STEST THE (MP
1;}2 002622 001002 BNE AQ33 :BR IF “7'" GOT CLEARED
1775 002624 000000 EAQ33: HALT ;CMP FAILED TO ACCESS PSw
1716 002626 000764 BR B81032 ;.0CK ON HARD ERROR
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BT033 "t™MP (RA)+ RR'' TEST WITH [SOURCEI>[RB]

A033:  TST RO ;7' SHOULD SET

BEQ BT034 :BRIF "7 SET
£2033: HALT ;CMP FAILED TO AUTO INC. RO
BR BT1033 ;LOCK ON HARD ERROR

L RN NN RN N RN R R R R AR R AR R AN NN N RN AR AR RRRNRNRRRRRRRRA RN NR RN RS
.SBTTL BT034 ''CMP (RA)+,RB'’ TEST WITH [SOURCE]<[RB]
D AR RN AN NN AN AR AR AR R RN R R NN N R R R RRRAR R AR AR RN RN R AR RARER AR RN AR NN

87034: MOV #PSW,RO ;RO POINTS TO PSW

MOV #330,34PSW ;MAKE [PSW]=330
MOV #340,R1 JMAKE [DEST]=340
5E2 :SET THE '7'' BIT
103%: (™MP (RO) +,R1 :TEST THE (MP
BNE A034 ;BR IF '7°" GOT CLEARED
FAQ34: WALT :CMP FAILED TO ACCESS FSW
B8R BT034 :LOCK ON HARD ERROR
A034: TST RO ;''7'" SHOULD SET
BEQ BT035 ;BR IF "'7°' SET
£2034: HALT ;CMP FAILED TO AUTO INC. RO
BR 87034 :LOCK ON HARD ERROR

MR ALEAALS SRRttt il il 2220022202

.SBTTL BT035 *'CMP RA,RE'' TEST WITH [RA] = [RB]

. LA RAAd RS diliRi 2222223232222 22 222 2R SRLS

6T035: MOV 4125252 ,RO ;MAKE [ROJ = 125252
MOV RO.R1 JMAKE [R1] = 125252
ccc :SCOPE SYNC
I035: (MP R1,RO ;TEST THE (MP
BEQ BT036 ;BR IF """ GOT SET
E035: HALT JERROR - (CMP FAILED TO SET *7°°
BR BT035 .LOCK ON HARD ERROR

R A ALl RRRRRRR R R 222 it 2202228223288 222

.SBTTL BT036 ''CMP RA,RB'' TEST WITH [RA] < [RB]

MERASRLESALAALALARA Rttt iRt a2 il E !

BT036: MoV #25252,R0 ;MAKE [RO] = 25252
CLR R1 ;MAKE [R1] = 000000
SEZ ;SCOPE SYNC - SET ''7*°
1036: (mp R*.RO ;TEST THE (MP
BNE BT03%7 ;BR IF "7°" GOT CLEARED
E036: HALT ;ERROR - (MP FAILED TO SET ''Z2"'
BR B""36 .LOCK ON HARD ERROR

" LA A AAASR AR ARl AR AR RS EES 2R E R RRREEE R R AN R RN RRY

SEQ 0034
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COKDA-C kD11-k BASIC LOGIC T
CQKDAC.P11 07-NOV-78 14:09 BT037 "'C(MP RA,RB'‘ TEST WITH [RA] > [RB] SEQ 0035
1773 .SBTTL BT037 "‘(MP RA,RB'' TEST WITH [RA] > [RB]
1774 D KRR AR RN AR AN AR AR AN R RN N AR AN AN A AN AN AN AN AR ANNR AN AN AN RN RN O AN NN
1775
1776 002740 005000 B7037: (LR RO ;MAKE [ROJ = 000000
1777 002742 012701 000017 MOV #17.R1 JMAKE [R1] = 000017
;;;g 002746 000264 SEZ ;SCOPE SYNC - SET 7"’
};g? 002750 020100 1037: (mP R1.R0 ;TEST THE (MP
};g% 002752 001002 BNt BT1040 ;BR IF "7'' GOT CLEARFD
1784 002754 000000 £037: HALT JERROR -~ CMP FAILED TO SET '°7'°
1;%2 002756 000770 BR BT037 ;LOCK ON HARD ERROR
1787 D RN R AN AN R PR AR AR AR A A AR AR A A AR AR R A AR RN AR AN AR R A RN AR AR R AN AN T AR
1788 .SBTT. 8T040 "MOV  (RA) ,RB'' TEST WITH [SOURCE]=[RB]I=17
1789 , RN A AN R RN R AR AR A A AR N AN R AR A AN R RN AR I RNRR AN AN NNRARNRNRRANRAACR RN AR
1790
791 002760 0127060 177776 BT040: MOV #PSW,RO ;RO POINTS TO PSW
792 002764 005010 CLR {RO) ;MAKE [PSW]=000
793 002766 005001 CLR R1 ;MAKE [R11=000000
002770 000277 SC(C JMAKE N:C=1"11
002772 011001 [10640: MOV (RO) ,R1 ;TEST THE MOV
002774 020127 000017 CMP R1,417 ;DID R1 GET LOADED WITH 000017 ?
003000 001402 BEQ BT041 ;BR IF YES
003002 000000 EC40:  HALT MOV FAILED TO LOAD R1
003004 000765 BR BT040 .LOCK ON HARD ERROR

MR AARALAS LSRR SRR ARARR RSttt ittt it ittt al ] )

.SBTTL BT041 MOV (RA)+,RB'" TEST WITH [SOURCE]=[RBI=17

M (A AR ASS At AdalRERAl R R lRRRRRRdR R 2222 3022002 222 22222 X2 X"

SRR RS

— D d d D e d e D ) e e e D ) md e D d e ) D e h d h b

003006 012700 177776 BT041: MOV #PSW, RO ;RO POINTS _TO PSW
003012 005010 CLR (RO) ;MAKE [PSWI=000
003014 005001 CLR R1 ;MAKE [R131=000000
g}? 003016 000277 SCC ;MAKE N:C=1111
g%% 003020 012001 1041: MOV (RO)+.R1 ;TEST THE MOV
814 003022 020127 000017 (MP R1,#17 ;DID R1 GET LOADED WITH 000017 2
g]g 003026 00141. 8t0Q AQ4? ;BR IF YES
817 003030 000000 EAQ4LT: HALT ;MOV FAILED TO LOAD R1
g}g 003032 000765 BR BT047 ;LGCK ON HARD ERROR
820 003034 005700 AQ4T: TST RO ;''7'" SHOULD SET
125} 003036 001402 BEQ BTU42 ;BR IF "7°" GOT SET
1823 003040 000000 E2041: HALT MOV FAILED TO AUTO INC. RO
}ggé 003042 009761 BR BT041 ;LOCK ON HARD ERROR
7826 M AR A AR AR AR TN AR R AT RN ARARN AN NARRNNAARANAANNARRN AR AR AN
1827 LSBTTL BIC’/2 "XOR RA,RB'' TEST WITH [RAJ = [RB] = 000000

1828 D NN RN R R A R AN AN AR A RN PN R R R AR AN A AN AN AN AR R AN AR RN R RN AR R R AR RN RN R T RN ®
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BT042 '"XOR RA,RB'' TEST WITH [RA] = [RB] = 000000

BT042: (LR RO ;MAKE [RO] = 000000
CLR R1 ;MAKE (R1] = 000000
ccc ;SCOPE SYNC

1062: XOR R1.RO ;TEST THE XOR
TST RO ;RESULT = 000000 ?
BEQ BT043 :BR IF YES

EO42:  HALT ;XOR FAILED
BR BT042

g MHEARAAAA AR AN RANAAR AN RN ENR S A AR AN AR AN RN RN AR RN AN RARANAN A AANATN

.SBTTL BT043 "XOR RA,RB'' TEST WITH [RA] = [RB] = 177777

] RRRA AR A AR RN R A AN A A AT AN AN AR RN RRRAARARAAANRRAANRNANRARA AR AN AR

B7043: (LR RO ;MAKE [RO] = 177777

COM RC
MOV RO,R1 sMAKE [R1] = 177777
ccc :SCOPE SYNC

10643:  XOR R1.RO ;TEST THE XOR
TST RO ;RESULT = 000000 ?
BEQ BT044  :BR IF YES

FO43:  HALT JXOR FAJLED
BR BT043 ;LOCK ON HARD ERROR

g AR AARNNRAAN AN AN AR A AN AR AR AR R AN R AR R RN R AN RN AR AN AR NN RRNS

.SBTTL BT044 'XOR RA,RB'’ TEST WITH [RB1=052525,[RA]=125252

s R AR AN AR AR AR A AR AN AR AR RN AR RN RN R AR AR AN AR NN AN AN A N RN ARNNANARRR

BT044: MOV #125252.R1 :MAKE [R1]=125252
MOV #052525 _RO *MAKE [R01=052525
ccc :SCOPF SYNC

1044:  XOR R1.R0 ;TEST THE XOR
CMP RO, #-1 :RESULT = 177777 2
BEQ 81045 :BR IF YES

EC44:  HALT :XOR FAILED
BR BT045 :LOCK ON HARD ERROR

. KRR AT AR A A A AN AR R AR AT TR R AN AR AN NN RN RN RA R RN R AN RN RN RN AR AN AR NANENY

.SBTTL BT045 "XOR RA,RB'' TEST WITH [RAJ=052525.[RB] 125252

: LA AR AAREA Rl AR d sl sl idlliltl sttt iIzTE eI RS RS R e R R SR R R0 RRE)

BT045: MOV #125252,R0 ;MAKE TROJ=12525¢
MOV #052525 ,R1 sMAKE [R1]=052525
ccd s SCOPE SYNC

10645:  XOR R1,RO sTEST THE XOR

CMP RO, 4-1 SJRESULT = 1727777 2

SEQ 0036
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BT045 "XOR RA,RB'' TEST WITH [RAJ=052525.[RB1=125252

BEQ BT046 ;BR [F YES
E04S5:  HALT ;XOR FAILED
BR BT045 ;LOCK ON HARD ERROR

e RAERARNRARANA AR RN AR AR AN AR AR R RN A AR A AR AR AR RARRAN AN ANRA SRR NN

.SBTTL BT046 GPR ADDRESS INTERRACTION TEST

. AR AR A A AR AR AR AN AR RN A AR N AN ARN T AAANAARRNANRAAANNN AN

BTO046: MOV #125252,R0 ;[RO] = 125252
MOV RO,R1
COM R1 ;[R1] = 052525
MOV R1.R2
COM R2 ;[R2] = 125252
MOV R2,R3
CoM R3 ;R3] = 052525
MOV R3,R4
com Ré ;[R4] = 125252
MOV R4L,RS
oM RS ;[RS] = 052525
1046:  XOR R1,RO :LRO] S/B = 177777
XOR RZ.R0 .[RO] S/B = 125252
XOR R3,R0 :LRO] S/B = 177777
XOR R4 RO ;[RO] S/B = 125252
XOR R5.RO ;[RO] s/B = 177777
(oM RO . [ROJ S/B = 000000
BEQ AQ46 ;BR IF [ROJ WAS 000000
EAD46: HALT ;GPR ADDRESSING PROBLEM
BR 81046 ;LOCK ON HARD ERROR
AQ46:  (MP SP,4STACK ;DID R6 GET DISTURBED
BEQ BASIC ;BR It NOT
E2046: HALT 2R6 ADDRESS PROBLEM

BR BT046 .LOCK ON HARD ERROR

SEQ 0037
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CQKDAC.P11 07-NOV-78 14:09 BT046 GPR ADDRESS INTERRACTION TEST SEQ 0038
1923 XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
1924 // / f/ / / BASIC INSTRUCTION TESTS / / / / [/ /
1352 XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX
1927 003246 005037 063254 BASIC: C(CLR a#ONCE s SIGNAL PROGRAM HEADER TO BE PRINTED
1928 003252 005037 001012 CLR ¥SERTTL ;CLEAR ERROR COUNT FIRST TIME THROUGH
1929 003256 005037 001126 CLR A#SPASS ;CLEAR PASS COUNT FIRST TIME THROUGH
1930 003262 012701 063236 INIT: MOV #PRIFLG,R1 sSET UP TO INIT. COUNTERS AND FLAGS
1931 003266 005021 1%: CLR (R1)+ :CLEAR ONE WORD
1932 003270 020127 063254 cMP R1,#0NCE :CLEARED ALL FLAGS AND COUNTERS?
1933 003274 001374 BNE 1% :BR_IF_NOT
1934 003276 012706 001000 MOV #STACK,SP sSET UP THE STACK POINTER
1935 003302 012737 004030 177770 MOV #4030, 3#UBREAK  ;SET SCOPE SYNC FOR COND CODE OPERATE
1936 003310 012737 177777 001074 MOV #-1,348REGS :FLAG CURRENT STACK POINTER TO BE TYPED
}ggg :IN FIRST ERROR CALL
1929 B fedabbadaodabbbbobdeldododbaioidoiiviaiuiioiinioiaieiii bbb bbb AL AL L LS LA L EEE S LS L
1940 *TEST 0 BASIC "BNE'' TEST WITH Z 0
1941 PR AR R R R AR AN RN AR AR AN R AR R AR RN RAARAR AR AR AR R AR A Ak kAR Ak N
1942 003316 STO
1943 003316 012700 000000 MOV #0,R0 :;LOAD RO WITH TEST NUMBER
}gzg 003322 000257 1%: ccC ;MAKE 2=0
1946 003324 2%:

132; 003324 001002 BNE TST1 ;;TEST THE BNE - IT SHOULD BR
1949 003326 000000 3%: HALT ;BNE FAILED TO LOAD PC

}gg? 003330 000774 BR 1% ;LOCK ON HARD ERROR

1952 *ttt***tt**ttt*ttttttttttttttttttttttttttttttttt*t*tttttﬁ*ttttt
1953 SeTEST 1 BASIC 'BNE'' TEST WITH Z=1

1954 SN AR A AR AR R RN R A AR AR AR AR AR AR AR NANK AN ARNNRRAAANRARR AR AR Rtk
1955 (003332 TST1:

1956 003332 012700 000001 MOV #1,R0 ;:LOAD RO WITH TEST NUMBER

}ggg 003336 000264 1%: SEZ JSET THE '7'' BIT

%823 003340 001001 2%: BNE 3% ;TEST THE BNE - IT SHOULD NOT BR
}gg; 003342 000402 BR TST?2 ::G0 TO NEXT TEST

1963 003344 000000 3% HALT ;BNE BRANCHED WITH Z=1

;ggé 003346 000773 BR 1% .LOCK ON HARD ERROR

1966 Rl obob bbb bl ddodbbiolfobioidoiaiioiaiaiodafobodobe i bbb i A AL LA S S S AL EELL L L
1967 J*TEST 2 BASIC 'BEQ'' TEST WITH Z=1

1968 SRR AR A R RN AR AR AR R AR AR R AR R AR N ANRNN AN RN RRARRARRRR R AR Rk Ak hw
1969 003350 TST2

1970 003350 012700 000002 MOV #2,R0 ;;LOAD RO WITH TEST NUMBER

}g;; 003354 000264 1%: SEZ ;MAKE Z=1

1973 003354 2%:

13;% 003356 001402 BEQ TST3 ;,TEST THE BEQ ~ IT SHOULD BR
1976 003360 000000 3%: HALT ;BEQ FAILED TO LOAD THE PC

1977 003362 000774 8R 13 ;LOCK ON HARD ERROR

::tl’tttt**ilt**ttttttttt*tttitti*titﬁ*itﬁ*tttttitti*ttttttt'ttttt
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1981 003364
003364 012700 000003
1983 003370 000257

1985 003372 001401
1987 003374 000402

1989 003376 000000
1990 003400 000773

S 003402

996 003402 012700 000004
997 003406 005037 177776
1998 003412 000270

2000 003414 100001
2002 003416 000402

2004 003420 000000
2005 003422 000771

2010 003424

2011 003424 012700 0CNCOS
2012 003430 005037 177776
2013 003434 000257

2015 003436
2016 003436 100002

2018 003440 000000
2019 003442 000772

2024 003444

2025 003444 012700 000006
2026 003450 012705 177776
2027 003454 005015

2028 003456 (005003

2029 003460 000277

2031 003462 011503

2033 003464 020327 000017
2034 003470 001402

N 3
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T3 BASIC '"BEQ'' TEST WITH 2=0
*TEST 3 BASIC 'BEQ'' TEST WITH 2=0
;:tttttttttttttttttttt*tttttttt*tﬁttt*ﬁtttttt*ttttttttttttttttttt
TST3:
MOV #3,R0 :;LOAD RO WITH TEST NUMBER
1%: ccc JMAKE 2=0
2%: BEQ 3s ;TEST THE BEQ - IT SHOULD NOT BR
BR TST4 ::G0 TO NEXT TEST
3%: HALT ;BEQ BRANCHED WITH Z=0
BR 1% ;LOCK ON HARD ERROR
;;tttttttt*t*tt**tt*ttt*ttttttitttt*ttttttttttttt***ttttttttttt**
S*TEST 4 BASIC 'BPL'' TEST WITH N=1

R A A LE S ARt a2 st i 232222222022 30T 2 2

*5T4:

MOV #4 RO ;:LOAD RO WITH TEST NUMBER
1%: CLR a#PSW JCLEAR THE PSW
SEN ;MAKE N=1 \
2%: BPL 3% JTEST THE BPL - IT SHOULDN'T BR
BR TSTS ;:G0 TO NEXT TEST
3%: HALT ;BPL BRANCHED WITH N=1
BR 1% ;LOCK ON HARD ERROR
:;tttttttt*tlt*ttttﬁtttt**ttt*ktt**tt*t**tt*ttﬁt*tttt**tt*ttttttt
J*TEST S5 BASIC ‘BPL'' TEST WITH N=9)

SRR AR AR AN AR AR AR R A AN R RN AR NARAAARARY, AANAARANRRARAN AR NS ANRATAR

1875: ¢

MOV #5,R0 ;;LOAD 80 WITH TEST NUMBER
1%: CLR AsPSW ;CLEAR THE PSW

CcccC ;SCOPE S%%C
’%: !

BPL TST6 ;oTEST THE BPL - IT SHOULD BR
3%: HALT JBPL FAILED TO LOAD THE PC

B8R 1% ;LOCK ON HARD ERRCR
::t"t'ttitt'*tlt**ttt*'tﬁ**ttﬁ*ﬁﬁﬁﬁ*iiﬁititiiii'i**itt**itﬁtti!t
;*TEST 6 BASIC "MOV (RA),RB'' TEST = (RA)=177776
;:*t*ﬁﬁ**iﬁtitﬁ***t*t**iit*ti*i**ﬁ***t"*t"***‘it**ﬁ'**'iﬁ‘ttttt
1ST6:

MOV #6,R0 ;.LOAD RO WITH TEST NUMBER

MOV #PSW,RS .SOURCE ADDR = 177776
1%: (LR (R2) JMAKE [PSW]=000

CLR R3 sIDEST] = 000000

SCC JMAKE [PSW]=017
2%: MOV (R5) ,R3 sTEST THE MOV

(MP R>. 217 JCORRECT RESULT ?
BEQ TST7 ;.BR IF YES

SEQ 0039
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003472
003474

003476
003476
003502
003506
003512
003520

003522
003524

003526
003530

003532
003532
003536
003542
003546
003552

003554
003556

003560
003562

003564
003564
003570
003574
003576

003600
003604

003606
003610

003612
003614

003616

L
07-NGv-7

000000
000767

012700
012702
012704
005037
000264

020412
001002

000000
000771

012700
012704
010403
000257
022703
00140¢

000000
000771

020403
001402

000000

°°E¥

000010
063372
000001
063312

000011
125252

125252

4
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16 BASIC "MOV (RA) ,RB'' TEST = (RA)=177776
3%: HALT ;ERROR-MOV FAILED
BR 1% ;LOCK ON HARD ERROR
. ttttitttQttttttttttttttttt*ttttttttttttttttttittttttttttttttttt
DRTEST 7 BASIC "'CMP RA,(RB)'' TEST = [RA] = [DEST]
R L I I I T I IS
ts17:
MOV #7 RO ;.LOAD RO WITH TEST NUMBER

MOV #MBUF O R2

*DEST ADDR = MBUFQ
MOV #125252 R4

;RESULT S / B = 125252

1%: MOV #125252,a#MBUFO ;MAKE [DEST) = 125252
CcCc JMAKE N:(=0000
2%: €, R4, (R2) JTEST THE (MP
BEQ TST10 :;BR IF ''7"' GOT SET
3%: HALT JERROR - CMP FAILED TO SET 727"
BR 1% sLOCK ON HARD ERROR
tt'tttttttt*tttttttttttttttt*ttttttttttﬁtttttitt*ttﬁttttttttttt
*TEST 10 BASIC ''C(MP  RA,(RB)"' TEST - [RAJ] NOT EQUAL TO [DEST]

e R sAlAlt st sl et it s 2222222322222 2332202

TST1O

MOV #10,R0 ::LOAD RO WITH TEST NUMBER
MOV #MBUF 0, R2 “DEST ADDR = MBUFOQ
MOV #1.R4 *RESULT S / B = 000001
1$: CLR SMBUF 0 *MAKE CDEST] = 000000
SEZ *MAKE N:C=0100
2%: CMP R4, (R2) STEST THE CMP
BNE TST11 ;:BR IF "'2'' GOT CLEARED
3% HALT ;ERROR = CMP FAILED TO CLR 7"
BR 1% *LOCK ON HARD ERROR
ttt*ttttitttttttttﬁ*ttQttttttttt.'t.tttttti*i‘ﬁtttttttt*ttt*ﬁit
CRTEST 11 BASIC '‘CMP #N.P'' TEST - N = [R]
e A Eid2222 0222222223 3222332232 ATEY TR LR ETEEETEETEEER LR EEEEE R DY
TST11
MOV #11 RO ;:LOAD RO WITH TEST NUMBER
MOV #125252 .R¢ CRESULT S / B = 125252
1$: MOV R4 ,R3 :[DEST] = 125252
cce SCOPE~ SYNC
2% ™ #125252.R$ STEST THE CM
BEO X :BR IfF N = [R]
3%: HALT SCMP FAILED
BR 1% *LOCK ON HARD ERROR
4$: CMP R4 ,R3 :DID CMP ALTER [DEST]?
BEQ 1s¥12 “:BR IF NO

5%: HAL T ;C(MP DELIVERED A RESULT

SEQ 0040
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CQKDAC
2091

:

SERES R

— ) e )  d o ad ) d d D i d e d e e i —d d D d nd

ASLASLAVIAS AN TN S STV oS ST, N LN S TS TS LS S LN AN LN T S T ST, T ST S LN S TS LN LN [N [, N1, ST, ST, TN TS L.V [N 1S T VT, ST, V1 N,V 1 ¥

SN BN BN BN B B I NN NN AN N NN N AN PO PO PO PN = D D e =D D OO0 O

P11
003620

003656
003656
003662
003666
003672
003674

003676

003709
C03702

003704
003706

003710
003710
003714
003720
003724
003726

003730

003734
003736

07-NOV="
Q00755

012700
005004
010403
000264

022703
001002

000000
000771

020403
001402

000000
000765

012700
012702
012704
005012
000257

010412

020412
001402

000000
000771

012700
012702
012704
005012
000257

012712

020412
001402

000012

0C0001

000013
063312
177777

000014
063312
177777

177777

cC 4
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T11 BASIC "'CMP WN,R'' TEST - N = [R]

BR 1% ;LOCK ON HARD ERROR
".'iit'Q'Qﬁ'ﬁ*.ﬁﬁﬁiﬁ**"'f""**.ﬁttﬁ.*..'."*t.*ﬁ*fﬁ**'ﬁ'.ﬁ"i..'Q
;«TEST 12 BASIC ''CMP #N,R'' TEST =~ N NOT EQUAL TO [R]
".'"Q'.'ti"*.'.ﬁ*..ﬁ'.'Q**t'*'*'f.ﬁ'**.‘*'.ﬁ**t't..t'*'ﬁ"'..i."
TST12:

MOV #12,R0 ;;LOAD RC WITH TEST NUMBER

(LR R4 JRESULT S /7 8 = 000000
1%: MOV R4 R3 J[DEST] = 125252

SEZ ;SCOPE SYNC
2%: (MP #1,R3 ;TEST THE CMP

BNE (8 3 JBR IF N NOT EQUAL TO [R]
3¢ HALT ;CMP FAILED

B8R 1% JLOCK ON HARD ERROR
4%: (MP R4 ,R3 ;:DID CMP ALTER [DEST]?

BEQ TST13 ;:BR IF NO
5¢: HALT :CMP DELIVERED A RESULT

B8R 1% .LOCK ON HARD ERROR
.';ttttt*i.tt"ttt*t.tl‘ﬁ"***!'l'l’*ﬁ*l"t**'****‘**‘t**ﬁ****t‘l’ﬁ*ﬁ**k*ﬂ'*
J«TEST 13 BASIC 'MOV RA,(RB)'' TEST
""*t't.*.'"ttttl‘.’*t.*t*fﬁ*"ﬂ*******“****ﬁ**ﬁﬁ*tﬁ**ﬁﬁ**ﬁﬁ**ﬁﬁ**
TST13:

MOV #13,R0 ;;LOAD RO WITH TEST NUMBER

MOV MBUFO,R2 ;DEST ADDR=MBUFO

MOV #-1,R4 JRESULT S 7 B = 177777
1%: (LR (R2) JMAKE [DEST] = 000000

(CC ;SCOPE SYNC = N:C=0000
°’%: MOV R4, (R2) JTEST THE MOV

CMP R4, (R2) JRESUL'T CORRECT ?

BEQ TST14 ;:BR IF YES
3%: HALT JERROR - MOV FAILED

BR 1$ ;LOCK ON HARD ERROR
:.'itﬁ"*'tﬁ*iﬁ*"ﬁ*ﬁ****"*'******ﬁ***.****ﬁ**.*‘*.*t"'ﬁ‘*.*“‘t'*l"‘
J*TEST 14 BASIC 'MOV  #N,(R)'' TEST
.‘.'l‘ﬁﬁ**'t**"*****t**t*.".'l’**k*“'t“‘***‘*.’..**********..*i'*ttﬁ*
1ST14:

MOV #14 RO ;2LOAD RO WITH TEST NUMBER

MOV #MBUFO ,R2 ;DEST ADDR = MBUFQ

MOV #~-" R4 JRESULT S /7 B = 177777
1%: (LR (R2) ;sMAKE TDEST] = 000000

CCC ;SCOPE SYNC
2%: mMov #=1,(R2) :TEST THE MOV

(MP R, (R2) JRESULT OK ?

BEQ TST1S ;.BR IF YES

SEQ 0041
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51

ALRPINI ORI NN
ol bl d el i h
VAV ALY
NN NN

2183

AVTAVDAS AN TN AN IS T NT, W 1AV [ oS 1o U1a N [oU 1N
— b el b ad b ed d cved b d ) d b
BRI REC 28 TRVRRR

rorONs
AR
o0 :8
Ay —

003740
003742

003744
003744
003750
003754
003760
003764
003770

003772

004000
004002

004004
00400¢

004010
004010
004014
004020
0046024
004030
004034

004036

004044
004046

004050
004052

004054
004054

064
004070
004072
004074

004100
004102

L
07-NOv~7

000000
000770

020412
001402

000000
000766

012700
012704
012702
012705
012712
000257

112765

020412
001402

000000
000766

012700
012702
012704
010412
000257

005737

001401
100002

0G
8

) Yy

000075
177401
0€3316
063312
177777

000001

00001¢
000777
063316
063312
177777

000001

000017
063312
000377

063312

000004

000005

D 4
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T14 BASIC "MOV  #N, (R)'' TEST

3% HALT :ERROR - MOV FAILED

BR 1% :LOCK ON HARD ERROR
:.'tttttttt**ttt*tttt*ttttt*ttttttt*ttttt'tttttti*ttt*tl‘tttttttttt
S+TEST 15 BASIC "MOVB #N.X(R)'' TEST - DEST EVEN
".-tttttttt!tttitttttt*'ttttttttiﬁttttttttiitttﬁittttttttttttitttt
TST1S:

MOV #15 R0 ::LOAD RO WITH TEST NUMBER

MOV 2177401.R4 CRESULT S / B = 177401

MOV AMBUF 1, R2 :DEST ADDR = MBUF1

MOV #MBUF 0 RS :BASE DEST ADDR = MBUFO
1%: MOV #-1, (R2) :[DEST] = 177777

ccc :SCOPE SYNC
28 : MOVB  #1.4(RS) ;TEST THE MOVB

CMP R4, (R2) ;RESULT OK?

BEQ TST16 ;:BR IF YES
3%: HALT sMOVB DELIVERED WRONG RESULT

BR 1% sLOCK ON HARD ERROR
:"ttttttt*ﬁ*t*tlt**ttﬁ**tttttil‘ﬁtt.tt!itt*!ttil’t‘t**ﬁlt*tttttiti
SwTEST 16 BASIC ‘MOVB #N.X(R)'' TEST - DEST ODD
.-;tttttttttt*ttttttttﬁ*t**ttttttﬁtttttittttttttiitﬁttttttttttt'tﬁ
TST16:

MOV #16,R0 ::LOAD RO WITH TEST NUMBER

MOV 4777 R4 CRESULT S / B = 777

MOV #MBUF 1,R2 :DEST ADDR = MBUF1

MOV #MBUF O RS *BASE DEST ADDR = MBUFQ
1$: MOV #-1, (R?) :IDEST] = 177777

cce *SCOPE ™ SYNC
2%: MOVB  #1.5(RS) ;TEST THE MOVB

CMP R4, (R2) ;RESUI T OK?

BEQ TST17 J:BR IF YES
3s: HALT ;MOVB DELIVERED WRONG RESULT

BR 1% *LOCK ON HARD ERROR

IR AN AR AR AR R R R RN AR NN RN RN AR RRR AR A ARNNRRANNANRR NN RRA AR
;*TEST 17 BASIC 'TST a#A’* TEST WITH [A] GT O
IR AN AN R AR R AR AN R AN N AR AR AN AR A ARR AR R ANAN AR RN R R R R R AN
TST17:
MOV #17 R0
MOV #MMBUFO R2
MOV #3°7 R4

:.LOAD RO WITH TEST NUMBER
.DEST ADDR = MBUFQ
;RESULT S /. B = 377 (NO CHANGE)

1%: MOV R4, (R2) ;[DEST] = 377
ccc 2 SCOPE SYNC
2%: TST SMMBUF O sTEST THE TST
BEQ 3 JBRIF """ SET = IT SHOULDN'T BE

BPi TST20 ;.BR IF "WN'' CLEAR - [T SHOULD BE

SEQ 0042




4
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CQKDAC.PHT 07-NOV~78 14:09 117 BASIC "TST aWA'' TEST WITH [A] GT O SEQ 0043
2203
2204 004104 000000 38: HALT ;TST FAILED TO ALTER CODES PROPERLY
2205 004106 000770 BR 1% .LOCK ON HARD ERROR
2206 PN AR AR A A AN NN R AN A AR AR AR AR AR N RN AR AR A NN R AR A NNNNRN AR NN R R AR
2207 J*TEST 20 BASIC "7TST awA'' TEST WITH [A] LT O
2208 e AN AN AR AN RN T AR RN AR RN RAR RN RN AR ARRRRNARANRANNR RN R AN
2209 0064170 1ST120:
2210 004110 012700 000020 MOV #20,R0O ;.LOAD RO WITH TEST NUMBER
2211 004114 012702 06332 MOV #MBUF O, R2 ;DEST ADDR = MBUFOQ
2212 004120 012704 100000 MOV #100000, R4 JMAKE S /7 B_= 100000
2213 004124 010412 1%: MOV R4, (R2) sMAKE [DEST] = 100000 .
gg}g 004126 000257 ccC :SCOPE SYNC
%S}g 004130 005737 063312 ’%: TST SFMBUF O JTEST THE TST
2218 004134 001401 BEQ 3% JBR IF 7" SET - IT SHOULDN'T BE
;S;g 004136 1004C2 8M] 4% JBR IF "W'' SET - IT SHOULD BE
2221 004140 000000 3%: HALT ;TST FAILED TO ALTER CODES PROPERLY
2222 004142 000770 BR ' ;LOCK ON HARD ERROR
2223 004144 020412 4%: CMP R4, (R2) ;DID TST DISTURB [(DEST] ?
Sggg 004146 001402 BEQ TST21 ..BR IF NOT
2226 004150 000000 5%: HALT ;TST DELIVERED A RESULT
Sgsg 004152 000764 BR 1% ;LOCK ON HARD ERROR
2229 RN R A AN R A A AR AR R A R R R R AR AR AN AR R A A AR R AR R AR NN R A R RN AR AR AN R R AN
2230 S*TEST 21 BASIC "'TST a#A"" WITH [AJ = 0
2231 RN RN R AR AR RN AN A A AN AR AR AN N AR AN AN AR AN AR AN A RN AR AN AR AR RN
2232 004154 TST21:
2233 004154 012700 000021 MOV #21,R0O ;.LOAD RO WITH TEST NUMBER
2234 004160 012702 063312 MOV AMBUFO,RC ;DEST ADDR = MBUFO
2235 004164 005004 (LR R4 ;RESULT S /7 B = 0 (IT SHOULDN'T CHANGE
2236 004166 005012 1%: CLR (R2® .[DEST] - 0
Ssgg 004170 000257 ccc ;SCOPE SYNC - Z=0
ggzg 004172 005737 063312 $: TST a#MBUF 0 JTEST THE TST
<
352}' 004176 001402 BEQ 4% ;BR IF TST SET '7°°
22643 004200 000000 3%: HAL T ;TST FAILED TO SET '77*'
ngg 004202 000771 BR 1% ;LOCK ON HARD ERROR
2266 004204 020412 4f: (MP R4, (R2) ;[DEST] STILL = 000000
gsz; 006206 001402 BEQ TST22 ;:BR IF YES
2249 004210 000000 5%: HALT ;TST ALTERED THE [DEST]
552? 004212 000765 8R 1% ;LOCK ON HARD ERROR
2252 DN AR AR A R AR R AR AR AN AN RN R A AN N A AR AR O AR R AN AR R AR AR RN AR AN AN
2253 J*TEST 22 BASIC 'BIT AN,Q#A'" WITH BIT SET IN "A"’
2254 PN R AN R AR AN S AR AN RN AR AT A AN AR R AN NN RA AR KRR R R RN AR AR AN NN Rk kW
2255 004214 1S12¢2: ,
2256 004214 012700 000022 MOV #22 R0 ;;LOAD RO WITH TEST NUMBER
2257 004220 012702 063312 MOV #i'8UFQ,R2 ;DEST ADDR = MBUFQ
2258 004224 012704 040000 MOV #40000,R4 JRESULT S /7 B - 40000
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2259
226
2261
2262
2263
2264
2265
2266
2267
2268
2269
2270
2271
2272
2273
2274
2275
2276
2077
2278
2279
2280
2281
2282
2283

004230
004232

004234
004242

004244
004246

004250

004 346
004352

004354
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010412
000277

032737
001002

000000
000770

012700
012702
005012
000257

032737
001402

000000
000770

005712
001402

000G00
000764

012700

032737
001401
000000
012702
005012
000257

005722
001402

000000
000772

022702
001402

000000

V40000

000023
063312

040000

000024
000001

063312

063314

063312

063312

063234

F 4
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122 BASIC 'BIT #N,a#A'" WITH BIT SET IN "A"

1%: MOV R4, (R?2) JMAKE [DEST] = 40000
SCC ;SCOPE SYNC - Z=1
2% BIT #60000,a#MBUFQ ;TEST THE BIT
B8NE TST23 ;:BR IF Z=0 - IT SHOULD BE
3%: HALT ;BIT FAILED TO CLEAR '7''
BR 18 sLOCK ON HARD ERROR
t't*'tt'ti’tiititt*ttlti‘"t‘*tﬁt*l’*ﬁ*!‘*ﬁ*ﬁ**ﬁ**i*ﬁﬁﬁ*iﬁt***'**tt
*TEST 23 BASIC "BIT #N,a#A'" WITH BIT CLEAR IN 'A"'
. tt*tiQﬁﬁtl’tt!’t*t*ti’ﬁtii*t'ﬁ**tﬁ**'ﬁt*l’tti***‘**l’t"'t-‘"tt'tttl‘t
1$7123:
MOv #23,R0 ::LOAD RO WITH TEST NUMBER
MOV AMBUFO,R2 ;DEST ADDR = MBUFOQ
$: CLR (R2) ;MAXE [DEST] = 000000
CCC ;SCOPE SYNC - Z=0
2%: BIT #60000,a#MBUFO ;TEST THE BIT
BEQ 4% JBR IF 2=1 - [T SHOULD BE
3%: HALT JBIT FAILED TO SET *77*
B8R 1% ;LOCK ON HARD ERROR
4%: TST (R?2) ,DID BIT DELIVER A RESULT
BEQ TST24 ;:BR IF NOT
5%: HALT JBIT DISTURBED THE [DEST]
BR 1% ;LOCK ON HARD ERROR
. **iﬁ**tﬁt**i*l‘t*it**l‘I’tt*tttt*'.ttt*tﬁl’l’*ﬂ'*"l’itl’**tt*l’*ﬁti**tt*
*TEST 24 BASIC ""IST (R)+'' TEST
. l!*t*l’tttt*ttt*ttl’***'t**lﬁttt*ﬁﬁ**ﬁitl**ﬁ**ti***itﬁ*itt**i*itt
TST24:
MOV #24 RO ;LOAD RO WITH TEST NUMBER
.SBTTL USER CONTROLLED BREAKPOINT -- BITO
BIT #81T0,a#BP1LOC ;BREAKPOINT HALT SET 2?7
BEQ .+4 ;BR IF NOT
HALT :BREAK - DEPRESS CONTINUE TO RESTART
MOV #MBUF C,R2 JINITIAL DEST ADDR = MBUFQ
1%: CLR (R2) JMAKE [DEST] = 000000
ccC ;SCOPE SYNC
2%: TST (R2)~ ;TEST THE TST
BEQ 4% JBR IF 77" SET ~ IT SHOULD BE
3%: HALT ;TST FAILED TO SET "7
BR 1% ;LOCK ON HARD ERROR
4%: ' #MBUFQ+2 ,R2 .DID REG. GET AUTO=-INCREMENTED °?
BEQ TST2S J:BR IF YES

5%: HALT ;ST FAILED TO UPDATE REGISTER

SEQ 0044

e
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2315
2316
2317
2318

2361
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RS

W
~
OO~

004356

004470
00447

000765

100002

0000G0
000771

020502
001402

000000
000765

020412
001403

000000
010412
000760

012700
012702
005004
005104
005012
000257

005137

020412
001402

000000
000770

012700

14:09

000025
063330
000377
263332

000020
063312

063312

000027

G &
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USER CONTROLLED BREAKPOINT -- BITO

B8R 1% ;LOCK ON HARD ERROR
."'ttﬁﬁttﬁ't‘tﬁﬁ.ti.ﬁtl"'iitiﬁit..tttitt*tttttiitttittttttlt.ttttt
;*TEST 25 BASIC "TST =(R)'" TEST
.'.'t"t*i*tit'tl*t't*ﬁtittttt'it...ttt"'*.’ﬁ'ﬂ**tﬁﬂ’"ﬁ‘ttltt*'ﬁt**'
T1ST25:

MOV #25,R0 ;2LOAD RO WITH TEST NUMBER

MOV #DWTA+6,R2 ;DEST ADDR = DWTA+6

MOV #377 ,R4 ;RESULT S /7 B = 377
1%: MOV #DWTA+10,RS ;BASE DEST ADDR = DWTA+10

SEN :SCOPE SYNC
°%: TST -(RS) JTEST THE TST

BPL 4% ;BR IF 'N'' CLEAR
3%: HALT JTST FAILED TO CLEAR "N

BR 1% ;LOCK ON HARD ERROR
4%: (MpP R5.R2 ;DID DEST REG GET DECREMENTED?

BEQ 6% ;BR IF YES
5%: HALT JERROR = TST FAILED TO UPDATE DEST REG

BR 1% .LOCK ON HARD ERROR
6%: (MP R4, (R2) ;DID TST ALTER [DEST]?

BEQ TST26 ;:BR IF NOT
s ¥ HALT ;TST ALTERED [DEST]

MOV R&, (R2) JRESTORE [DEST]

B8R 1% ;LOCK ON HARD ERROR
:.'ttiﬁ.ttﬁtil’lt.t.'ttt*"'*t'tttﬁﬁﬁﬁl*tittﬁﬁﬁttﬁtﬁ*ttt**ttttiﬁtt*
JeTEST 26 BASIC "'COM awA’" TEST
.':ttil‘*'.ttﬁitttitt*tt'tittﬁﬁtt.i.iit*‘t.ﬁﬁﬁtitttttttﬁtﬁt*tili!’t
TST26:

MOV #26,R0 ;:LOAD RO WITH TEST NUMBER

MOV #MBUF QO R2 ;DEST ADDR = MBUFQ

CLR R4 JRESULT S 7/ B = 177777

CoM R4
1%: CLR (RS sMAKE [DEST] = 000000

ccc :SCOPF SYNC
°%: (oM SN#MBUFO ;TEST THE (OM

(MP R4, (R2) JRESULT = 177777 2?

BEQ TST27 i:BR IF YES P
3%: HALT ;COM DELIVERED THE WRONG RESULT

BR 1%
""tttttttttltttt'ttt't‘t'i"ttﬁﬁtilﬁtttttt**ﬁﬁt*ttiiiilitﬁit‘iitt
JeTEST 27 BASIC "'INC a#A’" TEST

".""I‘.t‘t‘ﬁiti.ﬁtt'iﬁﬁ*"'.I'.*'*'.'.*'.!t'.ﬁ‘*'l.t"‘.‘.‘....'..
T3127:
MOV #27 R0 ;,LOAD RO WITH TEST NUMBER

SEQ 0045




(QxDA-C Kb11-k BASIC

CQKDAC.P11

2371
2372
2373
2374

2426

004474
004500
004504
004510
004512

004516
004520

004522
004524

004526

004624

07-NOv-

012702
012704
012712
000257

005237

020412
001402

000000
000767

012700
012703
000257

005303

005703
001402

000000
000770

012700
012704
012702
005012
000257

005337

020412
001402

000000
000770

LOGI
78 1

C TESTS
§(:09
063312

000100
700077

063312

000030
000001

000031
177777

063312

063312

H 4
MACY11 30A(1052) 15-NOvV-78 15:

C
127 BASIC "'INC @#A'" TEST

MOV ‘MBUFO'RZ
MOV #100,R4

26 PAGE &7

;DEST ADDR = MBUFQ
JRESULT S /. B = 100
;[DEST] = 77

;SCOPE SYNC

JTEST THE INC

:DID RESULT = 100 ??
;:BR IF YES

;INC DELIVERED WRONG RESULT
;LOCK ON HARD ERROR

I BE 2222223322223 22323 2223222222222 222 2282202222 RiRRRAdRstldld

';tttttﬁﬂﬁtﬁﬁi'itiﬁ*iﬁiQiﬁtt*tﬁtiitttttttttttlttiitﬁﬁtttttttttltt

::LOAD RO WITH TEST NUMBER
EDESTY = +1

*SCOPE SYNC

STEST THE DEC

;RESULT = 000000 2?2
;:BR IF YES

;DEC DELIVERED THE WRONG RESULT

1% MOV #77.(R2)
ccc
2%: INC SMMBUF 0
(MP R4, (R2)
BEOQ TST30
3% : HALT
BR 1%
TRTEST 30 BASIC 'DEC RN'' TEST
"S$130:
MOV #30,R0
1%: MOV #1,R3
cce
2%: DEC R3
ST R3
BEQ TST31
3%: HALT
BR 1%

;1 OCK ON HARD ERROR

SR 2222232222332 322222 2ARRC 2222222 iR dllRd iRl s

STEST 31

BASIC "DEC a#A'" TEST

a2 2222232322232 22 33222000208 R2228d 2 R RaRSRdERRRRRRR RN

TST31:
MOV #31,R0
MoV #-1,R4
MOV AMBUF O ,R2
1% CLR (R2)
ccc
2%: DEC A#MBUF O
CMP R4, (R2)
BEQ TST32
3%: HALT
ERr 1%

;.LOAD RO WITH TEST NUMBER
JRESULT S / B = 177777
;DEST ADDR = MBUFO

;MAKE [DEST] = 000000
2SCOPE SYNC

;TEST THE DEC

:DID RESULT = 177777 ??
;:BR IF YES

;DEC DELIVERED WRONG RESULT
;LGCK ON HARD ERROR

B2 £33 X2 X222 2222222202220t iRdRRRRtRlRRRRRRRRRRRRR AR

SwTEST 32

BASIC “'CLR X(R)"' TESTS

4 2232323223223 221222323 222282022282t RRRRRRRARRR2RRARAEEEERD)

TST32:
MOv #32.R0 )
MOV #MMBUFQ+2 R
(LR R4

% MOV M BUFO,RS

MOV #-1, (R)

;.LOAD RO WITH TEST NUMBER
;DEST ADDR - MBUF(+?
JRESULT S / B = 000000
;BASE DEST ADDR_- MBUFO
;UDEST] = 1727777

SEQ 0046




COKDA=-C KD11=-k BASIC LOG{C

CAKDAC. 07-NOV-78

2427
2428
2429
2430
2431

2432
2433

P11

004630
004632

004636
004640

TESTS
4:09

000257
005065 7200002

020472
001492

¢
132

2’%:

ccc
(LR

(MP
BEQ

2(RS)

R4, (R2)
TST33

4
MACY11 30A(1052) TS-NOV-%B 15:26 PAGE 48
BASIC "'CLR X(R)'' TESTS

s SCOPE SYNC
JTEST THE CLR

JRESULT = 0?
;.BR IF YES

SEQ 0047




COKDA*CP§?11-K BASIC LOGIC TESTS

CQKDAC

263%
2435
2436
2437
2438
2639
5440
2641
2442
2443
2444
5445
2446
24647
2448
2449
2450
2451
2452
2453
2454
2655
2456
2457
2458
2459
2460
2461
2462
2463
2464
2465
2466
26467
268
2469
2470
2471
2472
2473
2474
2475
2476
2477
2478
2479
2480
2481
2482
2483
2484
2485

2487
2488
2489

004642
004644

004646
004646
004652
004656

004660
004662

004664
004666

004670
004674

004676
004700

004702
004702
004706
004712

004714
004716

004720
004722

004724
004730

004732
004734

004736
004736
004742
004746

004750
004752

07-NOV-78 14:09

0Gv000
000765

012700
012703
000257
006303
103402

000000
000771

022703
001402

000000
000764

012700
012703
000261
006303
103002

000000
000771

022703
001402

000000
000764

012700
012703
000257
006103

103402

052524

000034
052525

125252

000035
125252

J 4
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 49
132 BASIC ‘(LR X(R)'' TESTS

3s: HAL T " ;CLR FAILED TO ZERO [DEST]
B8R 1% ;LOCK ON HARD ERROR.
tttttttt'tttttttﬁttttttt.tﬁtitttttttttttttttittttttttttttttttt*
SRTEST 33 BASIC “‘ASL RN'' TEST WITH [DEST]=125252 AND C(0)
a2 2222233233203 282333 2823232233223 222 Y X 3R 2330223222223
TST33
MOV #33.R0O JLOAD RO WITH TEST NUMBER
1$: MOV 2128252 .R3 MAKE [DEST] = 125252
ccce ‘MAKE (=(
2%: ASL R3 JTEST THE ASL - IT SHOULD SET "'
BCS 4% ;BR IF ‘°C"' GOT SET
¢ : HALT JASL FAILED TO SET "'C'' BIT
BR 1% JLOCK ON HRD ERROR
4%: (MP #52524 ,R3 JWAS RESULT = 52524 ??
8EQ TST34 ,.BR IF YES
5%: HALT ;ASL DELIVERED THE WRONG RESULT
8R 1% ;LOCK ON HARD ERROR
*ttﬁ**ttiittt*ttttt*ttttttittttttt*'tttttttt*ttﬁt*ttt*tttt*kttt
tTEST 34 BASIC "'ASL RN'' TEST WITH [DEST]=052525 AND C(1)
. ttttttttt*tttttttt**ttﬁt**t*t*ttttttttt*tttttttt*tttt*ttt**t*ﬁ*
TST34
MOV #34 RO ;:LOAD RO WITH TEST NUMBER
1%: MOV #052525 ,R3 *MAKE [DEST] = 052525
SEC JMAKE C=1
2%: ASL R3 ;TEST THE ASL - IT SHOULD CLR '‘C*'
B(C (A 3 ;BR IF ''C'' GOT CLEARED
% HALT ;ASL FAILED TO CLEAR ''C'
BR 1% ;LOCK ON HARD ERROR
(%: cMP #125252,R3 SRESULT = 125252 ??
BEQ TST35 ;;BR IF YES
5% HALT ;ASL DELIVERED WRONG REULT
BR 1% ;LOCK ON HARD ERROR
ttttﬁtﬁtitti*tttttttttttttttttttt*t*ttttt*ttt*tttt*ttt*titt*ttﬁ
'TEST 35 BASIC "ROL RN'' TEST WITH [DESTI=125252 AND (C(0Q)
. tttttﬁt**ﬁtttttttttttttttt*tttttnttttttt*tttttttttttttﬁtti*titt
78135:
MOV #35 R0 :;LOAD RO WITH TEST NUMBER
1%: MOV #126252 ,R3 ‘MAKE TDEST] = 125252
cce ‘MAKE €=0
2% : ROL R3 ;TEST THE ROL = IT SHOULD SET ¢

BCS be JBRIF *'C"* GOT SET

SEQ 0048




COKDA~C KD11~k BASIC LOGIC TESTS

CQKDAC.P11

2490
2491
2492
2493
2494
2495
2696
2697
2498
2499
2500

004754
004756

004760
004764

004766
004770

004772
004772
004776
005002

005004
005006

005010
005012

005014
005020

005022
005024

005026
005026
005032
005036
005042

005044
005046

005050
00505¢

005054
005056

005060

005062
005064

005066

07-NOV-78 14:09

000000
000771

022703
001402

000000
000764

012700
012703
000261

006103
103002

000000
000771

022703
001402

000000
000764

012700
012702
012704
000257

105712
100402

000000
000773

020412
001403

000000
010412
009766

052524

000036
052524

125251

000037
063330
000377

4
MACY11 30A(1052) 15-NOV-78 15:26_ PAGE 50
135 BASIC 'ROL RN'' TEST WITH [DEST]=125252 AND C(0)

3% HALT ;ROL FAILED TO SET "'
B8R 1% :LOCK ON HARD ERROR
48: CMP #052524 ,R3 ;RESULT = 052524 72
BEQ TST36 ;:BR IF YES
5%: HALT ;ROL DELIVERED WRONG RESULT
BR 1% :LOCK ON HARD ERROR
. ttttt*.!ﬁtl’ttt**ttﬁt**i*itt***tti**tiittti*t*tt***tttittt*tittt
S+TEST 36 BASIC 'ROL RN'' TEST WITH [DEST]=052524 AND C(1)
ttttttttttttt*ttttitlttt*ttttt'l*t'it'ttt**l‘l’l*ﬁ*ltit*ttttttti*
87136
MOV #36 R0 :LOAD RO WITH TEST NUMBER
1%: MOV #052524 ,R3 MAKE [DESTJ = 052524
SEC ‘MAKE (=1
2%: ROL R3 ;TEST THE ROL - IT SHOULD CLEAR (
BCC 4% :BR IF ''C"' IS CLEAR
3% HALT :ROL FAILED TO CLEAR ''C"'
BR 1% :LOCK ON HARD ERROR
4$: CMP #125251,R3 :RESULT = 125251 77
BEQ 1ST37 ::BR IF YES
5% HALT ;ROL DELIVERED WRONG RESULT
BR 1% :LOCK ON HARD ERROR
ﬁt*iitittﬁttti*ti*ttﬁttt*‘t**t*t***ﬁ*ﬁtﬁittttit*tﬁ*tttt***ﬁt**t
“RTEST 37 BASIS *‘TSTB (R)'' TEST - EVEN ADDRESS
e ittt sdsiiddilli il il 22 s I XX TR R R R P A R R P R R P R R R R}
757137:
MOV #37.R0 ::LOAD RO WITH TEST NUMBER
MOV #DWIA+S,R2 *DEST ADDR = DWTA+6
MOV #377 .R4 CRESULT S / B = 377
1%: cce *SCOPE SYNC
2% : ISTB  (R2) :TEST THE TSTB
BM] 4% :BR IF 'N'' SET - IT SHOULD BE
3% HAL T ;TSTB FAILED TO SET 'N'°
BR 1% *LOCK ON HARD ERROR
4$: CMP R4, (R2) ;DID TSTB DISTURB [DEST]
BEQ 15740 *:BR IF NOT
5¢: HAL T :TSTB ALTERED [DEST]
MOV R4, (R2) *RESTORE [DEST]
BR 1% *LOCK ON HARD EROR
.‘ ttﬁ’itttt"ttttttti'titt.til'ttltttt!tttl’litttttttttt**ttttitit*i
LeiSST 40 BASIS *‘TSTB (R)'* TEST -~ ODD ADDRESS
.'"l.tﬂ"“tﬂtﬁtt CARNE AN AN A RN AN RAAANRR RN RNARRN AR RN RN AANRNNARY
13140 -

SEQ 0049




CQKDA~C KD11~k BASIC LOGIC TESTS

CQKDAC.P11

2546
2547
2548
2549
2550
2551
2552
2553
2554
2555

005066
005072
005076
005102
005106

005110
005112

005114
005116

005120
005122

005124
005126
005130

005132
005132
005136
005142
005146

005150
005154

005156
005160

005162
005164

005166

005170
005172

005212
005216

07-NOV-78 14:09

012700
012702
012704
012703
000257

105713
100402

000000
000773

020412
001403

0000G¢9
010412
000766

012700
012702
012704
000257

105737
001402

000000
000772

020412
001403

000000
010412
000765

012760
012702
0:2704
000257

105737
001402

000040
064040
1776401
064041

000041
063326
177400

063326

000042
063330
000377

063331

4
MACY11 30A(1052) 15-NOV-$8 15:26 PAGE 51

BASIS '‘TSTB (R)'' TEST -

#40,R0
#DWTIB+6,R2
#177401 R4
#DWIB+7 ,R3
(R3)

4

1%
R4, (R2)
TST41

R&4, (R2)
1%

0DD ADDRESS

;;LOAD RO WITH TEST NUMBER
;DEST ADDR = DWTB+6
JRESULT S /7 B = 177401
;DEST ADDR USED = DWTB+7

¢ SCOPE SYNC

JTEST THE T1ST8B
;BR IF W' SET - IT SHOULD BE

;TSTB FAJLED TO SET 'N'
cLOCK ON HARD ERROR

JDID TS « DISTURB [DEST]
JsBR IF NOT

cTSTB ALTERED [DEST]
;RESTORE [DEST]
;LOCK ON HARD EROR

N AR R AR AN AR RN AR AR RN I T A RN R AN AR AN AR AN AN AR AN NN AR ANNAN RN AN RA RN

BASIC ''TSTB a#A'' TEST - EVEN ADDRESS

’;t'*ttttttt*!tt*tilﬁt‘i..‘ttttttﬁﬁtt.ﬁ'ﬁﬁtﬁittttttti'ﬁt'ttittttt

#41,R0
ADWTA+4 R
#177600,R4
MDWTA+4

4%

1%

R4, (R2)
TST42

R4, (R2)
1%

J;LOAD RO WITH TEST NUMBER
;DEST ADDR = DWTA+4
JRESULT S 7 B = 177400
+SCOPE SYNC

JTEST THE TSTB
;BR IF '77°" SET = IT SHOULD BE

;TSTB FAILED TO SET *7*°
;LOCK ON HARD ERROR

;DID TSTB DISTURB [DEST]?
;<BR IF NOT

;TSTB ALTERED [DEST]
JRESTORE [DEST]
:LOCK ON HARD ERROR

SRR ALSSARAR AL ARl el Rt il il st YT

BASIC "'TSTB a#A'' TEST - ODD ADDRESS

AR A AR A A A AN AN AR AN RN AT AN AN RARNARNANRNAARARAR RN AR AR A AR AT R RN

T40
MOV
MOV
MOV
MOV
1%: ccc
2%: TSTR
BM]
3%: HALT
B8R
4%: (@) ad
BEQ
s ¥ HALT
MOV
B8R
S*TEST 41
18741 :
MOV
MOV
MOV
1%: CCC
¥ TSTR
BEQ
3%: HALT
BR
(% cMP
BEQ
5%: HALT
MOV
BR
SeTEST 42
15742
MOV
MOV
MOV
1¢: cc
2%: TSTB
BEQ

#42 RO
#DWTA+6,R?
#377 R4
a#DWTA+/7

U

;;LOAD RO WITH TEST NUMBER
;DEST ADDR = DWTA+6
JRESULT S 7 B = 377

:SCOPE SYNC

SJTEST THE TSTB
;BR IF "7 SET - IT SHOULD BE

SE@ 0050




COKDA-C KD11-K BASIC LOG

CAKDAC.P11

2602
2603

005220
005222

005224
005226

005230
005232
005234

005236
005236
005242
005244
005250
005252
005254

005256

005262
005264

005266
005270

005272

005274
005274
005300
005302

005304

005310
005314

005316
005320

005322
005322
005326
005332
005336
005342

07-NOV-78

000000
000772

020412
001403

000000

010412
000765

012700
5

020416
001402

000000
000767

010506

012700
005003
000257

013703

022703
001402

000009
000767

IC TESTS
14:09

000043
177400

000001

000044

063276
063322

000045
063314
125252
063312

L S
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 52
T42 BASIC "'TSTB a#A'’ TEST - ODD ADDRESS

3%: HALT ;TSTB FAILED TO SET '7"

BR 1% JLOCK ON HARD ERROR
4% MP R4, (R2) :DID TSTB DISTURB [DEST]?

BEQ TST43 J:BR IF NOT
S$: HALT :TSTS ALTERED [DEST]

MOV R4, (R2) JRESTORE [DEST]

BR 1% ;LOCK ON HARD ERROR
;:ttttttttﬁtt&lﬁtt*tﬁﬁ*tttﬁttﬁittttﬁttitﬁ**t*tttttttttt*tlt***ttt
;*TEST 43 BASIC 'DECB 1(SP)*!

SRR AN R AR AR AR AR A AR AR AT AN TN AR AR RN AR RANRNNARRAANNNA A RN A AN Nk hh

TST43:

MOV #43.R0 :;LOAD RO WITH TEST NUMBER
MOV SP.RS *SAVE SP
MOV #177400.R4 :RESULT S / B = 177400
1%: MOV RS, SP
CLR -(5P) ;[DEST] = 000000
ccc -SCOPE SYNC
2% : DECB  1(SP) ;TEST THE DECB
CMP R4, (SP) ;RESULT = 1774007
BEQ 4$ :BR IF YES
3¢ HAL T ;ERROR - DECB FAILED
BR 1% :LOCK ON HARD ERROR
4$: MOV RS,SP :RESET THE SP

:'tttttttittttt*tttttlttttt**ti!tﬁtttﬁ*ttttﬁttﬁttttiitttt*ﬁtti*tt

SeTEST 44 BASIC ‘MOV awWA,R'' TEST

e RN AR AN R AR A AR R A AN AR AN A A A N AN AN AR AN RN AR N RN AR RN N A AN NNNNY

TST44

MOV #44 RO ;:LOAD RO WITH TEST NUMBER
1$: CLR R3 :EDESTI = 000000

cce *SCOPE SYNC
28: MOV MATA,R3 STEST THE MOV

cMP #DWTA,R3 JRESULT = DWTA?

BEQ TST4S ;:BR IF YES
3$: HALT ;MOV FAILED TO DELIVER CORRECT RESULT

BR 1% *LGCK ON HARD ERROR
;;tttttt*ttt*titttttt**ttti*ttt*ttttttttit*ttttittttt'tittttttllt
;*TEST 45 BASIC 'MOV #N,X(R)'' TEST
;:tttttttit*tttttttt*tttttt*tttt*ttttitttttﬁttttttttttttttitttttt
TST4S:

MOV #45 RO ;:LOAD RO WITH TEST NUMBER

MOV MBUFQ+2 R?2 JDEST ADDR = MBUF(Q+2

MOV #125252. R4 CRESULT S / B = 125252
1$: MOV #SUF0.R3 *[R3] = BASE DEST ADDR

(LR (R2) . [DEST] = 000000

SEQ 0051




CQKDA-C kD11-k BASIC LOG

CQKDAC.P11

2658
26539
2660
2661
2662
2663
2664
2665
2666
2667
26t
2669
2670
2671
2672
2673
2674
2675
2676
2677
2678
2675
2680
2681
2682
2683
2684
2685
2686
2687
2688
2689
2690
2691
2092
2693
2694
2695
2696
2697
2698
2699
2700
2701
2702
2703
2704
2705
2706
2707
2708
2709
2710
2711
2712
2713

005344
005346

005354
005356

005360
005362

005364
005364
005370
005374
005400
005402

005404

005410
005412

005414
005416

005420
005420
005424
005430
005432

005434

005436
005442

005444
005446

005450
005454

005456
005460

005462
005462

07-NOV~78 1
000257
012763

020412
001402

000000
000765

012700
012703
0127C4
005013
000257

012713

020413
001402

000000
000770

012700
012705
005003
000257

012503

022703
000402

000000
000766

022705
001402

000000
000761

012700

TESTS
4:09

125252 000002

000046
063312
125252

125252

000047
063276

063322

063300

000050

N &
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 53
745 BASIC "MOV AN, X(R)"' TEST

cce :SCOPE SYNC
2% MOV #125252,2(R3)  :TEST THE MOV
CMP R4, (R2) JRESULT 0OK?
BEQ TsT46 2:BR IF YES
3%: HALT ;MOV DEL]VERED WRONG RESULT
B8R 1% ;LOCK ON HARD ERROR
tt*ttttttittt**ttt*ttttt*tt*tttt*tttttttttﬁtttt*ttttt*t*t***ttt
*TEST 46 BASIC 'MOV #N, (R)'' TEST
t*tttttttttttttttt*tttttttttttttt*tttt*ttttt*tt*tttt*tttttttttt
TST46
MOV #46,R0 ;:LOAD RO WITH TEST NUMBER
MOV AMBUF O R3 :DEST ADDR = MBUFO
MOV #125252 R4 SRESULT S 7/ B = 125252
1%: CLR (R3) :EDESTJ = 000000
CCC :SCOPE SYNC
2%: MoV #125252. (R3) ;TEST THE MOV
CMP R4, (R3) JRESULT 0OK?
BEQ TST47 J:BR IF YES
3% HALT ;MOV DELIVERED WRONG RESULT
BR 1$ :LOCK ON HARD ERROR
tt*tt*t*ttttttttt*tttt*tttttttk*tt*ttttttt*tti**t***tttt*ttt*tt
tTEST 47 BASIC 'MOV (RA)+,RB'' TEST
tt*ttttt*ttt**ttt*ttt*t*ttttttt*tttt*ti**ttttttt*tit**t*t*tt**t
TST47
MOV #47 ,R0O J:LOAD RO WITH TEST NUMBER
1%: MOV #ATA RS ;SRC ADDR = ATA
CLR R3 *IDESTI = 000000
cCccC JSCOPE SYNC
2%: MOV (RS) +,R3 ;TEST THE MOV
CMP ADWTA,R3 ;RESULT 0OK?
8R A 3 ;BR IF YES
1% HALT ;MOV DELIVERED WRONG RESULT
8R 1% ;LOCK ON HARD ERROR
A ¥ CMP HATA+2 RS ;DID SRC REG GET INCREMENTED?
BEQ TSTS0 ::BR IF YES
5% HALT JMOV FAILED TO UPDATE SRC. REG.
BR 1% *LOCK ON HARD ERROR
ttitttttt*tttﬁttttttttttttt*ttttt*tttt*tt&ttiit*tttttttttttti*t
-resr 50 BASIC 'MOV awA,aas'’
ttttttttttttt*ttttttittittttttttttttt*tttttﬁttttttttttttttttt*t
$8750:

MOV #50.R0 ;.LOAD RO WITH TEST NUMBER

SEQ 0052




(QKDA-C KD11-K BASIC L
CQKDAC.P1

2714
2715
2716
2717
2718
2719
2720
2721
2722
2723

005466
005472
005476
005500

005502
005510
005512

005514
005516

005520
005520
005524
005530

005532

005536
005540

005542

005544
005544
005550
005554
005560
005562

005564

005570
005572

005574
005576

005600
005600
005604
005610
005612

005614

07-NOV~7

012702
012704
005012
000257

013737
020412
001402

000000
000767

012700
012705
000257

016507

000000
000771

005544

012700
012704
012702
005012
000257

013712
020412
001402

000000
000770

012700
012705
005003
000257

016503

0G
8

STS

TE
09
31
32

& =T

3
3

oo~

063276

000051
005532

000010

000052
063322
063312

063276

000053
063276

000004

063316

5
MACY11 30A(1052) 1S-NOV-98 15:26 PAGE 54
750 BASIC "MOV a#A, a8

MOV #MBUF 1 ,R?
MOV #DWTA R4

:DEST ADDR = MBUF1
JRESULT S / B = #DWTA

1%: CLR (R2) *MAKE CDEST) = 000000

CC :SCOPE SYNC
2%: MOV QFATA @MMBUF1  ;TEST THE MOV

CMP R4, (R2) :DID RESULT = #DWTA ?

BEQ TSTS1 ;:BR IF YES
3% HALT :MOV DELIVERED THE WRONG RESULT

BR 1% “LOCK ON HARD ERROR
".'ttttttttt*tttﬁtttttitttiititittt*ttttttiititttttttttt*ttttttt*t
SaTEST S1 BASIC 'MOV  X(R),PC'' TEST
".-ttttttttt*ttitittttttttttttttttttttttt'tttttttttttt'tttti*ttttt
TSTS1:

MOV #51,R0 ::LOAD RO WITH TEST NUMBER
1%: MOV #2% RS :ERS] = 2% (RASE ADDRESS)

cCC *SCOPE SYNC
2%: MOV 4$-2%(RS) ,PC ;TEST THE MOV - GO TO NEXT TEST VIA 4%
3% HALT :MOV FAILED TO LOAD THE PC

BR 1% “LOCK ON HARD ERROR
4%: 42 :POINTER TO NEXT TEST
:.'*ttttt'ttttttttttitttttttt!ttt'ltil***itittttttﬁttttttttt*tt*tt
S«TEST 52 BASIC ‘MOV a#A,(R)'’ TEST
""*t‘t*tttﬁtﬁtttﬁtt*ttt*tttt'ﬁ*ttitttt**ﬁtt*t***ti*ttt*tttttitttt
TSTS2:

MOV #52 RO :;LO0AD RO WITH TEST NUMBER

MOV #DWTA R4

CRESULT S / B = #DWTA
MOV aauF O, R2

;DEST ADDR = MBUFQ

1%: CLR (R2) JMAKE [DEST]=000000

ccc ;SCOPE SYNC - Z=0
2%: MOV aWATA, (R2) :TEST THE MOV

CMP R4, (R2) :DID RESULT = #DWTA ??

BEQ TSTS3 ;<BR IF YES
3%: HALT MOV DELIVERED WRONG RESULT

BR 1% ;LOCK ON HARD ERROR
:"ﬁﬁ‘**tﬁ*"*"tﬁ*“*.***tf‘.tt'*‘*‘t**.**..**"*'*‘*tt*ﬁﬁﬁﬁ.t*.ﬁ*
;*TEST S3 BASIC 'MOV X(RA) ,RB'’' TEST
:.'tiﬁ*t**tiﬁ*t'ﬁ."'**"'*‘****l’*ﬁl‘**ﬁﬁt'***‘********ﬁ*tﬁt*ﬁﬁt*iﬁti
TSTS3:

MOV #53.R0O ::LOAD RO WITH TEST NUMBER

MOV #ATA,RS *ERS] = BASE ADDR FOR SOURCE (ATA)

1%: CLR R3 ;MAKE [DEST] = 000000
e ;SCOPE SYNC
0% MOV 4{”5) ,R3 JTEST THE MOV

SEQ 0053




CQKDA-C KD11-k BASIC LOGIC TESTS

CQKDAC.P11

2770
2771
2772
2773
2774
2775
2776
2777
2778
2779
2780
2781
2782
2783

2825

005620
005624

005626
005630

005632
005632
005636
005642
005646
005652
005654

005656

005660
005662

005664
005666

005670
005672

005674
005676

005700
005700
005704
005710
005714
005720
005722

005724

005730
005732

005734
005736

005740
005742

005744
005746

022703
001402

000000
000767

010445

020412
001402

000000
000767

020205
001402

000000
000763

012700
012704
012702
012705
005012
000257

013745

020412
001402

000000
000766

020502
001402

000000
000762

07-NOV-78 14:09

064630

000054
063312
125252
063314

000055
063322
063312
063314

063276

5
MACY11 30A(1052) 15-NOV~$8 15:26 PAGE 55
153 BASIC "MOV  X(RA),RB'' TEST

CMP
BEQ

3%: HALT
8R

#DBTA,R3
TST54

1%

JRESULT = #DBTA ??
;:BR [F YES

MOV DELIVERED WRONG RESULT
;LOCK ON HARD ERROR

SRRl ARS SRt ittt it il il itttz s esy)

BASIC MOV RA,-(RB)'' TEST

A SALAL LA REAAR AR Rdt ittt il aidiitil el t sty ]

S*TEST S4

TST54:
MOV
MOV
MOV
1%: MOV
CLR
CCC

2%: MOV

(MP
BEQ

3% HALT
BR

4%: CMP
BEQ

5%: HALT
BR

#54 R0
AMBUF O ,R2
2125252 R4
AMBUF 042 ,RS
(R2)

R&4,-(RS)
R4, (R2)
4%

1%
RZ,RS
TSTS55

1%

;;LOAD RO WITH TEST NUMBER
;FINAL DEST ADDR = MBUF(
SJRESULT S / B = 125252
SINITIAL DEST ADDR = TEMP2 + 2
;MAKE [DEST] = 000000

+SCOPE SYNC

;TEST THE MOV

JRESULT = 125252
:BR IF YES

MOV DELIVERED THE WRONG ESULT
.LOCK ON HARD ERROR

;DID REGISTER GET DECREMENTED 2
;:BR IF YES

MOV FAILED TO UPDATE REGISTER
;LOCK ON HARD ERROR

AR AR AR R RN AR A A A AR AR R A AT AR R AR AN AR ANR RN RARRANRANRAANNSNNRARY

S*TEST SS

BASIC "Mov

a¥A,-(R)"" TEST

MBS A RAEES Al d Rt odt sl Rilst s il dst i3 2222202 2

TSTSS:
MOV
MOV
MOV
1%: MOV
CLR
CCC

2%: MOV

CMP
eeaq

3%: HALT
BR

4% CMP
BEQ

5¢: HALT
BR

#55,R0
#DWTA R4
#MBUF 0, R2
#MBUF 0+2 RS
(R2)

AHATA, = (RS)
R4, (R2)
4%

1%

wnwn
-4

;.LOAD RO WITH TEST NUMBER
JRESULT S /7 B = #DWTA

;DEST ADDR = MBUFQ

;INITIAL DEST ADDR = MBUFQ+2
;MAKE [DEST] = 000000

:SCOPE SYNC

;TEST THE MOV

JRESULT = 000000
:BR IF YES

MOV DELIVERED THE WRONG RESULT
;LOCK ON HARD ERROR

;DID DEST REG GET DECREMENTED ??
;:BR IF YES

;MOV FAILED TO UPDATE REGISTER
;LOCK ON HARD ERROR

SEQ 0054




CQxDA-C KD11-K BAS]

CQKDAC.P11

2826
2827
2828
2829
2830
2831
2832

005750
005750
005754
005760
005764
005770
005772

005774

006000
006002

006004
006006

006010
006010
006014
006020
006024
006030
006032

006034

006040
006042

006044
006046

006050
006054

006056
006060

006062
006062

006072
006074

006076

006100
006104

-7

< ™

07-NC

020412
001402

000000
770

012700
012702
012704
012705
005012
000257

014537

020412
001402

000000
000766

022705
001402

000000
000761

012700
012705
005003
000257

012503

022703
001402

000056
063312
063322
063276

063%12

000057
063312
063322
063300

063312

063276

000060
063276

063322

D 5
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 56
156 BASIC "MOV (R),a#A'" TEST

S ALARA22dAdidddRd it 22 2232232 XSS STL S

S«TEST 56 BASIC 'MOV (R),a#A'' TEST
;;ttl'tttttttttttlttittttttttttttttitttﬁittﬁtttttttttttitttttﬁt*t
TSTS6:
MOV #56,R0 ::LOAD RO WITH TEST NUMBER
MOV #MBUFO,R2 :DEST ADDR = MBUFQ
MOV #DWTA R4 SRESULT S 7 B = #DWTA
MOV #ATA RS :SOURCE ADDR = ATA
1%: (LR (R2) :MAKE (DEST] = 000000
cCC :SCOPE SYNC
2%: MOV (RS) ,34MBUF0 :TEST THE MOV
cMP R4, (R2) :RESULT = ADWTA 2?2
BEQ 1ST57 ::BR IF YES
3% HAL T ;MOV DELIVERED THE WRONG RESULT
BR 1s :LOCK ON HARD ERROR
::titttttttt'tttttttttttttttl!ttit*tttﬁtttt*ttttttttttttttttttt*t
STEST §7 BASIC 'MOY =(R),aWA’" TEST
;:ttttttti**ttttttttttﬁtttttttttttttttttﬁtttttt*ttttﬁ*ttttﬁtttttt
TSTS7:
MOV #57 ,RO ::LOAD RO WITH TEST NUMBER
MOV #MBUF O ,R2 :DEST ADDR = MBUFOQ
MOV ADWTA ,RG CRESULT S / B = #DWTA
1%: MOV #ATA+2,RS SINITIAL SOURCE ADDR = ATA+2
CLR (R2) :MAKE [DEST] = 000000
cceC :SCOPE SYNC
2%: MOV -(RS) ,aAMBUFO  ;TEST THE MOV
(MP R4, (R2) ;RESULT = #DWTA ?
REQ 4% ‘BR IF YES
3¢ HAL T :MOV DELIVERED THE WRONG RESULT
BR 1% :LOCK ON HARD ERROR
4%: cMP #ATA RS :DID THE SRC REG GET DECREMENTED °
BEQ TST60 ::BR IF YES
5§ HAL T :MOV FAILED TO UPDATE SOURCE REG
BR 1% :LOCK ON HARD ERROR
;;ttt*ttttttttttt*tttttﬁtttttttttttﬁtttittt'tt!ttttttttttittttttt
T*TEST 60 BASIC 'MOV  (RA),RB'' TEST

';itt*tﬁt*.t**ttk*ttt*t*tt*tt*tttt!ﬁ'tttt*!tttttlt‘ttttttti.ttttt

TST60:

MOV #60,R0 ..LOAD RO WITH TEST NUMBER
1%: MOV #ATA RS ;INITIAL SOURCE ADDR - ATA
(LR R3 ;MAKE [DEST] = 000000
ccc s SCOPE SYNC
2%: MOv (R5)+,R3 sTEST THE MOV

(MP #C !TA,R3 SJRESULT = ADWTA ?
BEQ 4% JBR IF YES

SEQ 0055




COKDA-C XD11-K BASIC

CQKDAC.P1

2882
2883
2884
2885
2886

07-NOV~

000000
000766

022705
0014C2

000000
000761

012700
012705
0050C3
000257

016503

022703
001402

000000
000767

012700
012737
012705
005003
000257

017503

022703
001402

000000
000767

LOGIC
78 1

TESTS
4:09

063300

000061
063276

000002
064032

000062
063324
063312

000002
177777

000063

063314

E S
MACYT? 30A(1052) 15-NOV-78 15:26 PAGE 57
760 BASIC "MOV  (RA),RB'' TEST

3%: HALT sMOV DELIVERED WRONG RESULT
BR 1% ;LOCK ON HARD ERROR
4% (MP NATA+2 RS ,DID SOURCE REG GET INCREMENTED
BEQ TST61 ;:BR IF YES
5%. HALT ;MOV FAILED TO UPDATE SOURCE REGISTER
BR 1% ;LOCK ON HARD ERROR
;:t.tﬁﬁit**tti**i****ﬁ*titit'Q**ﬁ'***‘*'i*i****ti**ttﬁ**'tt*.*ttt
J*TEST 61 BASIC 'MOV  X(RA),RB'' TEST
;:tttﬁ*iﬁi*tiﬁﬁtiﬁ**ﬁ***tittiﬁ*ﬁﬁ***ﬁﬁittﬁ**'t*ttti*itt*"ititt.t
TST61:
MOV #61 ,R0O ;;LOAD RO WITH TEST NUMBER
MOV #ATA RS ;BASE SOURCE ADDR = ATA
$: CLR R3 JMAKE [DEST] = 000000
ccc ;SCOPE SYNC
2%: MOV 2(R5) ,R3 :TEST THE MOV
CMP #DWTR ,R3 ;RESULT = #DWIB ?
BEQ TST62 ssBR IF YES
3% HALT JMOV FAILED TO DELIVER CORRECT RESULT
BR 1% ;LOCK ON HARD ERROR
:;*tt***ti*i***ﬁ‘t*.ﬁt..‘*"‘ﬁ**'ﬁ*.****ﬁﬁ*tﬁ*ﬁt****ﬁ***t***ﬁﬁ*ti
:+TEST 62 BASIC 'MOV  a@X(RA) ,RB'' TEST

';tﬁt*ttttt*ﬁtttﬁﬁtttﬁ*tttttitttﬁittti*itttttt*ttt*ttt**t**itt*tt

TST62:

MOV #62 RO -:LOAD RO WITH TEST NUMBER
MOV ADWTA+2 ,a#MBUF0+2° ;SET UP ADDRESS TABLE MBUFO
MOV AMBUF 0, RS :BASE ADDRESS IN RS
1$: CLR R3 *MAKE [DEST] = 000000
cCC *SCOPE SYNC
2%: MOV 82(R5) .R3 :TEST THE MOV
CMP #-1,R3 CRESULT = 177777
BEQ. TST6E3 ;:BR If YES
3% HAL T :MOV DELIVERED THE WRONG RESULT
BR 1% *LOCK ON HARD ERROR
;;ﬁtt*tttttttttttl*ttttt*t"ttl*tﬁt**ﬁ*‘*i‘**tt***t**tt*itttttt**
TRTEST 62 BASIC "MOV  (R)+,X(R)'" TEST
::tttttttt*tlttt*tt***tttittttt*ttt***t*tttititittﬁt*ﬁttttﬁtttﬁﬁt
75163:
MOV 263 .RO ;:LOAD RO WITH TEST NUMBER
MOV #125252 R4, SRESULT S / B = 125252
MOV #MBUF 1+ ,R2 *FINAL DEST ADDR = MBUF1+2
MOV R4 , 3MBUF O *SOURCE OPERAND = 125252
i$: MOV #MBUF O ,RS :TRS] = INITIAL SRC ADDR = MBUFO
CLR (R2) *MAKE CDEST] = 000000
cce *SCOPE SYNC

SEQ 0056




2938
2933
2940
2941
2942
2943
2944
2945

CQKDAC.PI1

006246

006252
006254

006256
006260

006262
006266

006270
006272

012565

020412
001402

000000
000766

022705
001402

000000
000761

012700

032737
001401

000000
012702
012704
010405
010412
000257

020537/

001402

000000
000770

020412
001402

000000
000764

012700
012702
012704
005005
010412
000277

020537
001002

(QKDA-C KD11-k BASIC LOGIC TESTS
07-NOV-78 14:09

000004

063374

000064
000002

063312

063312

063234

F 5
15-NOV-78 15:26 PAGE 58
(R)+ ,X(R)"" TEST

MACY11 30A(1052)
163 BASIC "™MOV

2%: MOV (RS)+,4(RS) ;TEST THE MOV
(MP R4, (R2) JRESULT = 125252 ?
BEQ 4% ;BR IF YES
3%: HALT s MOV DELIVERED WRONG RESULT
B8R 1% ;LOCK ON HARD ERROR
4%: (MP #MBUF 0+2,RS ;DID REGISTER GET INCREMENTED ?
BEQ TST64 ;:BR IF YES
5%: HALT MOV FAILED TO UPDATE REGISTER
B8R 1% ;LOCK ON HARD ERROR
R A AR NN AP NN AR A AR NN R A AR AR RNARN R R RN R RN NA A ANRR AR RARN N R
T*TEST 64 BASIC ''(MP R,a#A"’ TEST WITH (R] = [A]
AR A R AR AR AR RN R R R R AR RRER R AR RN RN RAR AN A AR AR
TST64:

MOV #64 RO ;LOAD RO WITH TEST NUMBER
.SBTTL USER CONTROLLED BREAKPOINT -- BIT

BIT #BITY,a#B8PTLOC ;BREAKPOINT HALT SET ?2?
BEG L+ *BR IF NOT
HAL T :BREAK - DEPRESS CONTINUE TO RESTART
MOV MBUFO ,R2 ;DEST ADDR -~ MBUFOQ
MOV #125252 R4 ;RESULT'S / B = 125252
1%: MOV R4 RS *[R5] = SOURCE OP = 125252
MOV R4 . (R2) MAKE [DEST] = 125252
CCC ;SCOPE SYNC
°%: MP RS ,#MBUF 0 :TEST THE CMP
BEQ 4% JBR IF "'7'" WAS SET - IT SHOULD BE
3% HALT ;CMP FAILED TO SET '7'
BR 1% ;LOCK ON HARD ERROR
L% CMP R4, (R2) ;IS RFSULT STILL = 125252 2
BEQ TST6S ;;BR IF YES
5%: HAL T JCMP ALTERED [DEST]
8R 1% ;LOCK ON HARD ERROR
. Qttitttt*ttttittttttﬁ*t'tttttttt*tititttttttt*ttttn'tttﬁttttttt
*TEST 65 BASIC ''(MP R,a#A"" WITH [R] NOT EQUAL TO [A]
. tttttt*tttttttttttttttttt'ttltttlttttﬁtttﬁtttﬁtt*tttttttttitttt
15165:
MOV #65 ,R0O JJLOAD RO WITH TEST NUMBER
MOV #MBUFO R2 ;DEST ADDR = MBUFQ
MOV 2125258 ,R4 ‘MAKE RESULT S / B = 125252
"% (LR RS *[RS] - SOURCE OP - 000000
MOV R4, (R2) *MAKE [DEST] = 125252
SC<C ;SCOPE SYNC - MAKE Z=1
’%: rMpP RS ,3#MBUF(Q JTEST THE (MP
BNF TST6E s BR IF 72=0 - ]T SHOULD BE

SEQ 0057




(QKDA~C kD11=-k BASIC L
C(QKDAC.P11

2995

006402
006404

006406

006412
006416

006424
006426

0064 34
006436

006440
006442

006444
006444
006450
006454
006460
006464

006466

006474
006476

006500
006502

006504
006504
006510
006512
006514

006516

006522
006526

006530
006532

07-NOvV=7

000000
000770

012700
012762
012704
005012
000257

052737

020412
001402

000000
000767

012700
012702
012704
012712
000257

042737

020412
001402

000000
000766

012700
005003
005103
000257

042703

022703
001402

000000
000766

06
8

000066
263312
1727777

177777

000067
063312
000077
177777

177700

000070

177400
000377

063312

063%12

G 5
MACY1T 30A(1052) 15-NOV-78 15:26 PAGE 59
165 BASIC "'(MP R,a#A’" WITH [R] NOT EQUAL TO [A]

3¢ HALT :CMP FAILED TO CLEAR '2"
B8R 1% *LOCK ON HARD ERROR
. it*tit*.ttﬁtlttttttttttitttttttiﬁttt'tttt'ttttittttttl’titttttt
S*TEST 66 BASIC "BIS #N.a#A’' TEST - N=177777.CAJ-000000
T RARANNAARRNAAARNRAARNIN AR RN A AN NN NARANNRAEN AN ANAARAN TR AR A A AN RN
15166
MOV #66,R0 :LOAD RO WITH TEST NUMBER
MOV #MBUF O ,R2 DEST ADDR = MBUFO
MOV #-1,R4 ‘RESULT S / B - 177777
1%: CLR (R2) *[DEST] = 000000
ccc $SCOPE  SYNC
2%: 8IS #-1,4MBUFC STEST THE BIS
CMP R4, (R2) ;RESULT OK?
BEQ 15767 ::BR IF YES
3s: HALT :BIS FAILED TO SET ALL BITS IN BITF.G
BR 1% *LOCK ON HARD ERROR
".ttttttititttttttﬁt‘*it'itttttttttttt"tt'tit"tt!tt'ttttﬁtiittt
TxTEST 67 BASIC 'BIC #N,a#A'" TEST
:‘t'tttttttttttttttttttttt‘ttt*tﬁtttttttﬁtttﬁttttittttttttt*ttttt
1ST67:
MOV #67 R0 ::LOAD RO WITH TEST NUMBER
MOV #MBUF 0 ,R2 *DEST ADDR = MBUFQ
MOV #77 R4 ‘RESULT S / B = 77
1$: MOV #-1"(R2) ‘MAKE [DEST] = 177777
CCC *SCOPE SYNC
2%: BIC #177700.34MBUF0 ;TEST THE BIC
CMP R4, (R2) :DID RESULT = 77 2
BEQ 15770 $;BR IF YES
3. HALT :BIC DELIVERED THE WRONG RESULT
8R 1% :LOCK ON HARD ERROR
. ttttlt*tttttttttttttittttttttt*tttt*tttt*tttittt.tttttttttttttt
SeTEST 70 BASIC "BIC #N.R'' TEST
- tttt'itttttttttttttttt'tIttiitt!ttﬁl‘ttQtttttittﬁt*tttttt'ittttt
1¢170:
MOV #70,R0 :LOAD RO WITH TEST NUMBER
18: CLR R3 tcser = 177777
COM R3
cCe :SCOPE SYNC
2% BIC #177400,R3 :TEST THE BIC
CMP #377 ,R3 ;RESULT 0K?
8fQ 1ST171 J:BR IF YES
3. HAL T ;BIC FAILED TO CLEAR HI-BYTE

B8R 1% ;L0CK ON HARD ERROR

SEQ 0058




(OxDA-C xD11-k BASIC L
TQKDAC.PM

3050
3051
3052
3053
3054
3055
3056
3057
3058
3059
3060
3061
3062
3063

0065 34
006534
006540
006544
006546
006550
006554
006556

006560
006566
006570
006572
006574

006576
006600

006602

006604

006610
006614

006616

006622
006626

0066 30
006632

07-NOvV=7

012700
012703
000257

062703

022703
001402

000000
000766

012700
012702
012704

012712

000257
062712

020412
001402

000071
000357

200377

000CcC  0LO0002

000072
000002
000002
000004

000073
063312
000004
000002

000002

H 5
MACYT1 30A(1052) 15-NOv-78 15:26 PAGE 60
170 BASIC "BIC #N,R'' TEST

B2 2382222222322 2 2232222282220 2222 22220 222200 dddR iRl lald

TeTEST 71 BASIC ‘BIC #N,2(SP)’" TEST

X322 2 32222320222 0222202Z22 20222 R dRRRRRdRddlRitit il )

18771

MOV #71 RO :;LOAD RO WITH TEST NUMBER

MOV #357 R4 “RESULT S / B = 357

MOV SP,R5 SSAVE SP
1%: MOV RS SP “RESET SP FOR ERROR LOOP

MOV #3797 .-(SP) “IDEST] = 377 PUT ON STACK

3 -(SP) *DECREMENT SP

cCC *SCOPE SYNC
2s: BIC #20,2(SP) :TEST THE BIC - CLEAR BIT 4

MOV SP,R2 ;:[R2) = DEST ADDR

3 (R2)+

cMP R4, (R2) SRESULT = 3§72

BEQ 4% ‘BR IF YES
3y HAL T ;BIC FAILED TO CLR BIT2 OF DEST

BR 1% "LOCK ON HARD ERROR
4%: MOV RS,SP
":Iﬁt‘tﬁtiﬁiﬁi.*ﬁtt!.iﬁtfittttﬁiitittitiﬁtiﬁtti'tﬁttilﬁttttttttt‘l
LeTEST 72 BASIC "'ADD #N,RN ‘' TEST
::i!‘tt*.lt.t*t*'tti"tt*"tttt'ttttttit'titt.iﬁtﬁttttt*tﬁtttﬁiﬁt
1$7172:

0 MOV #72 R0 .-LOAD RO WITH TEST NUMBER

1$: MOV 82.R3 ‘MAKE [DEST] - 2

cce “SCOPE SYNC
2%: ADD 82 ,R3 STEST THE ADD

(MP 84 ,R3 ;RESULT = & ?

BEQ 15773 “:BR [F YES
3%: HALT :ADD DELIVERED THE WRONG RESULT

BR 1% *LOCK ON HARD ERROR
"."iti.’.itlitQtttttttﬁttitt*ﬁ.Q*ﬁ*ﬁ."'l’tﬁ't"t.t.tittitt".t'..itt
SeTEST 73 BASI( 'ADDC AN, (R) '' TEST
;;tttttttttt'tttt'ttttt'tititttittttttt**ttitttﬁiﬁttttttttttitttt
1S173%:

MOV #73.R0 ::LOAD RO WITH TEST NUMBER

MOV #MBUF 0, R2 “DEST ADDR - MBUFQ

MOV ¥4 RG ‘RESULT S / B = 4
1 MOV #2°(R2) “MAKE [DEST] = 2

s *SCOPE SYNC
o8 ADD #2,(R2) :TEST THE ADD

¢ R4, {R2) SRESULT = 4 2

BEQ 12774 “.BR IF YES

SEQ 0059

™y



5
IC TESTS MACY11 30A(1052) 15-NOV-$8 15:26 PAGE 61
14:09 173 BASIC "'ADD #N_(R) '* TEST

3106 006666 000000 3s: HALT ;ADD DELIVERED THE WRONG RESULT

(OKDA=C KD11-k BASIC LgG

CQKDAC.P11 07-NOV-7 SEQ 0060

%}8% 006670 000767 BR 1% ;LOCK ON HARD ERROR

2109 NN AN R AN A N AR AR AN R AN IR AN AN A AN AN RN N RN A AN NNRNANAANA AN
3110 ;*TEST 74 BASIC ''ADD #N_X(R)'' TEST

2111 P N AN A AR R AR R AN AR RN RN AN AN AN RN AR AR R E AN RN RN AN A RN RN RN oS
3112 006672 TST74:

3113 006672 ~12700 000074 MOV #74 RO ;sLOAD RO WITH TEST NUMBER

3114 006676 12704 200002 MOV #2 ,Ré JRESULT S 78 =2

3115 006702 012702 263314 MOV #MBUF 0+2 R2 ;DEST ADDR = MBUFO + 2

3116 006706 012705 063312 1%: MOV #MBUF O, RS :BASE DEST ADDR = MBUFO

3117 006712 005012 (LR (R2) JMAKE [DEST] = 000000

%}%g 006714 000257 ccC sSCOPE SYNC

%159 006716 062765 000002 2%: ADD #2,2(R5) :TEST THE ADD

3122 006724 0206412 (MP %,(R2) JRESULT = 2 2

%}SZ 006726 001402 BEQ T1ST7S ;;BR [F YES

3125 006730 000000 3%: HALT JADD DELJVERED THE WRONG RESULT
%}Sg 006732 000765 BR 1% ;LOOP ON HARD ERROR

71728 AN AR R A A AN A AR R AN R A A A AR AR N R AT AR R AR AN R AT AR AN AR AR AN RN RN RN AN
3129 J«TEST 75 BASIC "'CMPB #N, (SP)+'' TEST

2130 IR AR AN NN AR RN AR AN AR RN N RN RN R AR AARA AR RN NAANRA RN AR AN
3131 006734 T1ST75:

3132 006736 012700 000075 MOV #75,R0 ;:LOAD RO WITH TEST NUMBER

3133 006740 012704 177600 MOV #177400,R4 :RESULT S 7/ B = 177400

3134 006744 010605 MOV SP,R5S .SAVE SP

3135 006746 010602 MOV SP.RZ ;SET UP DEST ADDR

3136 006750 005742 TST -(R2) ;R2 CONTAINS DEST ADDR

3137 006752 010506 ¥ MOV RS,SP JRESET SP FOR ERROR LOOP

3138 006754 010446 MOV R4 ,-(SP) JMAKE [DEST] = 177400

%;ZS 006756 000257 ccC ;SCOPE SYNC - '7'' = C

%125 006760 122726 000000 ’%: (MPB #0,(SP)+ ;TEST THE CMPR

%;22 006764 001402 BEQ 4% JBR IF '72'' SET - IT SHOULD BE
3145 006766 000000 3%: HALT ;CMPB FAILED TO SET ''7°'

%}29 006770 000770 BR 1% .LOCK ON HARD ERROR

3148 006772 020506 4%: (mMP RS,SP .DID SP GET UPDATED BY 2?

%}gg 006774 001402 BEQ 6% ;BR IF YES

3151 Q06776 000000 5%: HFALT ;CMPB FAILED TO UPDATE SP PROPERLY
%}g% 007000 000764 BR 1% .LOCK ON HARD ERROR

3154 007002 020412 6%: (MP R4, (R2) ;[DEST] ALTERED?

%}22 007004 001402 BEQ IST76 ;:BR IF NOT

3157 007006 002000 7%. HALT ;CMPB MODIFIED [DEST]

;}gg 007010 000760 BR 1% ;LOCK ON HARD ERROR,

3'160 JINAENENARRARNANEN S AN AR AN AR AR NN AN AR AR R AN R RN RN AR AR A RNAC TR RN
3161 ;*TEST 76 BASIC "'(MPB (RA)+,(RR)+'' = SRC AND DEST EVEN




CQKDA-C kD11-k BASIC LGGIC TESTS
CQKDAC.P11 07-NOV-78 14:09

3162

3163 007012

3164 007012 012700 00076
3165 007016 012704 177777
3166 007022 012702 063324
3167 007026 012705 063330

3168 007032 010203

%}gg 007034 000257

3171 007036 122523

3172

3173 007040 001402

3174

3175 007042 000000

%};9 007044 000770

3178 007046 022703 063325
3179 007052 001402

3181 007054 000000
3182 00705€¢ 000763

3184 007060 022705 063331
3185 007064 001402

007066 000000
007070 000756

007072 020412
007074 001403

007076 000000
007100 010412
007102 000751

NN N AN NN N N NN

— h ol el d d D b ed D
QRIRIL2EBBIR

3198

3200 007104

3201 0C7104 012700 000077
3202 007110 012704 177777
3202 007114 012702 063324
3204 007120 012705 063327
3205 007124 012703 063325
3206 007130 000257

3208 007132 122523
3210 007134 001402

3212 007136 000000
3213 007140 000767

3215 007142 022703 063326
3216 007146 001402

J 5
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 62
176 BASIC "'(MPB (RA)+,(RB)+'' - SRC AND DEST EVEN

e AR ARl SRRl iRl il X 2R 22

18176

MOV #76.R0O ::LOAD RO WITH TEST NUMBER

MOV #-1.R4 ‘RESULT S / B = 177777

MOV #DWTA+2,R2 “DEST ADDR = DWTA+2
1%: MOV ADWTA+6 RS “SRC ADDR = DWTA+6

MOV R2.R3 *R3 GETS DEST ADDR

ccc *SCOPE SYNC
2% : C(MPB  (RS)+,{R3)+ STEST THE CMPB

BEQ 43 :BR IF "7°' = 1 - IT SHOULD BE
3%: HAL T ;CMPB FAILED TO SET '7°°

BR 1% *L0CK ON HARD ERROR
% CMP #DWTA+3,R3 ;DID DEST REG GET UPDATED?

BEQ 68 ‘BR IF YES
5%: HALT :CMPB FAILED TO UPDATE DEST REG

B8R 1% *LOCK ON HARD ERROR
6%: CMP #DWTA+7 RS :DID SRC REG GET UPDATED? )

BEQ 8% ‘BR IF YES
7% : HALT :CMPB FAILED TO UPDATE SRC REG

BR 1% *L0CK ON HARD ERROR
8¢ : CMP R4, (R2) :DID [DEST] GET ALTERED?

BEQ TST77 c:BR IF NOT
G%: HALT :CMPB DELIVERED A RESULT

MOV R4, (R2) *RESTORE L[DESTJ]

BR 1% *LOCK ON HARD ERROR
;:*#ttt**tﬁ*t*t*t*tt*tttitttttﬁ**ﬁ.**ﬁttttﬁtttttttttititittit‘tt‘
LRTEST 77 BASIC "'CMPB (RA)+,(RB)+'' - SRC AND DEST ODD
;;**ttt‘ttttttttttt*ttt*itt*tttttiii'tt*ttﬂ*ttttitt*ﬁti**titlttti
TS177:

MOV #77 RO
MOV #-1,R4

;.LOAD RO WITH TEST_NUMBER
JRESULT S 7 B = 1772777

MOV H#DWTA+2 .R2 ;DEST ADDR = DWTA+?
1%: MoV HDWTA+5 RS ;SRC ADDR = DWTA+5
MOV HDWTA+3 ,R3 JR3 GETS DEST ADDR+1
ccC s SCOPE SYNC
2%: (MPR (RS)+,(R3)+ JTEST THE (MPB
BEQ 4% BRIF "Z7'' =1 = 1T SHOULD BE
3%: HALT ;CMPB FAILED TO SET *'7*'
BR $ ;LOCK ON HARD ERROR
4%: (MP #DWTA+4 R3 ;DID DEST REG GET UPDATED?
BEQ €. ;BR IF YES

SEQ 0061




CQkDA-C kD11-k BASIC LOG

K S
IC TESTS MACY11 30A(1052) 15-NOV-78 15:26 PAGE 63
CQKDAC.P11 07-NOV=78 14:09 177

BASIC ''CMPB (RA)+,(RB)+'* - SRC AND DEST ODD SEQ 0062
3218 007150 000000 5%: HALT .(MPB FAILED TO UPDATE DEST REG
%S}g 007152 000762 BR 1% -LOCK ON HARD ERROR
3221 007154 022705 063330 6%: MP #DWTA+6,RS ;DID SRC REG GET UPDATED?
%SS% 007160 001402 BEQ 8% ;BR IF YES
3224 007162 000000 7%: HALT .(MPB FAILED TO UPDATE SRC REG
%Sgg 007164 000755 BR 1% ;LOCK ON HARD ERROR
3227 007166 020412 8%: CMP R4, (R2) :DID [DEST) GET ALTERED?
gssg 007170 001403 BEQ TST100 ;:BR IF NOT
3230 007172 000000 9%: HALT ;CMP8B DELIVERED A RESULT
3231 007174 010412 MOV R4, (R2) ;RESTORE [DEST]
%%%% 007176 000750 BR 1% ;LOCK ON HARD ERRCR
2234 R AN AR R R AN A AR A AN AR AR AR R A RN RE AN RINRRANR AN RN RN RN RS
3235 S+TEST 100 BASIC ''CMPB (RA)+,(RB)+'‘' = SRC / EVEN.DEST / ODD
2236 IR AR AR A AR AR RN R P AR AR R A R ENANRA AR A NNRARARNNNA AN N RN R AN AN R AN
3237 007200 TST100:
3238 007200 012700 000100 MoV #100,R0 ;;LOAD RO WITH TEST NUMBER
32359 007204 012704 177400 MOV #177400,R4 ;RESULT S /7 B = 177400
32640 007210 012702 063326 MOV HDOWTA+4 R? ;DEST ADDR = DWTA+4
3241- 007214 012705 063330 1%. MOV #DWTA+6, RS ;SRC ADDR = DWTA+6
32642 007220 012703 063327 MOV #DWTA+5 ,R3 :R3 GETS DEST ADDR
ggzz 007224 000257 e :SCOPE SYNC
ggzz 007226 122523 °%: (MPB (R5)+,(R3)+ ;TEST THE CMPB
%Sﬁg 007230 001402 BEQ 48 ;BRIF "7'" =1 - IT SHOULD BE
3249 007232 000000 3%: HALT ;CMPB FAILED TO SET '77°°
ggg? 007234 000767 BR 1% ;LOCK ON HARD ERROR
3252 007236 022703 063330 48%: (MP #DWTA+6,R3 ;DID DEST REG GET UPDATED?
gggz 007242 001402 BEQ 6% ;BR IF YES
3255 007244 000000 5%: HALT .CMPB FAILED TO UPDATE DEST REG
gggg 007246 000762 BR 1% ;LOCK ON HARD ERROR
3258 007250 022705 063331 6%: (MP HDWTA+7 RS ;DID SRC REG GET UPDATED?
%ggg 007254 001402 BEQ 8% ;BR IF YES
3261 007256 000000 7%: HALT .CMPB FAILED TO UPDATE SRC REG
gggg 007260 000755 BR 1% ;LOCK ON HARD ERROR
3264 007262 020412 8%: CMP R4, (R2) ;:DID [DEST] GET ALTERED?
%222 007264 001403 BEQ TST101 ::BR IF NOT
4
3267 007266 000000 9%: HALT ;CMPB DELIVERED A RESULT
3268 007270 010412 MOV R4, (R2) ;RESTORE [DEST]
%598 007272 000750 BR 1% ;LOCK ON HARD ERROR
3271 DR R R R A AR A RN A AN A AN AR AT AN RN RN RN RRRNA R AN AR AR R R RN,
3272 J+TEST 101 BASIC ''(MPB (RA)+,(RB)+'' - SRC / ODD,DEST / EVEN

3273 R L Lt T ™™




COKDA-C KD11-K BASIC
CQKDAC.P11

3274
3275
3276
3277
3278
3279

007274

007304
007310
007314
007316

007320
007322

007324
007326

007330
007334

007336
007340

007342
007346

007350
007352

007354
007356

007360
007362
007364

007366
007366
007372
007376
007402
007406
007412
007416

007420

007424
007426

007430
007432

007434
007440

L
07-NOV=7

001402

000000
000770

022703
001402

000000
000763

022705
001402

000000
000756

020412
001403

000000
010412
000751

012700
012702
012703
012704
012705
012712
000257

112563

020412
001402

002000
000765

022705
001402

IC TESTS
14:09

000101
177777
063324
063327

063325

063330

000102
063316
063312
177400
064630
177777

000004

064631

L 5
MACY1T1 30A(1052) 15-NOV-78 15:26 PAGE 64
101 BASIC ''C(MPB (RA)+,(RB)+'' ~ SRC / ODD,DEST / EVEN

TST101:

MOV #101,R0 ;;LOAD RO WITH TEST7N9MBER

MOV #-1,R4 :RESULT S /' B = 17777

MOV #DWTA+2 ,R2 :DEST ADDR = DWTA+2
1$: MOV #DWTA+S RS ‘SRC ADDR = DWTA+S

MOV R2,R3 *R3 GETS DEST ADDR

cce *SCOPE SYNC
2%: CMPB (R5)+, (R3)+ :TEST THE CMPB

BEQ 4$ ;BR IF *2'* = 1 = IT SHOULD BE
3%: HALT ;CMPB FAILED TO SET 7'

BR 1% *LOCK ON HARD ERROR
L$: CMP #DWTA+3,R3 ;DID DEST REG GET UPDATED?

BEQ 5% ‘BR IF YES
5¢: HALT ;CMPB FAILED TO UPDATE DEST REG

BR 1% :LOCK ON HARD ERROR
6% : CMP #DWTA+6,RS :DID SRC REG GET UPDATED?

BEQ 8$ *BR IF YES
7%: HALT :CMPB FAILED TO UPDATE SRC REG

BR 1% *LOCK ON HARD ERROR
8$: CMP R4, (R2) ;DID [DEST] GET ALTERED?

BEQ TST102 ::BR IF NOT
9% : HALT :CMPB DELIVERED A RESULT

MOV R4, (R2) *RESTORE LDEST]

BR 1% *LOCK ON HARD ERROR
;.'tt**tttt***tt*ttttt*ttt*tttttttt***tttﬂ'*t**ﬂt*t*ltﬁt*ﬁt***t***ﬁ
SATEST 102 BASIC ‘MOVB (RA)+.X(RB) - SRC EVEN / DEST EVEN
""tttttttt*t*ttt*tt**ttt**ttt**tt*t*tttttttttﬁﬁ*ittt***ttt*tttttt
TST102:

MOV #102 RO ::LOAD RO WITH TEST NUMBER

MOV AMBUF 1 .R2 *DEST ADDR = MBUF1

MOV AMBUF O R3 :BASE DEST ADDR = MBUFO

MOV #177400 R4 SRESULT S 7 B = 177400
1%: MOV #DBTA RS *SRC ADDR = DBTA

MOV #-1,(R2) :[DEST]) = 177777

cCC *SCOPE SYNC
2% : MOVR (RS)+,4(R3) STEST THE MOVB

cMP R4, (R2) ;RESULT 0OK?

BEQ 4% ‘BR IF YES
3¢ HALT ;MOV DELIVERED WRONG RESULT

BR 1% :LOCK ON HARD ERROR
4%: CMP #C3TA+1,RS ;DID SRC REG GET INCREMENTED BY +1

BEQ TST103 ;.BR IF YES

SEQ 0063




CQKDA-C kKD11=K BASIC LOG

CQKDAC.P11

3330

007442
007444

007446
007446
007452
007456

007514
007520

007522
007524

007526
007526
007532
007536
007542
007546
007552
007556

007560

007564
007566

007570
007572

007574
007600

007602
007604

07-NOV-78

000000
000760

012700
012702
012703
012704
012705
012712
000257

112563

020412
001402

000000
000765

022705
001402

000000
000760

012700
012702
012703
012704
012705
0127212
000257

112563

020412
001402

000000
000765

022705
001402

002009
000760

1C TESTS
1

TE
4:09

000103
063376
063312
000777
064635
177777

000005

064636

000104
063316
063312
000377
064630
177777

000005

064631

M 5
MACY11 30A(1052) 15-NOV-78 15:26 PAGE 65
1102 BASIC "MOVB (RA)+,X(RB) = SRC EVEN / DEST EVEN

5%: HALT ;MOVB FAILED TO UPDATE SR(C REG
BR 1% ;JLOCK ON HARD ERROR
:;*itﬁ*'iti*tﬁti*i*i**'tt***.'ﬁlﬁt*ﬁt'ﬁ*.*.t‘t*'ﬁ**'*ﬁ***tQttﬁﬁi‘
s*TEST 103 BASIC 'MOVB (RA)+_X(RB) - SRC ODD / DEST 0ODD
:;tittt****tt.ﬁ*l"tt*t*ﬁﬁt‘ﬁﬁttﬁ*ﬁ*iﬁit*tiitﬁititit.*tttttttttt*
TST103:
MOV #103,R0 ;:LOAD RO WITH TEST NUMBER
MoV #MBUF 1,R2 ;DEST ADDR = MBUF1
MOV #MBUFO ,R3 ;BASE DEST ADDR = MBUFO
MOV ¥777 R4 JRESULT S 7 8 = 777
1%: MOV #DBTR+1 RS :SRC ADDR = DBTB+1
MOV #-1,(R2) ;(DEST]) = 177777
ccc .SCOPE SYNC
’%: MOVB (R5)+,5(R3) ;TEST TAE mMOVB
CMP R4, (R2) JRESULT 0OK?
BEQ 4% ;BR IF YES
3%: HALT MOV DELIVERED WRONG RESULT
BR 1% sLOCK ON HARD ERROR
4%: CMP #DBTB+2 RS ;DID SRC REG GET INCREMENTED BY +1
BEQ TST104 ;:BR IF YES )
5%: HALT sMOVB FAILED TO UPDATE SRC REG
BR 1% ;LOCK ON HARD ERROR
:;i*t*ttt*tt***.ﬁt*t**ﬁtti'*t'tit*iﬁﬁt*ﬁitti"it!!.ttt'ﬁt‘it'itﬁt
J*TEST 104 BASIC "MOVB (RA)+,X(RB) - SRC EVEN / DEST 0ODD
;;ﬁ*iﬁt**tti**ittttttt**it'*i*‘ttﬁﬁtt‘ﬁﬁ****ﬁﬁ*ﬁﬁﬁﬁ*ﬁﬁﬁ'ﬁiiiﬁ*tﬁi
TST104:
MOV #104 ,RO 2.LOAD RO WITH TEST NUMBER
MOV #MBUF 1 ,R2 ;DEST ADDR = MBUF1
MOV #MBUFO ,R3 ;BASE DEST ADDR = MBUF(
MOV #377 R4 JRESULT S 7 B = 377
1%: MOV #DBTA RS ;SRC ADDR = DBTA
MOV #-1,(R2) ;JIDEST] = 177777
€cc ;SCOPE SYNC
2%: MOVR (R5)+,5(R3) JTEST THE MOVB
(MP R4, (R2) JRESULT 0K?
BEQ 48 ;BR IF YES
3%: HALT MGV DELIVERED WRONG RESULT
BR 1% ;LOCK ON HARD {ERROR
4%: (MP #DBTA+1,RS :DID SRC REG GET INCREMENTED BY +1
BEQ TST105 ;BRI YES
5%: HALT ;MOVB FAILED TO UPDATE SRC REG
BR 1% LOCK ON HARD ERROR
:;it****ﬁ**t't**t*t***tl**'*t*iﬁﬁ*t!'*"t‘****t*t‘*ﬁ**ﬁ*ﬁﬁiﬁﬁ**iﬁ
;*TEST 105 BASIC 'MOVB (RA)+,X(RB) = SRC ODD / DEST EVEN

;;ttttttttlttﬁttttt*ttti*tt*tttti*tttt*t*t*titttttttt**ti*lt'tttt

SEQ 0064




CQKDA~C KD11=K BASIC LgG

CQKDAC.P11

3386
3387
3388
3389
3390
3391
3392
3393
3394
3395
3396
3397
3398
3399
3400
3401
3402
3403
3404
3405
3406
5407
3408
3409

REPRRRRRRIRRRYR
NS omIG AR WO

S
T

3425

P S
3

007606
007606
NQ761¢2

07616

007644
007646

007650
007652

007654
007660

007662
007664

007666
007666
007672
007676
007702
007706
007710
007714

007716

007722
007724

007726
007730

007732
007736

007740
007742

007744
007744
007750
007754

07-NOV=-7

112563

020412
001402

000000
000765

022705
001402

000000
000760

012700
012702
012704
012705
010203
012713
000257

116523

020412
001402

000000
000766

022703
001402

000000
000761

012700
012702
012704

IC TESTS
14:09

000105
063316
063312
177401
064635
177777

000004

064636

000106
063312
177401
064032

177777

000002

063313

000107
063312
1774601

MACY11 30A(1052)
T105

5
15-NOV-78 15:26 PAGE 66

BASIC "MOVB (RA)+,X(RB) - SRC ODD / DEST EVEN

TST10S:
MOV
MOV
MOV
MOV

1%: MOV
MOV
ccc

2%: MOvVB

CMP
BEQ

3%: HALT
BR

4%: CMP
BEQ

5%: HALT
BR

#105,RO ;:LOAD RO WITH TEST NUMBER
MMBUF 1.R2 :DEST ADDR = MBUF1
MMBUF 0 .R3 :BASE DEST ADDR = MBUFO
#177601 R4 ‘RESULT S / B = 177401
#DBTB+1.RS *SRC ADDR = DBIB+1
#-1,(R2} :CDEST] = 177777

:SCOPE SYNC
(RS) +,4(R3) ;TEST THE MOVB
R4, (R2) :RESULT 0K?
43 :BR IF YES

'MOV DELIVERED WRONG RESULT
18 ;LOCK ON HARD ERROR
#DBTB+2 RS :DID SRC REG GET INCREMENTED BY +1
TST106 ;:BR IF YES

:MOVB FAILED TO UPDATE SRC REG
1% *LOCK ON HARD ERROR

- tt*ttttt‘ttt*tttttlﬁtttttt*titttttﬁﬁtlit*tttt*titltt!tt*tttt*tt

S*TEST 106

BASIC 'MOVB 2(RA),(RB)+'' TEST - SRC EVEN / DE3T EVEN

* t**tttt*ttt*tttt*ttttt*ttt*tttﬁttttit.ttttﬁtttt*ﬁﬁﬁtttttttti*ii

787106:
MOV
MOV

1%: MOV

°%: MOVB

3%: HALT

4% (MP

5%: HALT

#106 RO ;.LOAD RO WITH TEST NUMBER
#MBUFO,R2 ;DEST ADDR = MBUFQ

#177401 ,R4 :RESULT S / B = 177401
#DWTR,R5 :SRC ADDR = DWTB

R2,R3 sR3 GETS DEST ADDR
#-1,(R3) :[DEST] = 177400

s SCOPE SYNC
2(R5),(R3)+ :TEST THE MOVB

R4, (R2) JRESULT OK?
4% JBR IF YES
+MOVB DELIVERED WRONG RESULT
19 ;LOCK ON HARD ERROR
#MBUF O+1,R3 ;DID DEST REG GET INCREMENTtD?
TST107 ::BR IF YES
;MOVB FAILED TO AUTO INCREMENT DEST REG
1% :LOCK ON HARD ERROR

ﬁtt***t*tt*ti*ttttttttt*lt‘t*lt*ttﬁ*tttﬁﬁttttttltt*ttttt*tttttt

*TESY 107

BASIC ‘MOVB 2(RA),(RB)+'' TEST =~ SR( ODD / DEST EVEN

. t*ttltttt*tt*t*tt*tttttittt**itt*tt***tt**ttti*ttttttttttt‘tttt

187107:
MOV
MOV
MOV

#107 ,RO ..LOAD RO WITH TEST NUMBER
#1°3UF0,R2 ;DEST ADDR = MBUFQ
#177401 ,Ré :RESULT S 7 B = 177401

SEQ 0065




COKDA-C KD11-K
CQKDAC.P11

34462
3443
34644
3445
3446
3447
3448
3449
3450
3451

007750
007764
007766
007772

007774

010000
010002

010004
010006

010010
010014

010016
010020

010022
010022
010026
010032
010036
010042
010046
010052

010054

010060
010062

010064
C10066

010070
010074

010076
010100

—t e el e el —t —d
OCOOO0OO0O0OOO
e e e e e e B o )

WNON) = 200
'\)O‘NO‘N&NN

Slelelelolelele)

012705
010203
012713
000257

116523

020412
001402

000000
000766

022703
001402

000000
000761

116523

020412
001402

000000
000765

022703
001402

000000
000760

w310 LOGIC TESTS
C -NOv-78 14:09

064634
177777

000001

063313

000110
063312
000777

177777

000002

063314

000111
063312
000777
064634
063313
177777

MACYTT 30A(1052) 15-NOvV-/8
MOV #DBRTRB,RS

1%: MOV R2,R3
MOV #<1,(R3)
CCC

2%: MOVB 1(RS),(R3)+
M R4, (R2)
BEQ (A 3

3%: HALT
BR 1%

A ¥ cMP MMBUF0+1,R3
BEQ TST110

5¢: HALT
B8R 1$

6
cY 15:26 PAGE 67
1107 BASIC "MOVB 2(RA),(RB)+'' TEST = SRC ODD / DEST EVEN

:SRC ADDR = DBTB
;R3 GETS DEST _ADDR
;[DEST] = 177777
;SCOPE SYNC

;TEST THE MOVB

JRESULT 0K?
;BR IF YES

-MOVB DELIVERED WRONG RESULT
.LOCK ON HARD ERROR

;DID DEST REG GET INCREMENTED?
::BR IF YES

;MOVB FAILED TO AUTO INCREMENT DEST REG
sLOCK ON HARD ERROR

AN A AR R R IR NN AN AN AR AN AR R AR RN RA N RN TN RNARARARAAAANNNRANNT A AN ANR

BASIC "MOVB 2(RA),(RB)+'' TEST - SRC EVEN / DEST 0ODD

PR AR RN AN AR AR AARA A AN NN ANNNRRAARAANANRRAAANRARA RN AR AN AR R AR

LRTEST 110

TST110:
MOV
MOV
MOV
MOV

1%: MOV
MoV
ccc

2%: MOVB

CMP
BEQ

7% HALT
BR

4%: CMP
BEQ

5%: HALT
B8R

#110,R0
#MBUFO,R2
#777 ,Ré
#DWTB,RS
#MBUF 0+1,R3
#-1,(R2)

2(R5),(R3)+
R4, (R2)

4%

1%

AMBUF 0+2,R3
TST111

1%

;,LOAD RO WITH TEST NUMBER
sDEST ADDR = MBUFOQ

JRESULT S 7/ B = 777

;SRC ADDR = DWTB

;R3 GETS DEST_ADDR

;(DEST]) = 177777

;SCOPE SYNC

. TEST THE MOVB

JRESULT 0K?
;BR IF YES

:MOVB DELIVERED WRONG RESULT
:LOCK ON HARD ERROR

;DID DEST™ REG GET INCREMENTED?
;.BR IF YES

¢cMOVB FAILED TO AUTO INCREMENT DEST REG
:LOCK ON 4ARD ERROR

e A0S S SR s R0t ddd2 22 R 2222332223322 8232222223 2233228

BASIC 'MOVB 2(RA),(RB)+'' TEST - SRC ODD / DEST ODD

MRS AR AS Al AR sl d2d 282 2222222222222 R R 2N

TeTEST 111

TST111:
MOV
MOV
MOV
MOV

18: MOV
MOV
cce

#111.R0
MMBUF O, R2
#777 R
#DBTB RS
#MBUF§+1 ,R3
#-7.(R2)

;.LOAD RO WITH TEST NUMBER
;DEST ADDR = MBUFO

JRESULT S /7 B = 777

.SRC ADDR = DBTB

;R3 GETS DEST_ADDR - MBUF(+1
;[DEST] - 177777

. SCOPE SYNC

SEQ 0066




COKDA-C KD'1-k BASIC L
CQKDAC.P11

ALV L LV, LV AV )

3518

010166
010172
010174

010176

010200
010204

010206
010210

010212
010216

010220
010222

010224
010224
010230
010234
010236

010240

010242
010246

010250
010252

010254
010260

07-NOv=7

116523

020412
001402

000000
000765

022703
001402

000000
000760

012700
012705
005003
000257

114503

022703
001402

000600
000766

022705
001402

000000
000761

114503

022703
001402

002000
000766

022705
001402

0OGIC TESTS
8 14:09

000001

63314

000112
063331

177777

063330

000113
063330

177777

063327

C 6
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T BASIC 'MOVB 2(RA),(RB)+'' TEST =~ SRC 0ODD / DEST 0ODD
2%: MOVB 1(RS5),(R3)+ JTEST THE MOVB
() o R4, (R2) JRESULT 0K?
BEQ 43 ;BR IF YES
3%: HALT JMOVB DELIVERED WRONG RESULT
BR 1% ;LOCK ON HARD ERROR
A ¥ (MP MBUF0+2 ,R3 ;DID DEST REG GET INCREMENTED?
BEQ TST112 ;:BR IF YES
5%: HALT ;MOVB FAILED TO AUTO INCREMENT DEST REG
B8R 1% ;LOCK ON HARD ERRCR
.'"l‘ﬁitttﬁﬁii"ﬁﬁ*'ﬁl‘*it*"*i"iﬂt**ﬁ***ttt.ﬁt**.Q*"ﬁ*itﬁ*tﬁ.t'tﬁ*i
,*TEST 112 BASIC "MOVB -(RA),R8'' TEST - SRC EVEN ADDR
".'tQﬁ.ttiittiﬁﬁ*ﬁtﬁ*ttﬁ*tiﬁfﬂtﬁltﬁ'l’ttt*i*ﬁ*it*'*‘t*l’t.*.ﬁi***‘**
TST112:
MOV #112.R0 ;.LOAD RO WITH TEST NUMBER
1%: MOV #DWTA+7 RS ;SRC ADDR = DWTA+7
CLR R3 ;[DEST] = C00000
€CC ;SCOPE SYNC
2%: MOVB -(R5) ,R3 JTEST THE MOVB
(MpP #-1,R3 JRESULT 0K?
BEQ 4% :BR IF YES
3% HALT ;MOVB FAILED - WRONG RESULT
BR 18 ;LOCK ON HARD ERROR
4%: (MP ADWTA+6,RS ;SRC REG GET DECREMENTED?
BEQ TST113 :;BR IF YES
5¢%: HALT ;MOVB FAILED TO UPDATE SRC REG
BR 1% ;LOCK ON HARD ERROR
""tttt*it*ttﬁ*tttttﬁﬁtt"t*tt.tkﬁit.tttititi*i‘ktQI’*******Qttittt
;*TEST 113 BASIC "MOVB -(RA) ,RB'' TEST - SRC ODD ADDR
.'"tl‘tttl’ﬁl’i"t!’*lQttt'ﬂ***t**ttﬁ*ﬁﬁt*tﬁ***ﬁ*tt**ii*tt***ttt*it*t*t
TST113:
MOV #113.R0 ;:LOAD RO WITH TEST NUMBER
1%: MOV #DWTA+6,RS ;SRC ADDR = DWTA+6
(LR R3 ;[DEST] = 000000
CCcC ;SCOPE SYNC
2%: MOVR -(R5),R3 :TEST THE MOVB
C #-7,R3 JRESULT 0OK?
BEQ 4% JBR IF YES
3%: HALT ;MOVB FAILED - WRONG RESULT
BR 1% ;LOCK ON HARD ERROR
4%: CMP #C ITA+5,RS ;SRC REG GET DECREMENTED?

BEQ TST114 ;.BR IF YES

SEQ 0067




COXKDA-C KD11-K BASIC(

CQKDAC.P11

3554
3555
3556
3557
3558
3559
3560
3561
3562
3563
3564
3565
3566
3567
3568
3569
3570
3571
3572
3573
3574
3575
3576
3577
3578
3579
3580
3581
3582
3583
3584
3585
3586
3587
3588
3589
3590
3591
3592
3593
3594
359°
3596
3597
3598

010262
010264

010316
010320

010322
010326

010330
010332

010334
010336

010340
010342

010344
010346

010350
010352

010354

010356
010356

07-NOV-

000000
000763

012700
010605
012704
010506
012703
012746
010602
005726
000257

112346

022703
001402

000000
000762

020412
001402

000600
000756

020206
001402

000000
000752

010506

112346

LOG
78

— Yoty
Hey
O—
om

000114
177400

064630
127777

064631

000115
177400

064035
177777

D 6
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T113 BASIC 'MOVB -(RA) ,RB'' TEST - SRC ODD ADDR

5%: HALT ;MOVB FAILED TO UPDATE SRC REG
BR 1% ;LOCK ON HARD ERROR

P L T L R T T S R R S LR LR taL

J*TEST 114 BASIC 'MOVB (RA)+,-(SP)'' TEST - SRC ADDR EVEN

a AR As 2SRl dRRdRRid sl dlllsld 322222 2R

181114

MOV #114 RO ::LOAD RO WITH TEST NUMBER
MOV sP. RS *SAVE SP
MOV #177400 R4 CRESULT S 7/ B = 177400
1%: MOV RS, SP SRESET SP FOR ERROR LOOP
MOV #DBTA,R3 “SRC ADDR = DBTA
MOV #-1,-(SP) S[DEST] = 177777
MOV SP,R2 *R2 GETS DEST ADDR
ST (SP)+ *RESET SP
e *SCOPE SYNC
2%: MOVB (R3)+,=(SP) ;TEST THE MOVB
CMP #OBTA+1,R3 ;DID MOVB INCREMENT SRC REG?
BEQ 4% ‘BR IF YES
3%: HALT :MOVB FAILED TO UPDATE SRC REG
BR 1% *LOCK ON HARD ERROR
4% (MP R4, (R2) ;RESULT 0K?
BEQ 6% *BR IF YES
HALT ;MOVB FAILED TO DELIVER CORRECT RESULT
BR 1% :LOCK ON HARD ERROR
6% : CMP R2,SP :DID SP GET PUSHED BY 2 ?
BEQ 8$ ‘BR IF YES
HALT :MOVB FAILED TO PUSH SP PROPERLY
BR 1% *LOCK ON HARD ERROR
8% : MOV RS, SP ;RESET SP IN CASE OF ERROR
:;tttt*ttttttitttttttttttttt*tt**tt*tttttttttttttttttttt.ittttitt
S*TEST 115 BASIC 'MOVB (RA)+,-(SP)'' TEST = SRC ADDR ODD
;:tttttttttt*ittttttt*tt*tttttttttt*tittttt*tﬁt*tttttttt!tt*ttttt
T€T115:
MOV #115 ,R0 ::LOAD RO WITH TEST NUMBER
MOV sP,RS *SAVE SP
MOV 2177400 ,R4 *RESULT S / B = 177400
1%: MOV RS.SP *RESET SP FOR ERROR LOOP
MOV #DWTB+3,R3 *SRC ADDR = DWTR+3
MOV #-1,-(5P) “[DEST] = 177777
MOV SP,R2 ‘R2 GETS DEST ADDR
TST (SP) + *RESET SP
cre *SCOPE SYNC
R ¥ MOVR () +,=-(SP) ;TEST THE MOVB

SEQ 0068




COXDA-C KD11-k BASIC LOGIC TESTS
07-NOV-78 14:09

022703 064036

CQKDAC.P11
3610 010412
3611 010416
3612
3613 010420
3614 010422
3615
3616 010424
3617 010426
3618
3619 010430
3620 010432
3621
3622 010434
3623 010436
3624
3625 010440
3626 010442
3627
3628 010444
3629
3630
3631
3632
3633 010446
3634 010446
3635 010452
3636 0104656
3637 010462
3638 010466
3639 010470

001402

000000
000762

020412
001402

000000
000756

020206
001402

000000
000752
010506

012700
012702
012704
012705
005012
000c57

000116
063312
000001
064032

E 6
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T115 BASIC "MOVB (RA)+,-(SP)'' TEST =~ SRC ADDR ODD

M #DWTB+4 R3 :DID MOVB INCREMENT SRC REG?
8EQ 43 :BR IF YES
38: HAL T :MOVB FAILED TO UPDATE SRC REG
BR 18 :LOCK ON HARD ERROR
4$: P R4, (R2) ;RESULT OK?
BEQ 6$ :BRIF YES
HALT ;MOVB FAILED TO DELIVER CORRECT RESULT
BR 18 :LOCK ON HARD ERROR
63: cmp R2,SP :DID SP GET PUSHED BY 2
BEQ 8$ :BR IF YES
HALT ;MOVB FAILED TO PUSH SP
BR 18 :LOCK ON HARD ERROR
8s: MOV RS,SP ;RESET SP IN CASE OF ERROR
""tt*?ttt*tttﬁttitttﬁtt*tiit**tttttitttitti*tit*tl’ttfttﬁtttti‘ttt
TATEST 116 BASIC ‘MOVB X(R),@A"' TEST - SRC EVEN / DEST EVEN
:"tttttti*ittit*tttttttt*tttttit*tttﬁtﬁtititttttl‘ﬂ.‘*i’t"*iﬁtﬁiit
T3r116:
MGV #116,R0 :;LOAD RO WITH TEST NUMBER
MOV AMBUF 0 .R? :DEST ADDR = MBUFQ
MOV #1 R4 :RESULT § / B = 1
MOV #DWIB,RS :BASE SRC ADDR - DWIB
1% CLR (R2) :[DESTT = 000000
(CC :SCOPE ~SYNC

SEQ 0069




CQKDA=-C KD11-k BASIC LOGIC TESTS

CAQKDAC.P11

010472

010500
010502

010504
010506

010510
010510
010514
010520
010524
010530
010532

010534

010542
010544

010546
010550

010552
010552
010556
010562
010566
010572
010574

010576

010604
010606

010610
010612

CO00000 OO
%%8888% g%
rRERS RR

07-NOV-78 14:09

116537

020412
001402

000000
000767

012700
012702
012704
012705
005012
000257

116537

020412
001402

000000
000767

005012
000257

116537

020412
001402

000000
000767

012700

032737
001401

002000
012702
012704
012705
005012

000006 063312

000117
063312
000001
064634

000001

000120
063312
000400
064032

000006

000121
000004
063312

000400
064634

063312

063313

063234

F 6
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116 BASIC "MOVB X(R),@#A'' TEST - SRC EVEN / DEST EVEN

2%: MOVB 6(RS) ,aMMBUF0  ;TEST THE mMOVB
CMP R4, (R2) JRESULT OK?
BEQ TST117 ;:BR IF YES
3% HALT ;MOVB DELIVERED WRONG RESULT
BR 18 :LOCK ON HARD ERRROR
. tttttttttttttttlttttttttt'ttﬁ.ttttﬁtt.ltttttttttﬁ'tti'ttttittt'
LSTEST 117 BASIC 'MOVB X(R),a#A'’ TEST - SRC ODD / DEST EVEN
. ﬁtitttttttttttttttttttttttitttt'ttttttttttt.ttttttt'tttttﬁtQtQQ
151117
MOV #1117 ,R0 :;LOAD RO WITH TEST NUMBER
MOV #MBUFO,R2 :DEST ADDR = MBUFO
MoV #1,R4 JRESULT S /78 = 1
MOV #DBTR, RS ;BASE SRC ADDR = DBTB
1% CLR (R2) :[DEST] = 000000
cCC ;SCOPE SYNC
2%: MOVR 1(RS) ,a#MBUFO0  :TEST THE MOVR
CMpP R4, (R2) ;RESULT 0OK?
BEQ TST120 ::BR IF YES
3%: HALT :MOVB DELIVERED WRONG RESULT
B8R 1% ;LOCK ON HARD ERRROR
: ttttttttt"'t.tttttﬁtnttttttttttttttttﬁttttttttﬁttttttttttﬁtttt
SwTEST 120 BASIC ‘MOVB X(R),a#A'' TEST - SRC EVEN / DEST ODD

e tti*tttttt**tﬁt*ttttﬁt'tttt.itttl**iit*ttiitttﬁtt.ttitﬁﬁltttlt*

15T120:

MOV #120,R0 ;;LOAD RO WITH TEST NUMBER

MOV #MMBUF O ,RZ ;DEST ADDR = MBUF(Q
MOV #6400 ,R4 JRESULT S 7 B = 400
MOV #DWTR,RS ;BASE SRC ADDR = DWTB

1%: (LR (R2} :[DEST] = Q00000
ccc . SCOPt SYNC

2%: MOVB 6(R5) ,a#MBUFO+1 ;TEST THE MOVB
(Mp R4, (R2) JRESULT OK?
BEQ TST121 ;:BR IF YES

3s: HALT sMOVB DELIVERED WRONG RESULT
BR 1% ;LOCK ON HARD ERRROR

AR A AR A R R AR T AR R R RN R AR RN A AR RN AR RN AN RS
*TEST 121 BASIC '™MOVB X(R),a#A'’ TEST - SRC ODD / DEST ODD

. lttttttttﬁttt**ﬁ*ttt**tﬁﬁﬁtﬁtt*tﬂﬁitttt*t*ti*tﬁtttt!tttlt.ttllt

181121:
MOV #121,R0 :LOAD RO WITH TEST NUMBER
.SBTTL USER CONTRO.LED BREAKPOINT -- BIT?
BIT #BIT2,a#BPTIOC BREAKPOINT HALT SET ??
BEQ .t :BR IF NOT

HALT ;BREAK = DEPRESS CONTINUE TO RESTART

MOv #MBUF 0, R2 ;DEST ADDR = MBUFOQ
MOV #400,R4 JRESULT S /7 B = 400
. MOV #c21R,RS .BASE SRC ADDR = DBTR
$: (LR (R2) ;IDEST] = 000000

SEQ 0070




CQKDA-C KD11-k BASIC LOG

CQKDAC.P11

3657

3752

010650
010652

010660
010662

010664
010666

010670
010670
010674

010676
010700
010702
010704
010706

010710
010712

010714
010714
010720
010722

010724
010726

010730

010732
010734

010736

010740
010742

010744
010744

010746
010750

07-NOvV-78
000257
116537

020412
001402

000000
000767

012700
000257

001404
100403
102402
103401
000402

000000
000770

012700
000277

001402

000000
000774

100402

000000
000771

102402
000006
000766
10340°

002000
000763

IC TESTS
14:09

700001

000122

000123

063313

MACY11 30A(1052)

G 6
15-NOV=-78 15:26 PAGE 72

USER CONTROLLED BREAKPOINT -- BIT?

2%:

3% :

ccc
MOVB

CMP
BEQ

HALT
BR

;SCOPE SYNC
1(RS) ,a#MBUFO+1 :TEST THE MOVB
R4, (R2) JRESULT OK?
TST122 ;:BR IF YES
;MOVB DELIVERED WRONG RESULT
1% ;LOCK ON HARD ERRROR

A A A AR 222 22222 YR TR

SeTEST 122

A AR RN AR AR A NN R RN A RN AN SN AN RAANNARAAANRRAARNR A AR Ak

181122:
1%:
°%:

3%:

MOV
ccc

BEQ
= )
8vS
BCS
8R

HALT
BR

BASIC QUICK VERIFY TEST FOR BMI,BEQ,BVS,B(S-FLG=0

#122,R0 ;.LOAD RO WITH TEST NUMBER
;CLEAR ALL FLAGS
3s ;NO BR SHOULD OCCUR-FLAG=0
3% sNO BR SHOULD OCCUR-FLAG-0
3% ;NO BR SHOULD OCCUR-FLAG=0
3% ;NO BR SHOULD OCCUR-FLAG=0
TST123 ;.60 TO NEXT TEST
;ONE OF ABOVE BR'S FAILED
1% ;ERROR LOOP RETURN

AR AR AN AR AR AR A AN NI AR R AN R AR AR AR RN AR RN AR AR AR NY

TATEST 123

LA A RSl Rl el 2222223 2 3 R R YRR RT RS R E ]

TST1123:

MOV
1%: SCC
21s: BEQ
3¢: HALT

BR
22%: BM]
5%: HALT

BR
2%%: BvS
7%: HALT

BR
248 :

BCS
0% : HALT

BR

BASIC QUICK VERIFY TEST FOR BM] ,BEQ,BVS,BCS~-FLAG=1

#123 RO ;.LOAD RO WITH TEST NUMBER
JMAKE N:C = 1111

22% JTEST THE BEQ-IT SHOULD BR
:BEQ FAJLED

1% JERROR LOOP RETURN

23% JTEST THE BMI-]T SHOULD BR
;BMI FAILED

1% ;ERROR LOOP RETURN

24% JTEST THE BVS-IT SHOULD BR
;BVS FAILED

1% ;ERROR LOOP RETURN

TST124 ;. TEST THE BCS=IT SHOULD BR
:BCS FAILED

1% JERROKR LOOP RETURN

PR ARAARAAAANNNAR S AR R R AN AR A A RN AN R AN RN AN RN RN AN RANARN ST AN RN RN

TeTEST 124

BASIC BV TEST Wl H v-1

SEQ 0071




CQKDA~C kD11-k BAS]IC LOGIC TESTS
(QKDAC.P11 07-NOV=~78 14:09

3753

375, 010752 -
355 010752 012700 00124
3767 010756 000262

3758

3759 010760 10200]

3760 010162 000402

3262 010766 000000

3763 010766 006773

3764,

3765

3766

3767

3768 010770

3769 010770 012700 000125
3771 010774 000242

3772

3773 010776

3774 010776 102002

3775

3776 011000 000000

3777 011602 000774

3778

3779

3782 011004
3783 011004 012700 000126
3785 011010 000257

3787 011012
3788 011012 002002

3789

3790 (11014 000000
3791 011016 000774
3792

3793

3794

3795

3796 011020

g;gg 011020 012700 000127
3799 011024 000257
338? 011026 000262
3802 011030 002001
3803 011032 000402
3804

3805 011034 000000
3806 011036 000772
3807

H 6
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1124 BASIC BVC TEST WITH v=1

BEZZITZIIIZIIIEZIREZ2222 2222323022220 0200 R RRRRdRRRRRRRtRll Rl

T§112¢:

MOV 2124 ,R0 ;:LOAD RO WITH TEST NUMBER
1$: SEV sMAKE V=1
2% BVC 38 ;TEST THE BVC-IT SHOULDN'T BR

BR 1$T125 2:GO TO NEXT TEST
3¢ HALT :BVC FAILED

BR 1% *ERROR LOOP RETURN
;;Qtttlttt'ttttttt*tttttt*ttttttﬁﬁtt*ttﬁ*iﬁiﬁttiﬁ*tiitttitttttttt
LaTEST 125 BASIC BVC TEST WITH v=0

::lit*tit*ttﬁltttt*ﬁttﬁttiitttttit‘Qtttt!ﬁ.t'tt'ﬁtttittﬁttt.ttttt
TST125:

MOV 2125,R0 ;sLOAD RO WITH TEST NUMBER

1%: CLV :MAKE v=0
2%:

B8v( TST126 ;s TEST THE Bv(C-=1T SHOULD BR
1% HALT :BYC FAILED

BR 1% JERROR LOOP RETURN
:;.'.‘.".t"..'*."".*‘.'.".ﬁ*ﬁ*ﬁl...."'ﬁ'ttﬁﬁ*ﬁ*ﬁﬁﬁ*ﬁﬁ*ﬁtﬁ*ﬁ
:+TEST 126 BASIC BGE TEST WITH N,V 00
;;.‘.'!t*ﬁ*t*ﬁ"ﬁ"*i*i'"'t'ﬁ*iﬁi*ﬁt'iﬁﬁ*ﬁ*it*i*ﬁﬁit.ﬁﬁtii**it‘t
TST126:

MOV #126,R0O ;:LOAD RO WITH TEST NUMBER
1%: ccc :MAKE N:C = 0000
2%:

8GE TST127 :sTEST THE BGE-IT SHOULD BR
3s: HALT :BGE FAILED

BR 1% ;ERROR LOOP RETURN
;:ﬁ"'*.'ﬁ..‘ﬁﬁ.f*".ﬁ‘.'."*ﬁ‘.’.t.t'.*‘***'l'Q*'t.tt*'tﬁ"ttﬁti
JeTEST 127 BAS]C BGE TEST WITH N,V = 01
::'ttt"'t*..'ﬁ.tﬁﬁfit'ﬂ""*ﬁ*t*itiﬁit*ttitﬁtiﬁtittﬁit*tiﬁtﬁiitt
T<T127:

MOV 2127 R0 ;:LOAD RO WITH TEST NUMBER
1%: - CCC ;CLEAR FLAGS

SEV JMAKE N,V = O
2%: BGE 3% JTEST THE BGE=]T SHOULDN'T BR

BR TST130 ;2G0 TO NEXT TEST
L3 § HALT :BGE FAILED

BR 1% ;ERROR LOOP RETURN

.'.'I."'.t'l..iﬁt.l‘.titttl'Q!'.tl.*-‘l'!"Il’!"ti"".tlt"'!"li't

SEQ 0072

[ Ten]



_

COKDA-C kD11-k BASIC LOGIC TES
COKDAC.P11  G7-NOV-78 14:09

3809

3817

3811 011040

%g}% 011040 012700 000130

3814 011044 000257

3815 011046 000270

3816

3817 011050 002001

3818 011052 000402

3819

3820 011056 000000

3821 011056 000772

3802

3823

3824,

3825

3826 011060

3827 011060 012700 000131

3828

3829 011064 000257

3830 011066 000272

3831

3832 011070

3833 011070 002002

3834

3835 011072 000000

383 011074 000773

3837

3838

3839

3840

3841 011076

%%2% 011076 012700 000132

3844 011102 000257

3845

3846 011104 002401

3847 011106 000402

3848

3849 011110 000000

385C 011112 000773

3851

3852

3853

3854

3855 011114

gggg 011114 012700 000133

3858 011120 000257

3859 011122 000262

3860

3861 011124

3862 011124 002402

3863

3864 011126 000000

T

S
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7130 BASIC BGE TEST WITH N,V = 10

:*TEST 130 BASIC BGE TEST WITH N,V = 10
.'.‘Q"."t*'ﬁ."'..'..ﬁQ'*.ﬁ"'**ﬁﬁ*.'***ﬁﬁﬁ"ﬁ*.'ﬁ**ﬁﬁ*'*ﬁ*tﬁt.*it**
TST130:

MOV #130,R0 ;;LOAD RO WITH TEST NUMBER
1%: (cC ;CLEAR FLAGS

SEN JMAKE N,V = 10
°%: BGE 3s JTEST THE BGE=~IT SHOULDN'T BR

BR 1ST13 ;.60 TO NEXT TEST
3% HALT ;BGE FAILED

BR 1% JERROR LOOP RETURN
:."."...*'..'*...t..*'*.."*ﬁﬁ*'**t*..'l‘.'....*‘t"..**t"‘*.ﬁ.*‘
c«TEST 131 BASIC BGE TEST WITH N,V = 11
":’t...".*"'.‘!"l't't"'*'.Q"*.***‘ﬁﬁ*.ﬁ**‘.ﬁ*ﬁ...‘.“‘.ﬁ**i.ﬁ*ﬂ
TST131:

MOV #131.R0 ;JLOAD RO WITH TEST NUMBER
19%: £CC ;CLEAR FLAGS

272 JMAKE N,V = 1
2%:

BGE TST132 ;o TEST THE BGE-IT SHOULD BR
3%: HALT :BGE FAILED

BR 1% ;FRROR LOOP RETURN
"""ﬁﬁt'ﬁ**.ﬁ"ﬁﬁﬁ*t'ﬁ'.i'f..**ﬁ*.ﬁ..***.**.."l"'*'l.*...*"."'
JxTEST 132 BASIC BLT TEST WITH N,V = 00
"."t‘*'.ﬁ"*ﬁ't“.ﬁ..ﬁt."t"‘I.“ﬁ“t'.‘."t"*'*t.ﬁ.*.ﬁ"""l‘*ﬁ‘.*"
TST132:

MOV #132,R0 ;:LOAD RO WITH TEST NUMBER
1%: CCC :CLEAR FLAGS
2%: BLT 3% JTEST THE BLT=]T SHOULDN'T BR

BR TST133 ;:GO TO NEXT TEST
7%: HALT JBLT FAJILED

BR 1% JERROR LOOFP RETURN

A AR A ARASdRls Rl Rt 2222222222 XSR RS R R R 22

LATEST 133 BASIC BLT TEST WITH N,V = 01

TECRARARA AR RN R AR RN AN RN AR AR AN A AR AR ANNARANRANNANRAR AN R RN AR

1871133:

MOV #1%33,R0 ;;LOAD RO WITH TEST NUMBER
1%: CCC ;CLEAR FLAGS

SFv JMAKE N,V = 01
2%:

BLT 1ST134 JoTEST THE BLT=IT SHOULD BR

3%: HAL T JBLT FAILED

SEQ 0073




6
STS MACY11 30A(1052) 15-NOV-$8 15:26 PAGE 75

COkDA-C kD11-k BASIC LOGIC TE cy
CQkDAC.PIM 07-NOV-78 14:09 7133 BASIC BLT TEST WITH N,V = O1 SEQ 0074
3865 011130 000773 BR 1% sERROR LOOP RETURN
3867 AN A AN A AR AR AN AR R R R AN N AR R R AN AR RN RA AR NN AR RRRR AN AR ®
3868 - ;eTEST 134 BASIC BLT TEST WITH N,v = 10
869 RN AN AN AN R AR R AR R RN RRA R AN NR AN RN AR N AR NN AN AR AR
3870 011132 TST134:
33%;12 011132 012700 000134 MOV #1364 ,R0 ;:LOAD RO WITH TEST NUMBER
3873 011136 000257 1%: CCC sCLEAR FLAGS
%g;g 011140 000270 SEN ;SET N = N,v - 10
3876 011142 ’$:
%g;g 011142 002402 BLT TST135 ;oTEST THE BLT-IT SHOULD BR
3879 011144 000000 3s: HALT ;BLT FAILED
%gg? 011146 000773 ° BR 1% ;sERROR LOOP RETURN
3882 IR R A AR AR AN R AR R AR AT AR AR R AR RN R R AN AR A AR AN R RN RN RN R RR AR
3883 s*TEST 135 BASIC BLT TEST WITH N,V = 11
3884 N A P AR R R AR R R R AR PR NN AR AR AR AN AR AR AR R RN NN AN R R AR AR IR
3885 011150 TST135:
%gg? 011150 012700 000135 MOV #135,R0 ;2LOAD RO WITH TEST NUMBER
3888 011154 000257 18: CCC ;CLEAR FLAGS
%ggg 011156 000272 27e JMAKE N,V = 1
3891 011160 0026401 ’°%: BLT 3% JTEST THE BLT-IT SHOULDN'T BR
%gg% 011162 000402 BR TST136 ;:GO TO NEXT TEST
3894 011164 000G00 3%: HALT ;BLT FAILED
%ggg 011166 000772 BR 1% JERROR LOOP RETURN
2897 N R R AR R A AR R AR R AR A F AR AR AR AR AR RN R AR R RN R R AR AR AR NN
3898 s«TEST 136 BASIC BGT TEST WITH Z = 1 AND N,V - O1
3399 R A AN AR A R A AR R AR TN PR RN R R AR AR R AR RN AR AR S AR AR AR RN AN
3900 01170 1ST136:
%gg} 011170 012700 000136 MOV #136,R0 ;sLOAD RO WITH TEST NUMBER
3903 011174 000257 1%: CCC ;CLEAR FLAGS
2382 011176 000266 266 JSET Z AND V
390¢ 011200 003001 2%: BGT 3% ;TEST THE BGT-]T SHOULDN'T BR
%ggg 011202 000407 BR TST137 ;260 TO NEXT TEST
3909 011204 000000 3s: HAL T ;BGT FAILED
gg}? 011206 000772 BR 1% SERROR LOOP RETURN
3912 A A AR A AN AR AR R R AN A R AR AR AN R AR AR R R AR RN AR AR RN R AN AR RN NN
3913 J*TEST 137 BASIC BGT TEST WITH Z = 0 AND N,V = 01
2914 A N A AN A AN A AR NN RN NN R R R AR AR AR C RN AR R AN AR AR AR AR AR T rrn
3915 011210 TST137:
%3}9 011210 012700 000137 MOV #137 ,R0 ;;LOAD RO WITH TEST NUMBER
3918 011214 000257 - 1$: CCcC ;CLEAR FLAGS
3919 011216 000262 SEV JSET v

Y




(QKDA-C KD11=-k BASIC LOGIC TESTS
CQKDAC.P11 07-NOV-78 14:09
3921 011220 003001
3622 011222 000402
3923
3924 011224 000000
3925 011226 000772
3926
3927
3928
3929
3930 011230
3931 011230 012700 00040
3932
3933 011234 000257
3934 011236 000264
3935
3936 011240 003001
3937 011242 000402
3938
3939 011244 000000
3940 011246 000772
3941
3942
3943
3944 Ce .,
3945 071250
3946 011250 012700 000141
3947
39648 011254 000257
3949
3950 011256
3951 011256 003002
3952
3953 011260 000000
3954 011262 000774
3955
3956
3957
3958
3959 011264
%gg? 011264 012700 000142
3962 011270 000257
3963 011272 000266
3964
3965 011274 003001
3966 011276 000402
3967
3968 011300 000000
3969 011302 000772
3970
3971
3972
3973
3974 011304
3975 011304 012700 000143

K 6
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1137 BASIC BGT TEST WITH Z = 0 AND N,V = 01

2%: BGT 33 sTEST THE BGT-IT SHOULD NOT BR
BR TST140 2:G0 TO SCOPE LOOP EXIT
3%: HALT ;BGT FAILED
B8R 1% JERROR LOOP RETURN
P L e L L L L L LR R LRIt
J*TEST 140 BASIC BGT TEST WITH Z = 1 AND N,v = 00

S A KA AN A AR A A AN AR NN AN RANRNA RN ANANARNRNNAANN AR R AN R AR AR AR AR AW

187140

MOV #140,R0 ::LOAD RO WITH TEST NUMBER
1%: cce :CLEAR FLAGS
¥4 JSET 2
2%: BGT 3% :TEST THE BGT-IT SHOULD NOT BR
B8R TST141 ;:GD TO SCOPE LCOP EXIT
3%: HALT :BGT FAILED
BR 1% ;ERROR LOOP RETURN

MR ARRRASS AR AdS 2Rl R 2222222203232 32223222 R

SRTEST 141 BASIC BGT TEST WITH Z = 0 AND N,V = 00

';*ttttt.tttttttttttttt***ttittt*it*t‘tittt*‘iﬁ**‘tt**l**ttttit**

TST141: -

MOV #141,R0 ;;LOAD RO WITH TEST NUMBER
1%: CCC ;CLEAR FLAGS
2%:

BGT TSTi42 ;s TEST THE BGT = IT SHOULD BR
3%: HALT :BGT FAILED

BR 1% JERROR LOOP RETURN
::t**'ﬁ*********ﬁ.*t*‘**.'*tﬁiﬁ*it*ﬁﬁ***ii**ﬁﬁﬁt*ﬁ*t*****‘ﬁ*t*ﬁtt
J*TEST 142 BASIC BGT TEST WITH Z = 1 AND N,V = 01

a2 eSSl Rl Rt 2233032 3822223222 220 2 2]

1$T142:

MOV #142,R0 ::LOAD RO WITH TEST NUMBER
1$: cCC ;CLEAR FLAGS
266 :MAKE N,V = 01 AND Z = 1
2%: BGT 3% ;TEST THE BGT-IT SHOULDN'T BR
ER TST143 ;GO TO NEXT TEST
3%: HALT :BGT FAILED
BR 1% :ERROR LOOP RETURN

MR R RS A EdSdSRRRRR ARt s 0022232222 YL LT

SETEST 143 BASIC BGT TEST WITH Z = 1 AND N,V = 10

::ittf.t*t*.t*'**ﬁ*‘***ﬁt**iﬁt!iﬁtﬁ"tﬁ't***ﬁ*tﬁi*ﬁiﬁ*tﬁ'*'ﬁﬁ*'tﬁ
TST143:
MOV #''3,R0 ;:L0AD RO WITH TEST NUMBER

SEQ 0075




CQKDA-C kD11-k BASIC LOG
CQKDAC.P11 07-NOvV-78
3977 011310 000257
3978 011312 000274

3979

3980 011314 003001
3981 011316 000402
3982

3983 011320 000000
3984 011322 000772
3985

3986

3987

3988

3989 011324

3990 011324 012700
3N

3992 011330 000257
3993 011332 000276
3994

3995 011334 003001
3996 011336 000402
3997

3998 011340 000000
3999 011342 000772
4000

4001

4002

4003

4004 011344

4005 011344 012700
4006

4007 011350 000257
4008 011352 000272
4009

4010 011354

4011 011354 003002
4012

4013 011356 000000
4014 C11360 000773
4015

4016

4017

4018

4019 011362

4020 011362 012700
4021

4022 011366 000257
4023

4024 011370

4025 011370 101002
4026

4027 011372 000000
4028 011374 000774
4029

4030

4031

4032

I
1

C TE
4:09

000144

000145

000146

STS
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T143 BASIC BGT TEST WITH Z = 1 AND N,v = 10

1%: ccc :CLEAR FLAGS
274 JMAKE Z = 1 AND N,V = 10
2%: BGT 3$ sTEST THE BLT=IT SHOULDN'T BR
B8R TST144 2;G0 TO NEXT TEST
3s: HALT JBLT FAILED
BR 1% ;ERROR LOOP RETURN
R e T I L
*TEST 144 BASIC BGT TEST WITH Z = 1 AND N,V = 11
R I T T I T T I
TST144
MoV #1144 RO 2;LOAD RO WITH TEST NUMBER
1%: ccC ;CLEAR FLAGS
276 JMAKE 2 = 1 AND N,V = 11
2%: BGT 3$ sTEST THE BGT-=IT SHOULD NOT BR
BR TST145 ;G0 TO NEXT TEST
3%: HALT ;BLT FAILED
AR 1% -ERROR LOOP RETURN
R Y L R I I T T,
S*TEST 145 BASIC BGT TEST WITH 2=0 AND N,v=11

: ittttttttﬁttttttt*tttiittt*tttt*ttﬁ'tttttt*tﬁﬁ*t'ﬁ***ttttt***tt

T8T145:

MOV #145,R0 ;:LOAD RO WITH TEST NUMBER
1%: CCC ;CLEAR FLAGS
272 JMAKE N:C=1010
2%:
B8GT TST146 JJTEST THE BGT = IT SHOULD BR
7%: HALT ;BGT FAILED
BR 1% <ERROR LOOP RETURN
. ‘*t'tﬁﬁ.‘.**..**‘.Q"".'fi’.*"""*'**'*‘*'.'Q*t.“"****"**
*TEST 146 BASIC BHI TEST W!TH Z2.C = 00
. '..'*.tﬁt.""t'.'.'.."*'.'**.*“*.“*.'ﬁ***ﬁﬁ***ﬁ‘****‘**"ﬁ*
TST146
MOV #146,R0 ;:L0AD RO WITH TEST NUMBER
1%: CcC JMAKE 2,0 = 00
2%:
BH] 1ST147 ;oTEST THE BHI=-IT SHOULD BR
3%: HALT :BH] FAILED
BR 1% JERROR LOOP RETURN
: ilI'*'.ﬁt."'t...t*.*"*'.*t'..‘....ﬁﬁ..""ﬁﬁ!'t‘*‘t.‘**ﬁﬁﬁ'iﬁ
*TEST 147 BASIC BH] TEST WITH Z2.C = 01

t'ttttﬁ'tt'ttttlt'ttﬁ'i.."tll.*ttitﬁl.tt’tttitit'tttittttttttt

SEQ 0076




COKDA-C KD11-k BASIC LOGIC TESTS
CQKDAC.PI 07-NOV~78 14:09
<033 011376
28%% 011376 012700 000147
4036 011402 000257
4037 011404 000261
4038
4039 011406 101001
4040 011410 000402
4041
4042 011412 000000
4043 011414 000772
L04/
4045
L0406
L047
G048 011416
4049 011416 012700 000150
4050
4051 011 .. 000257
4052 011424 000264
4053
4054 011426 101001
4055 011430 000402
4056
4057 011432 000000
4058 011434 000772
4059
4060
4061
4062
4063 011436
282% 011436 012700 000151
4066 011442 000257
4067 011444 000265
4068
4069 011446 101001
28;? C11450 000402
4072 011452 000000
4073 011454 000772
4074
4075
4076
4077
4078 011456
4079 011456 012700 000152
4080 011462 012704 177776
4081 011466 012703 000002
4082 011472 000257
4083 011474 000266
4084
L4085 011476 005403

1
4087 011500 100003
011502 001402
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T147 BASIC BHI TEST WITH 2,C = O1

TST147:
MOV #147 ,R0 ;:LOAD RO WITH TEST NUMBER
1%: CCC :CLEAR FLAGS
SEC JMAKE Z2,C = 01
2%: BHI 3 3 ;TEST THE BHI-IT SHOULD NOT BR
BR TST150 ;.60 TO NEXT TEST
3%: HALT ;BHI FAILED
BR 1% JERROR LOOP RETURN

A A ALAR SRRl dsdRddd iRt 2222223222222 22

S«TEST 150 BASIC BHI TEST WITH Z,C = 10

R AR AR AR AR AN A AR AN AR AT AN AR AR AN RN AN RN NNNANNRRAA RN RN A AN R AR

T§1150:
MOV #150,R0 ;:LOAD RO WITH TEST NUMBER
1%: cce :CLEAR FLAGS
SEZ ‘MAKE 2.C = 10
2% : BHI 3s ;TEST THE BHI~IT SHOULD NOT BR
8R 1ST151 $:GO TO NEXT TEST
3s: HALT :BHI FAILED
BR 1% *ERROR LOOP RETURN

':t*ﬁttittti**ttt*tt*t*ttittitttttttt*it**"tt******tttt**tﬁtt*tt

S*TEST 151 BASIC BHI TEST WITH Z.C = 11
::*!tttt**tttttttttttktttttttttt*ittttttttttttttttt**ttttﬁttttttt
TST151:

MOV #151,R0 ;:LOAD RO WITH TEST NUMBER
1%: cce ;CLEAR FLAGS

265 IMAKE 2,C = 11
2s: BHI 3 ;TEST THE BHI=IT SHOULDN'T BR

B8R 1ST152 ::GO TO NEXT TEST
3%: HALT :BH] FAJILED

BR 1$ :ERROR LOOP RETURN

s AR AR A AR AR AN AN AN RN AN N RN RRARRANNRANRARAN NN NAAAANR RN AR R RN ARk

S*TEST 152 BASIC NEG MODE O TEST : [DEST] GT 0
::ttttt*t**titttti***iitt*iiittitt*tit*tﬁiii*'ﬁttiittttttttti!tt'
TST152:
MOV #152,R0 ::LOAD RO WITH TEST NUMBER
MOV #-2.R4 CRESULT S / B = 177776
1%: MOV #2.R3 CINITIAL [DEST] = 2
ccC “CLEAR FLAGS
266 ‘MAKE N:C = 0110
2% : NEG R3 STEST THE NEG
8PL 3
BEO 3% :DID N:C = 10012

SEQ 0077




CQKDA-C KD11-k BASIC LOGIC TESTS Y
CQKDAC.P11 07-NOvV-~-78 14:09 7152 BASIC NEG MODE O TEST : [DEST] GT O SEQ 0078
<089 011504 102401 BVS 3%
283? 011506 103402 BCS 6%
4092 011510 000000 3%: HALT JNEGATE FAILED TO ALTER CODES PROPERLY
2832 011512 000765 BR 1% ;ERROR LOOP RETURN
4095 011514 020304 6% CMP R3,R4 JCORRECT RESULT?
283? 071516 001402 BEQ TST153 ;;BR [F YES
4098 011520 000000 5%: HALT JNEG DELIVERED WRONG RESULT
2?88 011522 000761 . b BR 1% sERROR LOOP RETURN
L4101 j SRR AN A A A AN A AN AR AN AR A AR NN N AR AR A AR AR AR RN A AR AR AR AT RNNR AR
6102 © ot ;*TEST 153 BASIC ''SuB #,a4"' TEST
4103 ! IR RN AR R AR R AR R R AR AN AR AR AR N AN NAARNRARR AR AR AR R AR AN h
4104 011524 TST153:
4105 011526 012700 000153 MOV #153 R0 ;:LO0AD RO WITH TEST NUMBER
4106 011530 012704 000002 MOV #2 ,Ré4 JRESULT S /7 B =2
4107 011534 012702 063312 MOV #MBUFQ ,R?2 ;JR2 POINTS TO DEST
4108 011540 012712 000004 1%: MOV #4,(R2) JINITIAL [DEST] = 4
2}?8 011544 000257 ccC ;CLEAR FLAGS
2}}} 011546 162737 000002 063312 2%: SuB 42, a4MBUFO ;TEST THE SuB
4113 011554 020412 g CMP R4, (R2) RESULT=2?
6114 011556 001403 BEG TST154 ..BR IF YES
4115 011560 011203 L+ . MOV (R2) ,R3 ;GET WAS DATA
4116 011562 000000 - 3%: HALT 2SUB DELIVERED WRONG RESULT
2};; 011564 000765 BR 1% JERROR LOOP RETURN
4119 D RN AR AR AR R AR AN AR AR AR AR AR AR AR KRR AR AR A AR RN AR R AN NN AR RN AR AR
6120 J*TEST 154 BASIC "'SUB a#,RN'’ TEST
4121 IR AR AR A AR AR R A AR AR A A A AR AR R R A AR R R AR R AR R AR R A A A kAR A Nk
4122 011566 TST154:
4123 011566 012700 *000154 MOV #154 RO ;:LOAD RO WITH TEST NUMBER
41264 011572 012737 000002 063312 MOV #2,a#MBUFO JSRC = 2
4125 011600 (12703 000004 1%: MOV #4,R3 JINITIAL [DEST] = 4
2}59 C11604 000257 CCC s SCOPE SYNC
z}gg 011606 163703 063312 2%: SUB a#MBUFO,R3 sTEST THE SWLBR
413C 011612 020403 CMP R4 ,R3 JRESULT=2?
2}%; 011614 001402 BEQ TST155 ;:BR IF YES
64133 011616 000000 3%: HALT :SUB DEL]VERED WRONG RESULT
2}%2 011620 000767 ER 1% sERROR LOOP RETURN
4136 SRR R R AR R AR R AR A A AR R A AR R A AR AR AR A AR R A AR AR A AR AN AR R %
4137 S*TEST 155 BASIC 'RTS RN'' TEST = <N:(> = 1111
4138 AR AR AR AR A AR A R AR A A R AN AR R A AR R A AR R A AR A AR A A AR R R A AR AN R RRAN
4139 011622 TST155:
4140 011622 012700 000155 MOV #155,R0 ;.LOAD RO WITH TEST NUMBER
4141 011626 (10605 MOV SP,RS :SAVE SP
6142 011630 010506 1%: MOV RS, SP JRESET SP FOR ERROR LOOP
4143 011632 012703 011652 MOV #4§,R3 JRTS SHOULD LOAD PC FROM (R3)
4144 01163% 012746 177777 MOV #-1,-(SP) JRTS SHOULD LOAD R3 FROM STA(K
£
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CQKDA-C KD11-K BASIC LOGIC TESTS
COKDAC.P11 07-NOV-78 14:09

2}22 011642 000277
6147 011644 000203
6148

6149 011646 000000
4150 011650 000767

4151
4152 011652 100003

4153 01165 001002

6156 011656 102001

6155 011660 103402

4156

4157 011662 000000

4198 011664 000761

4160 011666 020327 177777
4161 011672 001402

4162

4163 011674 000000

4164 011676 00075

4166 011700 020506

4167 011702 001402

4168

4169 011704 000000

4170 011706 000750

4171

4172

4173

6174

4175 011710

4176 011710 012700 000156
4177 011714 010605

4178 011716 010506

4179 011720 012746 011734
4180 011724 000257

4182 011726 000207

4183

4184 011730 000000

4185 011732 000771

4186

4187 011734 020605

4188 011736 001402

4189

4190 011740 000000

4191 011742 000765

4192

4193

4194

4195

4196 011744

4197 011744 012700 000157
4195 011750 032737 000010 063234
4200 011756 001401

7
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T155 BASIC “RTS RN'' TEST = <N:(> = 1111

ScC SN:C = 1IN

2%: RTS R3 ;TEST THE RTS - GO TO 4%
3s: HALT JRTS FAILED TO LOAD THE PC
BR 1% sLOCK ON ERROR
6%: BPL 5% N:C = 1111 2
BNE 5%
Bv( 5%
BCS 6%
5%: HALT JRTS ALTERED CODES - CLEARED ONE
BR 1% ;LOCK ON ERROR
6$: (MP R3,4-1 ;DID R3 GET LOADED FROM STA(K ?
BEQ 8% :BR IF YES
7%: HALT ;RTS FAILED TO LOAD REG
BR 1% ;LOCK ON ERROR
8%: (MP RS,SP .DID RTS PCP THE STACK POINTER ?
BEQ TST156 .:BR IF YES
9%: HALT sRTS FAILED TO POP SP
BR 1% ;LOCK ON ERROR
L R R R L LI
;*TEST 156 BASIC 'RTS PC'' TEST

;:.lt**t**tﬁ'**.**'ﬁﬁ*t"*"**.ﬁﬁ*ﬁ.*t"**‘.ﬁ.*t******'t.*ﬁﬁ**ﬁﬁ*
TST156:

MOV #156 ,RO ;:LOAD RO WITH TEST NUMBER

MOV SP.RS *SAVE THE ORIGINAL SP
1%: MOV RS SP *RESET SP FOR ERROR ! OOP
MOV #i$ - (sp *PUSH NEW PC ON STACK
cce *SCOPE SYNC
28%: RTS PC ;TEST THE RTS - GO TO 4%
3¢ HALT :RTS FAILED T9 LOAD PC
BR 1% *LOCK ON HARD FRROR
4$: c™P SP.RS :DID SP GET POPPED 2
BEQ 1s7157 *:BR IF YES
5% HALT :RTS FAILED TO UPDATE SP
BR 1% *LOCK ON HARD ERROR

A ARt RNl a2 R 2222222222233 SWERT N EY XY

“wTEST 157 BASIC ‘JSR PC.@WA'‘ TEST

AR AR A A A AR AN A AR R TR RN R AR RN AR R R AN RN ANNANR AN ARNARRNA RN AR

181157:
MOV #157.R0 ::LOAD RO WITH TEST NUMBER
.SBTTL USER CONTROLLED BREAKPOINT -- B]T3
BIT #27T3,34BPTLOC  ;BREAKPOINT HALT SET 27
BEQ .+ ‘BR [f NOT

SEQ 0079




COKDA=-C KD11-k BASIC L

CQxDAC
4201

4256

P11

011760
011762
011764
011766

011770

011774
011776

012000
012004

012006
012010

012012
012012
012016
012020
012022
012026
012032
012036

012040

012042
012044

012046
012052
012056

012060
012064
012066

012070
012072

012074
012076

CONOOO
e el ) e )
PONLNLPLNDRY
P R R Lo Y
=200

ROR RIS

07-NOV=-7

000000
010605
010506
000257

004737

000000
000772

022726
001402

000000
000765

000002

000000
000765

013702
022702
001404

010237
000000
000754

020605
001402

000000
000750

012700
010605
010506
005046
012746

012000

011774

000160

000357
012046
177776

177776
000357

177776

000161

012130

c 7
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USER CONTROLLED BREAKPOINT -~ BIT3

HALT :BREAK - DEPRESS CONTINUE TO RESTART
MOV SP.RS :SAVE ORIGINAL SP
18: MOV RS,SP :RESET SP FOR ERROR LOOP
cce :SCOPE SYNC
2% JSR PC,a#4$ ;TEST THE JSR - GO TO 4$
38: HAL T :JSR FAILED TO LOAD PC
BR 13 :LOCK ON HARD ERROR
4%: (MP #38, (SP)+ :DID JSR SAVE OLD PC ON STACK ?
BEQ 157160 ::BR IF YES
5% HAL T :JSR FAILED TO SAVE OLD P(
BR 1 :LOCK ON HARD ERROR
t'ﬁtt!t.tt*ttQttﬁttttﬁ'ttttii*tt.'*ttttt't**i!**tti*t**ﬁtt**tt*
STEST 160 BASIC ‘RTI'* TEST - N:(=0000
P AR RN AN A AN A AR AT AR AR AR AR A ARA AN AN AANAAR AN AN TN AR
T157160:
MOV #160,R0 ;;LOAD RO WITH TEST NUMBER
MOV SP.R5 :SAVE THE SP
18: MOV RS, SP :RESET THE SP_FOR ERROR LOOP
MOV #357,-(5P) :NEW PSW = 357
MOV #4$,=(SP) INEW PC = 48
CLR P JMAKE (PSW] = 000
ccC :MAKE N:C=0000
2%: RT] :TEST THE RTI - GO TO 4$
3%: HALT :RTI FAILED TO LOAD PC
BR 18 :LOOP ON HARD ERROR
4$: MOV MPSW,R2 ;SAVE THE [PSW]_IN R2
P #357,R2 WAS [PSW] = 357 7
BEQ 6% :BRIF YES
MOV R2, MPSW ;RESTORE THE ERROR PSW
1% HAL T :RTI FAILED TO LOAD *SW
BR 18 :LOCK ON HARD ERROR
6$: P SP,RS :DID SP GET UPDATED OK ?
BEQ 157161 ;:BR IF YES
78: HAL T :RTI FAILED TO UPDATF THE SP
BR 18 :LGCK ON HARD ERROR
;;*ttittttttt'ittttttttttttttﬁ*lt**ﬁttt*t*ttt**tt***tt*tttttﬁt*tt
;*TEST 161 BASIC "RTI'* TEST WITH N:C=1111
t'ttittQt*tt*ttttt*ﬁtttttttt*ttﬁ*ﬁﬁi*ttt*tt**itttﬁttttttttttttt
TST|61
MOV #161,R0 ;;LOAD RO WITH TEST NLMRFR
MOV sP,RS :SAVE THE SP_IN RS
18: MOV RS, SP :RESET SP FOR ERROR LOOP
CLR -:¢P) NEW PSW = 000000

MOv N4S$,-(SP) JNEW PC =

SEQ 0080

™~



COKDA=-C KD11=k BASIC LOGIC TESTS
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257
4258
4259
4260
4261
4262
4263
4264
4265
4266
4267
4268
4269
4270
427"
4272
4273
£274
4275
4276
6277
4278
4279
4280
4281
4282
4283
4284
4285
4286
4287
4288
4237
4290
4291
4292
4293

P11

— nd il e sd

012212

012214
012216

012220
012224
012230

012232
012236
C12240

012242
012246

012250
012254
012256

012260
012262

012264
012270
012272

07-NOV-78 14:09

012737
000240

000002

013702
022702
001404

010237
000000
000756

013702
022702
001404

010237
000000
000747

022726
001404

010237
000000
000740

005726
001404

010237
000000
009732

000357

177776

000000

177776

000162

012220
000357
1727777
177776

177776
600357

177776

012214

177776

177776

177776

000020
000022
177776

D
MACY11 30A(1052) 15-NOV-78
T161 BASIC 'RTI'' TEST WITH N:
MOV #357,a0PSW
NOP
2%: RTI
4%: MOV a#PSW, R2
CMP #0 R2
BEQ TST162
MOV R2.#PSW
3%: HALT
B8R 1%

7
15:26 PAGE 82

c=1111

;MAKE OLD PSW = 357
;SCOPE SYNC

;TEST THE RTI - GO 70O 4%

;GET THE PSW
;WAS [PSW]=000
..BR IF YES

;RESTORE ERROR PSW
sRTI FAILED TO CLEAR PSW
;LOCK ON HARD ERROR

MR AN AR A AR AR AN AR A RN NI ATTRS AR ARRANNANRNARNRARNNAC AN AR h

BASIC ''IOT'" TEST =-VERIFY LOADING PSW WITH 357

A LAS SRS eRsldsRlis sttt 32 2223223 22 22 X2 R 2 022

LTEST 162

ST162:
MOV
MOV

1%: MOV
MOV
MOV
MOV
CLR
Ccc

2%: 107

3% HALT
B8R

4% MOV
(MP
BEQ

MOV
b ¥ HALT
BR

6%: CMP
BEQ

MOV
’%: HALT
BR

8%: TST
BEQ

MOV
9% : HALT
BR

#162 R0
SP,R5
RS.SP
8% 3420

2357, 3422
#-1,-2(SP)

a#PSW

1%
Q¥PSW,R?
#357,R2
6%
R2,a#PSW
1%
#38,(SP)+
8%

RZ,d4PSW
1%

(SP)+
TST163

RZ.,a4PSW
33

2.LOAD RO WITH TEST NUMBER
;SAVE THE SP

JRESET SP FOR ERROR LOGP
;SET UP IOT VECTOR

. 10T SHOULD CHANGE -1 TO 0
sMAKE [PSW] = 000
:SCOPE SYNC

TEST THE ]OT

;10T FAILED TO LOAD PC
;LOCK ON HARD ERROR

JGET THE PSW
.DID IOT LOAD A 357 ?
;BR IF YES

;RESTORE ERROR PSW
.10T FAILED TO LOAD PSW
;LOCK ON HARD ERROR

;DID 10T SAVE OLD PC ?
;BR IF YES

RESTORE ERROR PSW
;10T FAILED TO SAVE OLD PC
;LOCK ON HARD ERROR

;DID 10T SAVE OLD PSW ?
;<BR IF YES

sRESTORE ERROR PSW
;10T FAILED TO SAVE OLD PSW
.LOCK ON HARD ERROR

AR AR AR A A AR AR AN AR T AN R A AR R A AR RN R R A A AR NN NN TN AR RNRNN R A NS

BASIC "'IOT"" TEST ~ VERIFY LINKAGE TO SCOPE SERVICE

:;ttittt*ttttittttttit!ti't'*tt‘*ltt*i*tt***tQttﬁti*ttttttttttttt

SATEST 163

SEQ 0081
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CAKDAC.P 07-NOV-78 14:09 BASIC "'I0OT"' TEST - VERIFY LINKAGE TO SCOPE SERVICE SEQ 0082
4313 012274 TST163:
6314 012274 012700 000163 MOV #163 RO ;.LOAD RO WITH TEST NUMBER
4315 012300 010605 Mov  SP,RS :SAVE SP
4316 012302 010506 1%: MOV RS,SP ¢RESET SP FOR ERROR LOOP
4317 012304 005037 063244 CLR SCOFLG ;TRAP SERVICE WILL COM "'SCOFLG"'
4318 012310 012737 061612 MOV #SCOPEA ,a#20 ;SET UP JOT VECTOR
4319 012316 005037 000022 CLR w2l
2%%? 012322 000257 ccC 2SCOPE SYNC
2%%% 012324 000004 2$: SCOPE ;TEST THE IOT
63264 012326 005137 063244 oM a#SCOFLG 2 SCOFLG SHOULD BECOME 00000G
2%%2 012332 001402 BEQ 43 ;BR IF IT DID
64327 012334 000000 3%: HALT 10T FAILED TO LINK TO SCOPE SERVICE
2%58 012336 000761 BR 1% ;LOCK ON HARD ERROR
4330 012340 010506 6% MOV RS,SP JRESET SP IN CASE OF ERROR
4331 . ttﬁttttttttttttittttttttt*tttttttttttﬁttttﬁtttttttttttttttttttt
4332 SXTEST 164 BASIC "'IOT'' TEST -VERIFY LOADING PSW WITH 357
4333 SR A A AR R AR R R Rt R AR A R A A A AR R AR AR AR R R AR R AR R A AR AR R
4336 012342 TST164
6335 012342 012700 000164 MOV #164 ,R0 ;.LOAD RO WITH TEST NUMBER
4336 012346 010605 MOV SP.RS :SAVE THE SP
4337 012350 010506 1%: MOV R5,5P JRESET SP FOR ERROR LOOP
6338 012352 012737 012410 MOV #e$ an20 ;SET UP IOT VECTOR
4339 012360 012737 000357 MOV #357,3422
64360 012366 012766 177777 MOV #=1,-2(SP) 2 JOT SHOULD CHANGE -1 TO O
4341 012374 005037 177776 CLR MPSW ;MAKE [PSW] = 000
2%2% 012400 000257 €cc :SCOPE SYNC
2%2? 012402 000004 2%: 107 sTEST THE 10T
4346 012404 000000 3%: HALT ;10T FAILED TO LOAD PC
2%2; 012406 000760 BR 1% ;LOCK ON HARD ERROR
4349 012410 013702 177776 (%: MoV a¥PSW,R2 ;GET THE PSW
4350 (12614 022702 000357 CMP #357 ,R2 ;DID IOT LOAD A 357 ?
2%2; 012420 001404 BEQ 6% ;BR IF YES
4353 (12622 010237 77776 MOV R, PSW ;RESTORE ERROR PSW
4354 (012426 000000 5%: HALT ;10T FAILED TO LOAD PSw
2%22 012430 000747 B8R 1% ;LOCK ON HARD ERROR
4357 012432 022726 012404 6%: (MP #3%,(SP)+ .DID IOT SAVE OLD PC ?
2%23 012436 001404 130 8$ JBR IF YES
4360 012440 010237 177776 MOV R, 4PSW ¢RESTORE ERROR PSW
4361 012444 000000 r$: HALT ;10T FAILED TO SAVE OLD PC
2%2% 012446 000740 BR 1% ;LOCK ON HARD ERROR
4364 012450 005726 8%: TST (SP) + ;DID IOT SAVE 